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ABSTRACT

THIS IS THE FIRST 5 0OF 1% TESTS THAT INCREMENTALLY TEST AND
ISOLATE SIMPLE MALFUNCTIONS IN THE PDP 11/45,11/40, THE
TESTS SHAULD BE RUN IN THE INPICATED ALPHABETIC SEQUENCE,
THERE ARE ADNITIONAL TESTS FOR MORE COMPLEX MALFUNCTIONS,
ALL TESTS ARE EXECUTED [N KERNEL MODE ONLY EXCEPT FOR TEST
CCKBE (11745 QONLY),

REQUIREMENTS

EQUIPMENT

FOP11/45 QR POP 11/47

STORAGE

PROGRAM STORAGE = THE PRNOGRAMS USE ALL OF A 4KW MEMORY WITH
THE EXCEPTION OF 17570 TO 17776 (WHICH 1S RESERVED FOR THE
RONT AND ARSOLUTE LOADER),

PRELIMINARY PROGRAMS

TESTS TY=-T13(DAAA=DPMA)

LOADING PROCEQURE
LOAD PROGRAM INTO MEMORY USING ABS LODADER,

STARTING PROCEDURE
LOAD ADDRESS 2238, PRESS START, THE PROGRAM WILL LOOP, AND
RING BELL ON COMPLETION, PASS COUNT MAY BE MONITORED IN THE

CISPLAY REGISTER (11/45 ONLY), AND IS STOREN [N ADDRESS
1029,

CPERATING PROCEDURE
CPERATIOMA| SWITCH SETTINGS

SW<@8>=1 LOAD pPDP11/45 MICRQ BREAK REGISTER WITH VALUE
IN SW<BB»07>, (AT SYART OF TEST OMLY),
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SUBROUTINE ABSTRACTS

SCOPE

SCOPE 1S A MOVE PC, R1(@14781) AND STORES THE PCe2 IN R1 (OR
R11 IF THE REGISTER SET RIT 1S SET IN THE PDP11/45 PROCESSOR
STATUS WNRD,) THUS, R1 (R11) MaY BE USED AS A TAG TO
CETERMINE THE (AST TEST SUCESSFULLY COMPLETED,

HLT

WLT IS A HALT INSTRUCTION AND IS EXECUTED WHENEVER A
HARDWARE MALFUNCTION IS DETECTED BY THE DIAGNQOSTIC, THE

ADDRESS LIGHTS DISPLAY THE PC~PC+2 OF THE HALT INSTRUCTION
IF AN 11/47%w11/43,

FROGRAM AND/OR OPERATOR ACTION

PASS COUNT (ICNT)
THE NUMBER OF PROGRAM PASSES COMPLETED IS CONTAINED IN
ADDRESS ICNT (1200), THIS ADDRESS MAY BE EXAMINED TO

CETERMINE IN WHICH PASS THE ERROR OCCURED, NOTE, THE PASS
COUNT 1S DISPLAYED IN THE DISPLAY REGISTER IN THE PDP11/45,

ERRORS

TEST ERRNRS Wy CAUSE A MWALY

FALSE TRAP/INTERRUPT ERRORS = THE PROGRAM WILL HALT AT THE
TRAP VECTOR ADDRESS ¢2,

ERRQR RECOVERY

TEST ERRORS = PRESS CONTINUE OR | 00P TEST (SEE SEC 6,3)

TRAP ERRORS e DETERMINE WHERE ERRQR OCCURRED (SEE SEC 8)

ERROR LOOPING

TO LOOP ON AN ERROR REPLACE THE HLT INSTRUCTION WITH A
BRANCH BACK To THE PREVIOUS SCOPE INSTRUCTION, NOTE TWAT IF
THE ERROR 1S INTERMITTENY THAT TME TEST WILL DROP THROUGH
THE HLT AND PRQCEED TO YHE NEXT TESY, THEREFORE T0O LOOP THE
TEST CONTINUOSLY REPLACE THE BEQ ,+4 INSTRUCTION [IMMEDIATLY
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PRFCEENING THE HLT WITH THE BRANCH BACK T0 THWE PREVIOQUS

SCOPE,

T0 LOOP TRAP FAILURES PATCH IN TWE FOLLOWIMG ROUTINE AT

ADNRESS AF THE TRAP VECTORS

TRAPVECS TRAPVEC+4

TRAPVEC+2: [}

TRAPVEC*4 912716 JMQVE 'SCOPE!
JADDRESS YO STACK

TRAPVEC®6: ADDRESS 3;ADDRESS OF PREVIOUS

iSCOPE INST,

TRAPVEC®12: 208206 JRETURN

TO TEST AT t'ScopE!

THE

RESTORE ALL LOCATIONS BEFORE PROCEEDING TQ NEXT TEST(S),

RESTRICTIONS

THESE PROGRAMS MUSY BE LOADED IN THE LOWER 4K NF MEMORY,

STARTING RESTRICTIQON

ALL PROGRAMS MUST BE INITIALLY
STARYEN AT A SCOPE [NSTRUCTION
CPERATIONAL RESTRICTION

NQNE

MISCELLANEOUS

1F A HALT NCCURES IN THE TRAP
EXAMINE REGISTER 6 (THE STACK
CONTAINS THE ADDRESS WHERE THWE
CAUSED THWE TRAP IS STORED,
EXECUTTION TIME

ALL TESTS TAKE APPROXIMATELY 1
CORE MEMORY,

STACK PQINTER
ALL PROGRAMS INITIALLY SET THE

SYARTED AT 2828 AND MAY BE

THEREAFTER,

OR INTERRUPT VECTOR
POINTER), THE COMTENTS
PC OF THE INSTRUCTION

MINUTE EACH ON AN 11/45.

STACK POINTER AT 5¢2

Ve

AREA,
OF Ré6
THAT

WITH

&
%
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FRIGRAM NESCRIPTION

CCKBA

NCKBA

LCKBC

LCKBD

CCKBE

THIS IS A TEST OF THE SXT INSTRUCTION AND INSURES
CORRECT RESULTS AND CONDITION CODE OPERATION, THE
SXT INSTRUCTIOM IS TESYED IN ALL ADDRESS MODES IN
4 GENERAL REGISTER AND THE PC,

THIS IS A YEST OF THE S08 INSTRUCTION AND INSURES
CORRECT BRANCHING AND CONDITION CODE OPERATION,

THIS 1S A TEST OF THE XOR INSTRUCTION AND INSURES
CORRECT RESULTS AND CONDITION CODE OPERATION, THE
XOR INSTRUCTION 1S EXECUTED USING VARIOUS OPERANDS
AND IS EXECUTED USING ALL ADDRESS MODES USING A
GENERAL REGISTER AND THE PC.

THIS 1S A TEST OF THE MARK INSTRUCTION, THE TYEST
EXECUTES THE MARK INSTRUCTION USING ALL VALUES OF
'N' AND CHECKS RESULTS) CORRECT CONDITION CODE
NPERATION IS ALSO TESTED,

THIS IS A TEST OF THE RTT AND RT! INSTRUCTIONS AND
USES 'T' BIT TRAPS [N THE TEST, PROPER STACK
NPERATION 1S TESTED AND ALSO PROPER STATUS CHANGES
ARE TESTED,



KBAA
i

opopeR
90002
200004
200006
2epeio
ppesi2
fp00i4
200016
2ge020
ogepe?
200024
pPRB26
0028030
2ge0a32
222834
202036
Po004p

'

,/;’?'

200000
740701
177776
177770
177564
177564
177570
177579

goes5ep
ogepep
2peeoe
poeeee
200006
opo000
200042
000020
BRooLé
200000
o@pe22
opepee
2g0926
000000
200032
op0000
2O2R36
200029
204
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JTITLE MAINDEC=11=DCKBA«A PDP{1/25-11/45 SXT INST TESY

«NLIST MC,MD,SEQ

1hIST ME

L ABS
JTEST DCKBAA= TEST OF THE SXT INSTRUCTION AND INCLUDES DATA CHECKS AND
ICONDITION CODES CHECKS,

i THE SXT INSTRUCTION EXTENDS THE SIGN (AS DETERMINED BY THE N
JBIT IN THE STATYS WORD) INTO THE DESTINATION ADDRESS, IlE, IF INf IS

J® TO { THEN THE DESTINATION RESULT WILL BE =1 (ALL 1#S), AND IF ¢N¢ IS
ja TO @ THEN THE DESTINATION RESULY WILL BE @ (ALL 2/S), TWE CONDITION
1CODES ARE AFFECTED AS FOLLOWSI

I t#) 1S SET IF THE RESULT 1% #,0THERWISE 7Z! 1S CLEARED

) IN/ 1S SET IF THE RESULT 1S NEGATIVE,CLEARED IF POSITIVE

) /Gi 1S UNCHANGED

} tyl 1S GCLEARED

JITEMS NOT TESTED BY THIS TEST

I 11 THAT SXT WJLL SET ALL BITS IN THE PSW WHEN 1/S ARE EXTENDED (EXe
} CLUSIVE OF THE #Tf BIY)

JSTARTING PROCEEDURE

} LOAD ADDRESS =202

PRESS STARY
STACK POINTER IS SET AT %322
BELL WILL RING WHEN TEST [S COMPLETE

HLTaHALT

SCOPEs212701 IMOV PC,RY

PSWa177776 JADDRESS OF PROCESSER STATUS WORD

UBREAK®177770 JADDRESS OF MICRO BREAK REGISTER

TPCSRu177564 JADDRESS QF TELEPRINTER CSR

TPBUF8177566 JABDRESS OF TELEPRINTER BUFFER

SWR=177572 JADDRESS QF CONSOLE SWITCH REGISTER

DISPLAY=177572 1ADDRESS OF DISPLAY REGISTER
jessvapanenpendaaINITIAL STACK POINTERGSODeanassnnunsnastpnnspss
STKPTRaD30P2 FINITIAL STACK POINTER

L 1) }

Vo2

HALT

1 %2

HALT

| *2

HALT

WALY

.‘2

HALT

1 42

HALT

1 %2

HALT

|42

HALT

2

’
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200042
PORDR44
202046
200050
200052
200054
020056
I LILY)
200062
2R2064
PP0R66
000070
290072
200074
200076
00100
200102
000404
PR0106
290110
290112
000114
oPBL16
290129
pgeaga2
PE0L24
200126
P9130
2002132
DP0134
000136
292140
Pp0142
000144
PP2146
Ppa1°p
P0R152
000154
2002456
002160
pgasee
PP0164
2001686
2008479
200172
22174
PPNL76
000200
200202
002204
000206
oe0210
11 F3¥i
PRo214

200000
PPO046
200000
200052
200000
200056
200000
LTI ILY]
T ELLL]
200066
20000
200072
000000
200076
200000
200102
T LELL]
200106
200000
200112
200000
20116
000000
o00122
200000
200126
200000
200132
200000
#008436
200000
POR142
000000
200146
og0ge0
L ILY
200000
208156
LI TTTT)
op0L62
2008000
Pe0166
PQ0000
200472
PR0Q00
700176
200000
000202
LLETL]
200206
200000
po0212
@000
opo2Lé

HALT

12
HALT
142
HALT
1 *2
HALT
L +2
HALT
1 *2
HALT
1 ¢2
HALT
1 *2
HALT
1 *2
HALT
| *2
HALT
(*2
HALT

-~

17<FEBw72

23146
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DCKBAA

200216
o@2220
2@R222
90224
200226
22230
290232
0200234
PER236
poog4e
200242
000244
000246
200250
PP0252
290254
200256
200260
0AN262
200264
200266
PP0270
200272
000274
oP0276
200300
200302
000304
PPR326
200340
0ge312
200314
P90316
pPO320
PPR322
PP0324
220326
PPR3I3P
200332
200334
90336
PP0340
PPR34A2
200344
20346
PPa350
P0P3I52
090354
200356
2p0360
200382
200364
2008366
2e0370

~

2eepop
p00222
290000
290226
000000
pgo232
200000
PPR236
290000
200242
Pp0000
200246
P00000
2002582
200000
290256
200000
2p0262
200000
200266
200000
eo0272
202000
200276
202000
200302
202000
200306
200000
PoR3Le
P0P00
290346
PQ0RR0
ppo32e
200900
200326
200000
202332
200000
200336
pe0p00
200342
020000
PP0346
PpoReR
290352
opope0
P203%6
290000
PER362
Po0p00
PRR3I6S
CELELT
P37

HALT
2
HALT
1 *2
HALT
.2
HALT
1 *2
HALT
o *2
HALT
*2
HALT
 *2
HALT
*2
HALT
*2
HALY
*2
HALT
#2
HALT
1*2
HALT
*2
HALT
1 *2
HALT
192
HALT
L *2
HALT
*2
HALTY
1 v2
HALT
02
HALTY



M
0

4

-

é&ggiC-li-DCKﬂA-A PDP11/23+44/45 SXT INST TEST MACY11,6@06 L17~FEBa72 23146 PAGE 4

02372
ER374
PP0a376

poooee

000200

294000
pRL002
204006
p@ioi2
2Q4020
204026
BoL0o30

201036
201040
2OL044
201046
004050
2910952
204054
2040856

Y LT)
pR1R62
201064
oP1066
eoL070
204272
291076
gRL100

0a1102
201104
2RL110
ggi1i2
201114
P03136

P@L120
g24122
201124
294126
01130

opopoD
200376
2poo0p

200020
000167

200000
opo20p
2002167
opL000
oonoeR
205067
232706
016737
232737
001423
113787

210701
012700
280277
zpo2%e
Boe700
205700
oQ1401
oQ0000

10704
205000
opo2sy
00a270
PR6e700
geep27
Bo1401
goeoep

210703
242700
eo02%0
gRe7e0
100003
200000

210701
05000
008270
oRe700
100403

pOP1634

pRR576

177772
poos5aP
177762
poa4pR

177570

177777

177777

1777177

177579
177570

177770

HALT
1 42
HALT

N1
JMP

DESTaXg
8200
JMP
1910020
ICNTY 2
STARTI CLR
BEGINI MQV
MOV
BlT
BEQ
Move

ITEST THAT WHEN
SCOPE
MQV
sce
CLN
SXT
787
BEQ
HeT
ITEST THAT WHEN
SCOPE
CLR
cce
SEN
SXT
cMP
8E0
Wi T

ITEST THAT N IS
SCOPE
MOV
CLN
SXT
BPL
T

JITEST THAT N 1S
SCOPE
CLR
SEN
sxY
BM1

SXTe?

START

1CNT
#STKPTR, %6
ICNT, @#01SPLAY
#400,0%SWR

1 +40

O¥SWR, ®2UBREAK

IPASS COUNT

1CLEAR PASS COUNT

JSET STACK POINTER

10ISPLAY PASS COUNY

fLOAD MICRO BREAK REGISTER?
JBRANCH IF NOT

JLOAD MJCRO BREAK WITH SROe?

N 18 CLEAR SXY CLEARS THE DESTINATION

#ei,DEST

DEST
DEST
Y

JSET ALL CONDITION CODES

ICLEAR N

JEXTEND N BIT (@) INTO DESTINATION
JDESTINATIONs?

JDESTINATION OTHER THAN 2

N IS SET THAT SXT SETS ALL BITS IN THE DESTINATION

DEST

DEST
DEST) #e1
Y

[gt$Az ALL CONDTION CODES

ISE

JEXTEND N BIT (1) {NTO DESTINATION
1010 ALL BITS SET {N DESTINAT]ON

JOESTINATION OTHER THAN 177777

CLEAR AFTER SXY EXTENDS 27S INTO YHE DESTINATION

#el,DEST

DEST
kY

SEY APTER 8XT EXTENDS I/S INTO THE DESTINATION

DEST

OEST
.“
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P01132 0P2R00 MY
ITEST THAT SIGN EXTENDS PROPERLY AFTER A MOVE INSTRUCTION IN SET)
PoL134 018703 SCOPE
Q1136 005020 CLR DEST
201140 0812787 177777 177774 MOV #n1,, 42
PoL146 006700 SXT DEST
201159 028027 177777 cMP DEST,#=1
201154 001401 BEQ Y
901156 200000 ML T

'
%
P
N

W
}//
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DCKBAA

epi160
pRL162
BPL166
204174
PBLL76
ogi202
2p1204

21206
0@1210
PPL214
001220
p@L222
201226
04230
oRL232

PPL234
201236
opL242
0P1244
001250
091252
PE1254

B@L256
001260
PR12%6
201270
ogL274
201276
201300

2gL302
P@L304
2Q1312
PRL3L4
204320
BRL322
BRL324

pRL326
201332
PP1340
201342
PRL344
PeL346

210703
p12700
B42767
pRe7eR
egepa7
204401
Ppepoe

PRs000
293067
105167
206700
pe2729
P@L40%
opopoR
210701

ep5000
105367
eg6700
022720
21401
opooeR
21070}

205000
156767
06700
022700
00140
002000
010703

205020
116767
gge700
222700
o@gi40y
pooeed
L0708}

212790
146767
pRe7oR
egs720
201403
egepap

177777
ooeoe0

poooee

pR0226
200223

177777

poo2e9
1777177

202187
177777

PPOL34
177777

17717177
pooi0s

177774

2001586

#0a133

200109

-

23146 PAGE 6

JTEST THAY SIGN EXTENDS PROPERLY APTER A MOVE INSTRUCTION {N CLEAR)

SCOPE
MOV
MOV
SX7
CMP
BEQ
HT

#el,DEST
‘BOu‘z
DEST
DEST, %0
Lo

JTEST THAY SIGN EXTENDS PROPERLY AFTER VARIOUS BYTE INSTRUETIONS
INOTE| THWESE TESTS MUST BE RUN SEQUENT!ALLY OR TEMP & TEMP&2 MUST
}BE MANUALLY LOADED BEFQRE STARTING THE TEST,THE COMMENT AY THE BEG=
JINNING OF THE TEST SHOWS CONTENTS OF TEMP & TEMP#2,
JCTEMPSL) , (TEMP)/(TEMP#3) , I TEMP+2)

CLR
CLR
coMB
SXT
CMP
BEQ
HL T
SCOPE

CLR
PDECB
sxT
CMP
BEOQ
WL T
SCOPE

CLR
8lss
SX7
il
BEQ
H T
L L

CLR
MOVB
SXT
cHP
BEQ
WL T
SCOPE

MOV
gice
SXY
ST
BEO
Hl T

DESTY
TEMP
TEMP+}
DEST
#ei,DEST

o d

DEST
TEMP
DEST
t-l.Dth
144

DEST
TEMP+1)TEMRe2
DEST

ﬂ-icDEQT

' *

DESTY

TEMP+2) TEMP+3

’I‘.DE§T
TEMP+1, TEMP+3
DESY

DEST

144

11,2/%1
19,2/,
1e3,08/1,?

JERROR! S1GN

1ed,0/71,?
jei 17791

JERRORY S{GN

19,0472,
ILITEIVA Y}

JERRORL S}ON

1el)e172)08
tel,ei7e1,=1

JERROR! S{GN
jei, o171,

tui,=1/0,0d

JERROR! SIGN

EXTEND PAILED (Nei)

EXTEND FAILED

(N=I)

EXTEND FAILED

(NsI)

EXTEND FAILED

(N={)

EXTEND FAILED (N=D)
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DCKBAA

201350

PP1352
221356
201360
001364
201366
01370
201372
201374

201376
201402
201406
091410
001412
PoL414
001416

opL420
pEL424
201430
201432
204434
201436
21440
pRL442

PL1446
201450
201454
PoL456
293460
PRi462

001464
804466
201470
201472
804474
201476

0045020
201502
204504
201506
204510

gi070%

212709
2090264
105567
206700
295700
201401
?P0000
210721

12700
105267
2p6700
095700
pRL42Y
000000
18703

212700
105167
ege70p
205700
021404
200000
01070}
opegRre
201446

210870}
012700
0002%0
ege700
204404
gpeoop

pie70}
g@seee
200270
poe700
geie0d
apgepod

oie7ey
0008257
206700
103901
2oogop

177777
pooos7?

177777
000034

1777727
poo014

177777

SCOPE

MOV
SEC
ADCB
SXT
787
BEO
HLY
SCOPE

MOV
INCB
sXY
787
BEO
HLT
SCOPE

MOV
comMe
sxy
TST
BE®Q
WL T
SCOPE
TEMPID
.'.‘2

#=1,DEST

TEMP+3
DEST
DEST
o4

#el,0EST
TEMP
DEST
DEST

o4

#e4,0EST
TEMP#2
DEST
DEST

TE

23146 PAGE 7

jel, =170l
JSET CARRY
12,=1/8,°3

fERROR! SIGN EXTEND FAILED (Ns@)

18,°1/8,=1
12,0701

JERROR] SIGN EXTEND FAILED (N=2)
10,0/0,%1

10,08/0,0

JERROR! SIGN EXTEN FAILED INs@)

JTEST THAT 2 BIT IS SET AFTER S$XT EXTENDS P/S

TZ) SCOPE
MoV
CLN
SXT
BEQ
HLT

#el,DEST

DEST
Y

JCLEAR N

JEXTEND N BT (@) INTO DESTINATION
JBRANCH IF 2 IS SET

y2 NOT SE? AFTER @2/S WERE EXTENDED

JTEST THAT Z BIT IS CLEAR AFTER SXT EXTENDS LfS

SCOPE
CLR
SEN
SXY
BNE
LT

DEST

DEST
K1)

JTEST THAT THE CARRY BIT (C) IS UNEZHANGED BY SXT (Cm2,Nza)

SCOPE
cce
sxT
8cc
HLTY

DEST
Y

§SLAER ALL CONDITION CODES
JEXTEND SIGN

JBRANCH IF CARRY 1S CLEAR
JERROR  CARRY SET

JTEST THAT THE CARRY BIT S UNCHANGED BY SXT (C=a@,Ns1)

e

)
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pRL512
201514
2RL516
204520
p@1522
BRL524

PRL526
BPL530
2gL532
PRL534
201536
Bpy540

2g1542
PR1544
PPL546
094550
204552

P@1554
204556
2@1560
ggL562
801564

201566
201570
201572
224574
2RL576
201609

993602
001604
003606
91610
204612
01614

pio7el
200257
2002270
206700
103001
oQepeo0

2310703
2Q0es?
2p@E264
gRé700
103409
epepop

pLe70}Y
200277
ppe700
103404
gogoeD

10701
200237
gpe700
102003
egooed

2318701
200237
0pe270
eQs7020
102001
poopap

010704
gp0277
200250
2p6700
102001
opooo0

JTEST

JTESY

ITEST

ITEST

ITESY

SCOPE
cce
SEN
SXT
BCC
HeT

DEST
L)

17=FEBe72

23146 PAGE 8

lCiﬂ.Nll

JEXTEND SIGN

JBRANCH IF CARRY IS CLEAR
JORROR! CARRY SET

THAT THE CARRY BIT IS UNCHANGED BY SXT (Cayi,Na@)

SCOPE
cce
SEC
sXY
BCS
HLT

DEST
Y

JCel,Nag

JEXTEND SIFN

JBRANCH IF CARRY 18 SETY
JERROR] CARRY CLEARED

THAT CARRY 1S UNCHANGED BY SXT (Cai,N=i)

SCOPE
Sge
SXT
BCS
ML T

DEST
Y

jGai,NmL

JEXTEND S]GN

JBRANCH IF CARRY SET
JERROR! CARRY CLEARED

THAY THE vV BT 1S CLEARED BY SXY (VsO,NsD)

SCOPE
cce
SXTY
BvVC
HLT

THAT Vv IS
SCOPE
cce
SEN
sx1
BVC
LT

THAT V 1S
SCOPE
sce
CLN
SXT
BvCe
HLT

DEST
b4

IVed,Nug

1EXTEND SIGN

JBRANCH IF V IS CLEAR
JERROR! V SET

CLEARED BY SX? (vef,Nsi)

DEST
o4

Ve, Not

TEXTEND S1GN

1BRANCH 10 V 1S CLEAR
JERROR! V SET

CLEARED BY sxT (val,Nag)

DEST
Ry

jCul,Nnp

JEXTELD SIGN

JBRANNEH IF V 1S CLEAR
JERROR! V SET
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DCKBAA

2aL6L6
peLec0
ppL622

201624

2091626

001630
094632
804634
204636
004640

paL644

001646
201650
201654
201656
204662
204670
001672

PRL674
BRL676
2091702
001704
204706
2p1710
PRL716
gey720

e@3722
P01724
e@4732
BRL734
291740
2gL746
201732

294732
P@4754
004762
2241779
PaL772
BRL776
002004

O

0108703
290277
2p6700
10200}
200000

poeno?

pLo70}1
Ilrid
gpe707
2poo00
pR0o402

BRL642
P0L644
epgogoe

216701
205067
292270
006767
226727
PP1423
200000

210703
pe5067
290270
geez27
egpppoe
pRe727
201401
Ppeoee

01070}
242737
pe0ese
0096737
023727
BR1402%
epooe0

2107031
ai12767
242777
290230
206777
narrar
2@1401

177766

177760
177784

002004

177772

177777

PB1642
poL642

01644
177777

177644
177640

177777

177777

201642

177660
177652

op2000

JTEST THAT V IS GLEARED BY SXT (csi, N=i)

SCOPE
sce
SXT DEST
BVC 104 JBRANCH
Wi T
DESTsX?
JTEST THAT SIGN EXTENDS INTO R?
SCOPE
cce
SXT DEST
HLT
SXT@7) BR MODES?Y
DESTs,
W2
1DEST1 @

JITEST DESTINATION MODE 67
MODE671 SCOPE

CLR DEST
SEN
SXT NEST
CMP DEST, #=y
BEQ Ry :
HLT
JTEST DESTINATION MQDE 27
SCOPE
CLR MODE2Y
SEN
SXT (7)e
MODER71 ©
CMP MODE27 ) #=1
BEO L4
KT
JTEST DESTINATION MODE 37
SCOPE
MoV #el,0N0EST
CLN
SX? - OWDEST
CMP OHDEST 40
BEQ Ll
WLt
JTCST DESTINATION MODE 77
SGOPE
MOV #]1DESY,DES?
MOV #wi,0DEST
CLN
sxY oDEST
CMP oDEST, #0
BEO XY
N
\ ”,

fVel,Nug

JEXTEND SIGN

tF V IS CLEAR

JERROR! V REMAINED SET

(N®2),
IN®@

SEXTEND 218 INTO THE PC
JERROR! PC SHOULD/VE GONE Y0 @

iSET N
JEXTEND $/S INTO DEST
1010 1/ EXTEND

y47S FAILED TO EXTEND

ISET N
JEXTENS 1/S INTO NEXT LOCATION

y0D 178 EXTEND

ICLEAR N
JTEXTEND 01
1010 8/s EXTEND



MAIN
DCKBA
002906

p22010
p@2p12
202016
BQ2020
Bg2g22
pp2pg24
po2pes
202034
opapgye

202040
PR2042
002044
092050
02054
PR2956
202060
Po2064
202066
202079
202074
p@2076

PR2100
PR2102
p@21i0
Bp2114
202116
pR2129
202126
222130

gQ2132
P2134
pgaLee
002146
992132
22154
092460
292162
PR2164
82170
292172

PP2L74
002476
092204

2gee0p

0107024
pl2700
ep%002
0go2631
gp5602
26710
822767
BR4140%
opepgop

gie7ey
205046
212746
212702
oQop0e
goe722
205767
201401
0ep0e0
pe2702
204403
opapeap

240704
212767
L2702
200270
26732
p22767
PP1404
pRopeR

010703
042703
012767
003067
006743
903747
81401
000020
822703
901401
000000

pi070%
gi2767
pL2704

po2320

177777

002056
pR2320

poo234

g02322

pp2322
pR2320

177777

pp2s22
177777
220180

oREL4p

gp232e

e02320
po2324

pRB264

pRoe2Le

pooL74

po2152

peRLLe

HLT

)

DEC-ll-DCKgA-A POPL1/25=41745 SXT INST TEST MACYL1,606 17=FEBw72

JTEST DESTINATION MQDE ¢

SCOPE
MOV
CLR
SEc
$8¢
sx?
cMP
BEOQ
HLT

#MODEY ) X0
X2

X2
(2)
#OEJHOQEI

' *

JTEST DESTINATION MODERZ

SCOPE
CLR
MOV
MOV
RT1
sX7
ST
BEQ
Wl T
cHP
8Eo
HL?

MODE21

=(6)
#MODEZy=(6)
#MODEL, %2

(2)+
MODEL
L

#MODEL+2,%2
L o4 .

JTEST DESTINATION MODE 3

SCOPE
MOV
MOV
SEN
SX7
cMP
BEQ
He?

#MODEJ,MODEY
#MODEL X2

0(2)+
n-i.nogss

' *

)TEST DESYINATION MODE 4

SCOPE
MoV
MOV
CLR
SXY
787
BEQ
WL T
CMP
BEQ
HiT

#MODEY, X3
#ei,MODEY
MODES
=(3)
MOOEL

SMODE3=2, X3
kY

ITEST DESTINATION MODE 5

SCOPE
MOV
MOV

#MODE4L,MODED
#MODEJ+2,X4

23146 PAGE 10

JERROR] INCORRECT RESULT

JSET UP STACK WITH /NEW/ STATUS
JAND INEW! PC

fERROR! INCORRECT RESULT
1GHECK AUTO=INCREMENT

FERROR] AUTO INCREMENT FAILED

JERROR! INCORRECT RESULT

JERROR! INCORRECT RESULT
JCHECK AUYQeDECREMENT

JERROR! AUTO=DECREMENT FAILED



MAINDEC®112DCK3A=A PDP{1/25+11/45 SXT INST TEST MACY11,686 17=FEBe72 23)46

DCKBAA

PR2212
0@2212
02214
pgaz22
pg2224
pg2226
0@2232
02234

PR2236
092240
Dp2244
202259
802254
pg2256

202260
092262
092279
002274
ogazez
2092326
PR32
Pg2314
202316
P@232p
2g2322

0P2324
002326
002334
P@2336
2342
2R2346
002332
0@2354

292356
902360
202366
092372
0g2400
PR2402
02408
002412
D244

L LEY )

®

200270
206754
022767
001401
Ll
222704
201401
egopop

2109701
24270%
PR6765
0058767
001403
200000

010702}
812767
pl2704
012767
0206774
205767
001403
opeoee
200402
200000
200000

P10704
812767
200257
006767
216700
p227080
eRi40d
2000020

210703
912767
212702
212767
206712
216700
222700
001404
202200

210723

177777

202322

po2322
177776
PO0244

177777
177770
pP2320
#R2332
oPoR06

177777

177756
1754302
200004

177777
PR232¢2
o003

178370
poPRRs

poeR76

poeRsP
202020

177764

177732
173376

SEN
sXT
cMP
BEQ
HLT
CHP
BEO
HLT

0u(4)
‘-1,’40051
Y

#MODEJ ) X4
44

JTEST DESTINATION MQDE 6

SCOPE

MOV
SXT
TSY
BEQ
HLT

#MODET, X3
«2(5)
MODEL

o4

JTEST DESTINATION MOOE 7

SCOPE

MQV
MOV
MOV
SX7
78T
BEQ
HL T
B8R

MODEL) @

MODESI @

#e1,MO0EY
Nelld, X4
#MODEY ,MODEY
OMODEI+10(4)
MODEL

L]

L

PAGE 11

JERROR! INCORRECT RESULT
1CHECK AUTO=DECREMENT

JERROR! AUTO=DECREMENT DEFERRED FAILED

JERROR! INCORRECT RESULT

JERROR INCORRECT RESULT
1GO TO NESY TEST

JITEST CONDITION CODES WHEN THE DESTINATION MODE 1S NOT 2

INwg,Zul,Vnp,Cn0
SCOPE

MOV
(11
sXT
MOV
cHp
BEQ
HLT

INsg,2%1,VnE,C8}
SCOPE

MOV
MOV
MQV
SXY
MOV
cMP
BEQ
HhT

INwi,Ze0,V80,Cnp
SCOPE

#e1,MO0EY

MODEL
PSW, X0
#4,X0
,oé

#el,MOOEL
¥MODEL X2
#3,PSH
(2)

P3N, X0
#3,%0

Y

JERROR! INCORRECT CONDITION COBES

JERROR! INCORRECT CONDITION COBES



MAINDECw»11«DCK3A=A POP11/23511/745 SXT INST TEST MACY14,606 47=FEBa72

DCKBAA

pP2420
0@2424
0092430
202436
2Q2440
BR2444
0@2450
v@2452

PP2454
Bp2456
202462
BR2466
002474
PP2476
p02502
02506
0g2510

pgeste
P25 4
pp2s522
092524
2pas3p
2p2534
202536

Pp2540
002544
p@asse
Pp2554
p2s560
PR2566
902572
pR2574
PR2600
92602
002604
PQ2606
pp2610
pR26%2

gi2702
2p3p67
212767
egev2e
pLe700
az2700
201403
egopep

2107031
gi270¢
pE5p67
012767
opev4e
216700
222700
2oL40]
ogeoep

10704
812767
000250
006767
216700
001401
000000

P95267
p26727
201402
2008167
232767
105747
100375
043702
001404
2Q474¢
200249
202249
poB240
20084167

290001

002320
177670
00P016

175332
00040

pR2322
177632
B02017

175274
pP0014

poO3IBY

179244
179242

176234
176239

176226
geoge?
174772

poan4R

176164

175340

173302

1752%¢

177777

173000

INei,200,Ve0,Cn1

MOV
CLR
MQV
SXT
MOV
CMP
BEQ
HLT

SCOPE
MOV
CLR
MQV
SXT
MOV
cMP
BEQ
HLT

-_

#MODEL %2
MODEL
#16,PSW
(2)+
PSW,%®
#10,%0
Y

#MODEL+2,%2
MODEYL
#17,PSW
=(2)

PSW, %0
#11,%0

Lol

23146 PAGE 12

IERROR! INGORRECT CONDITION CODES

JERROR! INCORRECT CONDITION COBES

JTEST THAT SXT EXTENDS @/S INYO THE PSW

DONE

DONE4I

SCOPE
MOV
CLN
X7
MOV
BEO
HLT

INC
14
8EQ
JMP
MQV
7878
148
MOV
BEQ
JSR
NQP
NOQP
NQP
JMP

L END

#357,PSW.

PSW
PSW, %P
o4

ICNT
JCNT  #=q
DONE
BEGIN
#7,TPBUF
TPCSR
yud
a2,%2
DONEL
7:(2)

START

JGET & TEST PSW CONTENTS

1 INCREMENT PASS COUNT
1GO TO DONE IF 128, PASSES COMPLETED

IRING BELL

INALT POR THE

1BELL T0 RING

IGET DECTAPE MONITOR ADDRESS
100 NOT RETURN IF (42)m0
IRETURN TQ DECYAPE MONITOR
TAETiL

1OVERLAY

TAREA

JAND REPEAY TEST



MAINDECw11«DCK3AeA POP{1/25~11/45 SXT INST TEST MACY11,606 17+PEBe72 23146 PAGE 13

DCKBAA

BEGIN 021006
DONEY po2612
MODEL pR232p
MODE67 201646
STKPTR = 209500
TPBUF s 177566

s pa2616

ERRORS DETECTED!

SYMBOL TABLE

)

DEST
He T
MOOE2
PSW
SWR
TPCSR

paL642
poepgooe
po2056
177776
177872
177864

DISPLA = 177572
1GNT 201000
MODE27 201726
SGOPE = 0108703
SXTP7  B21642
T2 PP1446

@

DONE 202560
toesrT pP1644
MODE3 poP2322
START ge10p2
tEMP po1442
UBREAK = §77778



EC=11«DCKBB=A POPi{1/25-11/45 S0B INST TEST MACY11,606 17«FEBe72 23146 PAGE 1

A

202000
P00@02
pooR04
2002006
2002010
2000212
200014
P00016
Ppep2p
200022
200024
200026
Ppe@3P
Pp20232
200034
202036
200040
oe0042
202044
oPo046
209050
po0052
P0e0%4
200056
LEFLT)
poRe6?
0008064
pooRbs
000070
209072
200074
220076
200100
2pe102
200104
BPB106
P00110

pprooR
2gep0e
ogepap
gepgeé
2gepep
opopLe
200000
202016
ogeooR
2po022
goooRe
ooep26
egenee
P00032
ooo0D
P000936
opeoao
PRe042
pooR20
200046
2ge020
pgoRse
egopep
e0gop%6
goeeep
openee
LTI
200066
200000
epee72
poogeo
aeee76
ggep0p
200402
goepoR
200106
pooeee
200112

-

+TITLE MAINDECeileDCKBB=A PDP11/25=11/45 S0B8 INST TES?
+NLIST MC,MD,SEQ

JLIST  ME
‘a5 TEST OF THE S0B INSTRUCTION,
KBBA® 1
:TzST DCTHE SoéExNSTRUQTION SUBTRAETS ONE (1) FROM THE REGISTER SPACIFIED

; SS
F THE RESULY IS NOT ZERO (@) THEMN A BRANCH 1S TAKEN TO TWE ADDRE
::gg LUHBER OFQNgRDS) SPECIFIED, IF THE RESULT 1S @ THEN THWE NEXT SEQUENT]AL
JINSTRUCTION 1S EXECUTED,

ISTARTYING PROCEEDURE

) LOAD ADDRESS®20¢

] PRESS START

} STACK PQINTER IS SET AT 500

] BELL WILL RING WHEN TEST IS COMPLETE



ge&ggic-u-ogxsaq POP{1/25=11/45 SOB INST TEST MACY11,606 17=FEBe72 23146 PAGE 2

PR01L2 002000 HALT
200114 0200116 2
200116 0200000 HALT
P0129 0PO122 R
P00122 000000 HALT
oP0124 0Q0126 ,*2
P0e126 #00P0Q HALT
2P0139 000132 142
p00132 020000 WALT
PP0134 000136 2
00136 000000 HALT
PP0140 000142 Y
00142 00000 HALT
000144 0QB146 2
p00146 0QP00Q HALT
200150 000152 ,*2
PPa152 0P2P0Q NALT
200154 POO1%6 .2
P0P156 000000 HALT
200160 000162 *2
peR162 00P00Q HALT
PER164 000166 102
pen166 @02000 NALT
pPeL70 0EeL72 1 *2
pPe172 0PeQ0R HALT
200174 £RO176 1 ¥2
200176 0Q2000 NALT
20200 00202 1 *2
P@P202 002000 : WALT
00P204 00206 2
000206 0COPR0Q HALY
200210 0P0212 12
p@R212 000R0P HALT
200214 002216 1 %2
pPR216 002000 WALY
099229 0RA8222 1 v2
PoP222 00P200Q HALY
PP0224 0Q0226 1 #2
P00226 0P0Q0Q HALY
000239 090232 1*2
P00232 0P200Q HALT
200234 0200236 2
209236 0PPPOD . HALT
Pp0247 0008242 Y
290242 000000 HALT
000244 000246 *2
PPR246 000000 HALT
200250 0P0252 *2
peo252 000000 HALT
pER254 000256 2
P00256 000200 MALT
PE0260 000262 o2
epR262 P@P2R00Q HALT
000264 000266 .2

// : :g!\
<;;ff NS



Cel1«DCK3BaA POP11/25+41/743 SOB INST TEST MACYL1,606 417=FEBa72 23{46 PAGE 3

000266
000270
200272
200274
2009276
200300
000302
000304
200306
900310
000312
000314
2009316
000320
200322
000324
290326
2002330
200332
200334
200336
202340
000342
000344
200346
000350
2P0352
000354
200356
202360
000362
200364
200366
000370
200372
0009374
200376

2on200

2gope0
0008272
opepee
000276
200000
200302
poopeQ
200306
ogop0e
P0P0342
200000
PPo3L6
(LLILY
2Q@8322
opeese
2R0326
opapee
PoP0332
epgooag
2en336
opopop
PER342
egee20
PR03I46
opepao
200382
opepee
209356
ogepew
pRB3I6R
poopop
oRe366
L1y
2@P0372
000000
eo0O376
op00020

010703
200020
177776
177772
177564
177566
177570
177379

goasoe
epgopeR
oe0200
202167

HALT
12
HALT
12
HALT
\42
HALT
WALT
,*2
HALT
1 o2

SCOPEwDY
HLTeHALT
PSWsL777
UBREAK®1
TPCSRay?7
TPBUFel?
SWRu1775
DISPLAYs
JOnnuapredonnany
STKPTRsO%02
Ll
200
poes76 JMP

(24} IMOV  PC.RY

76 JADDRESS OF PROCESSER STATUS WARD
77770 fADDRESS QF M]CRO BREAK REGISTER
7564 YABORESS QF TELEPRINTER CSR

7366 1ADDRESS OF TELEPRINTER BUFFER

70 JADDRESS OF CONSOLE SWITCH REGISTER
177579 JABDRESS QF CONSOLE DISPLAY REGISTER

#aeen INITIAL STACK POINTERBZSOO%snuvonssnaavnnine
FINITIAL STACK SEYYING

START



MA}

pR1000
201202
BRL006
paL0s2
204020
BaL026
201030

291036
201040
201044
PPL046
e@L850
egie52
801054

2pL056
paLp6n
egipse
BoLoo4
201070
peLe7e
001074
Po1076
001100

2g1102
opL104
204110
91112
204114
PRLLLe

poL120
291122
@126
091130
B21134
P@1136

091140
poL142

091146
291159
egi192
093154

2o40020
epooeR
205087
012706
016737
832737
2091423
113737

107021
fL27e0
00401
pPR04ne
277002
00040}
opeo0op

L0703
P@es000
200405
geep2?
001404
opep0p
poo4ne
077006
epeper

pie70y
p12700
pRR4oy
rpo402
277002
pooene

218701
232700
077004
gao027
pOL401
gpooep

2107034
212700

opo401
200402
277002
ooo00R

177772
peespR
177762
pPR4nR

177570

pooRay

177777

ppeone

oo0001
poooRe

100000

177570
177579

177779

ICNTI
START|
BEGINI

ITEST
TOAL

Tes
Tec
JTEST
TiA

TiAAl

7181
TicH

ITESY
T34

7281

1 TEST
TIAS

T381¢

jTEsT
TéAL

1481

, %1000
]
CLR ICNT
MOV #STKPTR,%X6
MOV JCNT,08#DISPLAY
BIY #400,0¥SWR
BEO ,+40
Move O#SWR, MUBREAK
THAT SOB DOES NQT BRANCH
SCOPE
MOV #1,.%X0
BR T@e
B8R T0¢C
s0B X0y,=2
B8R TiA
HLT
THAT SOB BRANCHES WHEN R2
SCOPE
CLR L1
BR T48B
CMP X0 =y
BEQ T2A
HLY
B8R T2A
808 X0, TLAA
WL Y
THAT SOB BRANCHES WHEN R®
SCOPE
MoV #2,%0
BR T28
BR T3A
S0B X0, ,"2
NLT
THAY SOB DECREMENTS Rg YO
SCOPE
MOV 1,50
so8 X0, T3A
cMP X0,#0
BEQ T4A
HLT
THAT $SOB BRANCHES WHEN R®
SCOPE
MoV #100000,%0
BR T4B
BR TSA
S0B %042
WLt

®

N/

Dcnggic-11-DCKBBvA POP{1/25=11/45 SOB INST TEST MACY11,606 17<FEBe72 23146 PAGE 4

JCONTAINS PASS COUNT
JINITIALIZE PASS COUNT

ISET STACK POINTER

JDISPLAY PASS COUNT

ILOAD MICRO BREAK REGISTER?

JLOAD MICRO BREAK REG WITH SROs7
WHEN THE SPECIFIED REGISTER (Rp) DECREMENTS 10 @,

JLOAD Rp=y
160 DO SOB INSTRUCYION

1S0B SWOULD NOT BRANCH
JGO TO NEXT TEST
JERROR SOB BRANCHED

BECOMES NEGATIVE,

60 DO SOB INSTRUCTION
JWAS R® DECREMENTE®?

JERROR! SOB FAJLED TO DECREMENT RP

1S0B SHOULD BRANCH
JERROR SOB FAILED TO BRANCH

DOES NOT DECREMENY TO 2

JROn2

1GO DO SOB INSTRUCTION

160 TO NEXT TEST

1S0B SHOULD BRANCH

JERROR SOB FAJLED YO BRANCH

# PROPERLY'

JLOAD Rg =i
1S0B SHOULD NQT BRANCH
1010 SOB DECREMENT RZ YO 29

§S0B DID NOT DECREMENT RO T0 = @
1S DECREMENTED AND BECOMES POSITIVE,

{LOAD Rg SUCH THAT WHEN DECREMENTED
1T BECOMES POSITIVE (877777)

1G6 DO SOB INSTRUGTION

168 TO NEXT TEST

ySOB SHOULD BRANCH

JS68 FAILED TO BRANCH



M
D

<

-~

e&gg%c-ll-DCKSB-A PDP11,25=11745 SOB INST TEST MACY11,606 17-FEBe72 23146 PAGE 5

201156
001160
201164
201166
001172
201174
201176
204200
201202

pgL204
PRL206
2@1242
201214
B@L2i6
201220
g@L222
pgL224
B@L226
gpL230

001232
204234
01240
091242
01244
881246
9@125¢
001252

201254
201256
204262
201279
ggi272
201274
2084276
2@L300
201304
204310
1312
281314

210704
012700
200405
naep27
204404
o00R00
eQP402
277006
eopoee

2107083
212700
210002
2004025
pR530¢
pgo00R
poL402
eQeeo0
pRo4ny
877006

910701
212700
010002
2953022
277002
060002
oo1401
gpogop

2pe040
ogoooQ

0108704
0127028
12767
000402
200000
000407
877203
816700
922700
201401
002020
000240
CTITERY
TETTRS

1002000
877777

p77777

77777

pRORRL
pooeoe

176472
ooeoee0

176506

JTEST THAT SOB DECREMENTS Rg PROPERLY WHEN Rz=100000

T5A1 SCOPE
MOV
BR

T5AA CMP
BEQ
Ml T
BR

7581 sQ8
WET

#100000,%0
T58
%X0,%77777
T6A

T6A
%02 T5AA

JLOAD R@=10800200

1GO DO SOB INSTRUCTION

yDID SOB DECREMENY R2?

1GO TO NEXY TEST

JERROR SOB DID NOT DECREMENT Rg
§GO TO NEXY TEST

1S0B SHOULD BRANCH

§S0B FAILED TO BRANCH

JTEST THAY SOB INSTRUCTION DECREMENTS Rg PROPERLY

TéAI SCOPE
MQV
MOV
BR

T6B1 DEC
CMP
BEQ
HLT
BR

T6CH so8

#77777:%0
%0,%e

T6C

X2

%0 %2

T6C

TTA
XB,768

JLOAD Rg & R2 WITH THE

JLARGEST POSITIVE NUMBER

160 DO SOB INSTRUCTION

JOPCREMEN? R2

jROSR2?

1GO 7O SO0B INSTRUCTION

JERROR SOB DID NOT DECREMENT PROPERLY
[ggafo NEXT TEST

[

JTEST THAT SO0B DOES NOT BRANCH WHEN RZ DECREMENTS T0 @ (R2 WILL
FINITIALLY BE LOADED TO THE LARGES? POSIT{VE NUMBER),

T7A1 SCOPE

MOV
MOV
PEC
7784 so8
ADD
BEO
HL?

Cnio
Ns@

#77777.%0
X0, %2

%2

X0y ,=2

X0 %2

1)

JLOAD Rg § R2 WITH THE
JLARGESY POSITIVE NUMBER

JREsR2RE?
JERROR

JTEST THAY SOB DOES NOT AFPECY THE CONDITION CODES WHEN SOB DOES NOT BRANCH

Ti0A1 SGOPE
MOV
MOV
B8R
TLOAAL  HLTY
aR
T1081 08
MOV
CMP
BEQ
ML T
T1801 NQP
CuCed
NuN+y

#1.%2
WO,PSW
Ti08

7400

X2, TLi0AA
PSW, %P
#0, %0
o4

ILOAD PSW
1G0 DO SOB INSTRUCTION
JERROR SOB BRANCHED

1$0B SHOULD NOT BRANCH
JGET STATUS CONTENTS
JSTATUS s O

JERROR STATUS WORD CHANGED



MAl
DCK

N
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DECe11«DCKBB=A PDP{1/25+14/45 SO08 INST TEST MACY11,686 17eFFBe72

BA

1316
291320
204324
91332
091334
221336
001340
891342
204346
201352
204354
001356

201360
001362
201366
201374
204376
004400
001402
001404
204410
201434
BO1416
201420

Pp1422
003424
201430
001436
POL440
paL442
0pL444
201446
804432
201456
24460
001462

201464
001466
204472
201529
001502
204504
201506
201512
204514

010721
812702
212767
Po0402
200020
000407
877283
L6700
pe2720
02081401
poe020
20240
ogeoie
200002

2107031
212702
212767
200422
200029
000407
277203
016700
p22700
QL4023
00000
000240
200013
P000R83

210794
g2702
212767
2004023
2908000
00407
077203
216700
022700
ppi40y
oQeere
000240
PpopL4
200004

g10723
gL2702
212767
pRo4ne
ppeoee
ppo4e?
277203
216700
222700

poaoaL
poooey

176430
2020014

200003
poReoa2

176366
gooppe

poodey
g000203

176324
o023

pPeoel
pP0004

176262
opoQp4

176444

176402

176340

176276

TiLas

TLLAM
Ti181

Ti400

Ti2A1

TLi2AA1
T1281

T12014

Ti3Al

Ti3AAI
T1381

71301

Ti4AL

Ti4AA}
T1481

SCOPE
MOV
MQV
BR
LT
BR
SOB
MOV
CMP
BEQ
Wl Y
NOP
CaCel
NBNey

SCOPE
MOV
MOV
BR
HLT
BR
so8
MOV
CMP
BEQ
HW T
NOP
CuCet
NaNey

SCOPE
MOV
MOV
BR
HeT
BR
S08
MOV
CMP
BEQ
HLT
NOQP
CuCel
NeNet

SCOPE
MOV
MOV
B8R
HLT
BR
so8
MOV
CMP

#4,%2
#1,PSHW
Ti48

T140
X2)TL1AA
PSW, X0
#1,X0
kY

#i,%2
#2,PSW
Ti28

T420
X2)T12AA
PSW, %2
#2,%0
Y]

¥y,%2
#3,PSW
T138

7130

X2, TL3AA
PSW, %0
#3,%0
o4

#L%2
#4,PSW
Ti48

T140

%2, TL4AA
PSW, %P
H4,X0

e

N\ /

23146 PAGE 6

ILOAD PSH
JGO DO SOB INSTRUCTION
JERROR SOB BRANCHED

1S0B SHOULD NOT BRANCH
JGET STATUS CONTENTS
1STATUS = 4

JERROR STATUS WORD CHWANGED

ILOAD PSW ‘
GO DO SOB INSTRUCTION
JERROR SOB BRANCHED

JSOB SHOULD NOT BRANCH
JGET STATUS CONTENTS
JSTATUS = 2

J1ERROR STATUS WORD CHANGED

ILOAD PSW _
1GO DO SO08 INSTRUCTION
JERROR SOB BRANCHED

1S0B SHOULD NQT BRANCH
JGET STATUS CONTENTS
1STATUS = 3

JERROR STATUS WORD CHKANGED

1LOAD PSK
GO DO SOB INSTRUCTION
JERROR S08 BRANCHED

§SOB SHOULD NOT BRANCH
JGET STATUS CONTENTS
JSTATUS = ¢



®

MAINDEC=11+pCK3B=A PDP11/25=11/45 SOB INST TEST MACY11,606 17<FEBe72

DCKBBA

081520

Bg4522
204524

203526
201530
201534
BEL542
201544
201546
201550
2g1532
201556
ppLse2
B@1564
BOL566

PR1570
801572
204576
204604
2@L606
op1610
201642
PoL614
291620
2p1624
21626
201630

gpL632

PPL634

204640
201646
204650
291652
001654
201656
291662
201666
201670
203672

281674
PPL676
poL702

201401
fReeo0
000240
200015
200p05

210704
2127022
212767
2004082
200000
00e407
277203
216700
g2709
24401
PQ0000
000240
2penLé
200006

g10704
212702
012747
og0402
200000
ogo4ny
277203
2167420
022709
2g1403
LT
0002409
280017
egepa?

pi10704
L2702
042767
PP0402
ogepoR
poo40?
277203
167020
pR2700
201403
LI LELL
ppo240
PR0020
200040

2410701
812702
g12767

opodal
000005

176220
po0005

poooal
pPeoNe

176186
000006

peegol
P07

176114
pooge?

opoRal
0000410

176234

176172

176430

176066

T1401

Ti5A1

Ti5AAL
T1581

T4501

Ti6A1

Ti6AAY
T1681

T4601

Ti7A8

Ti7AAL
T478B1

T1701

T20A1

BEQ
HL T
NOP
CuCel
NoN+d

SCOPE
MoV
MOV
BR
ML T
BR
S0B
MQV
CMP
BEQ
HL T
NOP
CeuCel
NeNed

SCOPE
MOV
MOV
BR
HLT
BR
s0B
MoV
CMP
BEG
HLY
NOP
CsCel
NeN+3

SGOPE
MOV
MOV
BR
HLT
BR
sQ8
MQV
cMP
BEQ
Wi T
NOP
CuCey
NEN+Y

SCOPE
MOV
MOV

-~

1)

¥Lo%2
#5,PSW
TL58

7450
%2)T15AA
PSW, X0
#5,%0
L)

#1,%2
#6,PSW
T168

T160
X2)TL6AA
PSW,%0
#6,%0
é

#1,X2
#7,PSW
Ti78

TL70D

X2, TL7AA
PSW, %0
¥7,%0
Ry

#1,%2
#40,PSW

23146 PAGE 7

JERROR STATUS WORD CHWANGED

JLOAD PSW
1GO DO SOB INSTRUCTION
JERROR SOB BRANCHED

JSOB SHOULD NOT BRANGCH
JGET STATUS CONTENTS
ISTATUS = 5

JERROR STATUS WORD CHWANGED

SLOAD PSW
yGO DO SOB INSTRUCTION
JERROR SO0B BRANCHED

ySOB SHOULD NOT BRANCH
JGET STATUS CONTENTS
JSTATUS = &

JERROR STATUS WORD CHANGED

JLOAD PSHW
160 DO SOB INSTRUCTION
JERROR SOB BRANCHED

1508 SHOULD NOT BRANCH
JGET SYATUS CONTENTS
JSTATUS = 7

JERROR STATUS WORD CHANGED

JLOAD PSW



€=11DCK3B=A PDP11/2%+11/45 SOB INST TEST MACY11,686 17=FEBe72

201710 000402 BR T208
204712 0200000 T2OAAL HLT
024714 000407 BR T20D
BoL7L6 €77203 T2081 s0B %2, T20AA
204720 236780 176052 MoV PSW,X@
001724 022700 000010 cMP #10,%0
201730 001401 BEO Y
04732 000000 HLT
2941734 000240 T20D1 NOP

goep2l cuCel

200014 NaN+3
PRL736 01070} T24Al SCOPE
P@4740 0412702 0000p1 MQV #1,%2
PEL744 012787 pOBPLIL 176024 MOV #14,PSW
PPL752 0po4r2 BR T248B
¥eL754 0Q0P00Q T21AA1  HLT
0@L756 0Q0407 BR T21D
0QL760 277203 72181 s08 X2, T21AA
PPL762 016700 176010 MQV PSW,X@
POL766 022700 00001 cMP #14,%0
0P1772 901404 REQ Y
p@1774 0Q2R00 HLT
081776 0Q0240 T2101 NQP

ogee22 CuCey

200012 NEN+1
o@2000 0o1@8701 T22A1 SCOPE
Pp2002 012702 0P0OQY MOV #1,%2
202006 012767 000812 173762 MOV #12,PSW
002014 0200402 BR 1228
092016 000000 T22AA1 HLT
02020 0QR4R7 B8R T22D
pp2g22 077203 12281 s08B %2,T22AA
002024 16700 178746 MOV PSW, %@
002030 022700 0ROO12 CMP #12,%0
002034 001404 BEQ Y
002036 0QPQ00 HLT
22040 000240 T22D1 NOP

PpeR23 CaCel

200013 NeNey
pE2p42 010704 T23A1 SCOPE
P02@44 012702 000D MOV #1,%2
P@2050 012767 000Q43 173720 MOV #13,PSW
pP2056 000402 BR 7238
2022359 200000 T23AAL  HLT
p@2062 0Q0407 BR 723D
002064 077203 T2381 L]]:] %X2)T23AA
PP2066 0168720 175704 MOV PSW, %P
P@P2072 222720 008013 CMP #13,%0
202076 0014023 BEQ Y
092109 202200 HLTY
002102 02P0249Q 72301 NOP

e

»

23146

PAGE 8

$GO DO SOB INSTRUCTION
JERROR SOB BRANCHED

1S0B SHOULD NQT BRANCH
JGET SYATUS CONTENTS
ISTATUS = 10

JERROR STATUS WORD CHWANGED

1LOAD PSW
1GO DO SOB INSTRUCTION
JERROR S0B BRANCHED

§§OB SHWOULD NOT BRANCH
IGET STATUS CONTENTS
JSTATUS = 81

JERROR STATUS WORD CHANGED

JLOAD PSW
160 DO S0B INSTRUCTION
JERROR SOB BRANCHED

}S0B SHOULD NOT BRANCH
JGET STATUS CONTENTS
JSTATUS = $2

JERROR STAYUS WORD CHANGED

1LOAD PSW ,
1G0 DO SOB INSTRUCTION
JERROR SOB BRANCHED

1SOB SWOULD NOT BRANCH
JGET SYATUS CONTENTS
ISTATUS = 13

JERROR STATUS WORD CWANGED



po2184
002106
p@2112
2g212p
gg2122
2p2124
002126
2@2130
222134
002149
p@R142
002144

82146
2R2150
202154
pg2162
002164
p@166
202170
gg2172
BB2176
002202
002204
gp2206

202219
pg2212
BR2216
p@2224
8@2226
202230
202232
202234
202240
p@2244
0092246
gg225¢

g@2252
pE2254
002260
P02266
pR2270
g@2272

200024
200014

2108721

g12702
912767
2pe402
2gopeo
gpa4ay
077203
216720
p22700
2041404
2Qee00
000240
pgapas
ggepLs

210702}
212702
212767
200402
ogopgoe
epo47
77223
216720
022700
001404
eeopop
oep240
ege02é
PRoRLe

010704
g1270¢2
gL2767
20402
Pgooae
goo407
077203
ai6700
p22700
ogL40y
egopap
ogo24e
ogop27
opeeL?

210701
gi2702
212767
200402
opepep
opo4cy

200001
P00Pi4 179656

175642
opoRL4

ppogal
PRO0OL5 175614

175600
Po0R215

002001
pO0016 175552

175536
pP0oRLe

poeoney
2020217 175540

T24A1

T24AA1
T2481

T24D}

T23A8

T25AA1

T238B1

T2501

T26A1

T26AAL
T268B1

T2601

T27A1

TR74AAI

caCel
NaNei

SCOPE
MOV
MOV
BR
HLT
BR
soB
MoV
CMP
BEQ
HLT
NQP
CuCel
NaNey

SCOPE
MOV
Mav
B8R
HLT
BR
$08
MOV
CMP
BEQ
HLT
NOP
CuCel
NaNed

SCOPE
MOV
MoV
BR
HLT
BR
sQ8
MOV
CMP
BEQ
HLT
NQP
CsCel
NuNed

SCOPE
MOV
MOV
BR
HLT
B8R

-

ggEC-ll-DCKaa-A POP{1/23+11745 S0B INST TEST MACY11,606 17=FFBa72

#i,%2
#14,PSH
T24B

T24D

%21 T24AA
PSW, %0
#14,%0
Y

#1,%2
#1%,PSW
7258

T250

%2)T25AA.

PSW,X0
#15,%0
o4

#1,%2
#16,PSW
Y268

T2640D

%1 T26AA
PSW,%0
#16,%X0

#L,X2
#17,PSW
T278

T270

23146 PAGE 9

JLOAD PSW
1GO DO SOB INSTRUCTION
JERROR SO0B BRANCHED

1SOB SHOULD NOT BRANCH
JGET STATUS CONTENTS
JSTATUS = 14

JERROR STATUS WORD CWANGED

JLOAD PSW
§G0 DO SOB INSTRUCTION
JERROR SOB BRANCHED

{SOB SHOULD NQT BRANCH
1GET STATUS CONTENTS
ISTATUS = 45

YERROR STATUS WORD CHANGED

ILOAD PSW _
160 DO SOB INSTRUCYION
JERROR SOB BRANCHED

1S0B SHOULD NOT BRANCH
JGET STATUS CONTENTS
ISTATUS = 16

JERROR STATUS WORD CHANGED

1LOAD PSW-
160 DO SOB INSTRUCTION
JERROR SO0B BRANCHED



géaggic'liﬂDCKBB'A POPL{1/25=11/45 S0B INSY TEST MACY11,6086 17=FEBa72

p02274
pp2276
pp23ge
pp230es
pR231p
pp2312

PP2314
202316
B@2322
pPP233p
092332
802336
eg2342
0P2344
2g2346
p@2359
ppess2
22354

202356
292360
802364
0g2372
092374
02400
002404
202406
002410
PpP2412
0g2414
002416

292429
pg2422
202426
202434
202436
22442
Ba2446
202450
002452
202454
202456
002460

®

977203
016720
0227080
201401
opeoee
opo240
000030
200020

op0009

2107084
012702
212767
000407
gL6700
022700
201404
2p0000
pRo40e
p77240
ppopoe
opo240
200033
2poeoy

010703
012702
012767
200407
236700
p22700
ooL404
poopeR
ogo402
77210
opegee
200240
oPoP32
ogeeae

210704
232702
212767
ego4e?
016720
pa22700
201404
poopep
200402
877240
000000
200240

175474
oeooLy

gooeee
pedeee

175440
poeoeR

gpedpe
ogoeel

175376
pooapl

peoge2
p022e2

175334
oooRee

175446

175404

173342

12781

T2701

Nag

soB X2, T27AA
MoV PSW, %@
CMP #17,%0
BEQ o4

HLT

NQP

CaCel

NENey

23146 PAGE 18

ySOB SHOULD NOT BRANCH
JGET STATUS CONTENTS
ISTATUS & 47

JERROR STATUS WORD CHMANGED

JTEST THAT SOB DOES NOT AFFECT THE CONDITION CODES WHEN S0B BRANCHES),

T30AIL

TIGAAIL

T30B1
T3001

TILAL

TILAAL

T31B1
T3101

T32A1

TI2AAL

T32B1
T3201

SCOPE

MOV #2,%2
MOV #0,PSW
BR 7328
MOV PSW, X0
CMP #0,%0
BEOQ T30D
HLT

BR 7300
s08 %, TIBAA
HLT

NQP

CeCel

NEN+31

SCOPE

MOV #2,%2
MOV #4)PSHW
BR T3i8
MQVv PSW, %2
CMP #1,%2
BEQ T340
HLT

BR T30
so8 %2)T3ILAA
HLT

NQP

CaCel

LLES S

SCOPE

MOV #2,%2
MOV #2,PSW
BR T328
MOV PSW, %0
CMP #2,%0
BEQ 7320
HLT

BR 7320
so0B X2, T3I2AA
HET

NQP

1SET UP SOB TQ BRANCH
J1LOAD @ INTO STATUS WORD
1G0 00 SOB INSTRUCTION
JGET STATUS WORD CONTENTS
ISTATUS = 07

JERROR STATUS WORD CHANGED

1§08 SHOULD BRANCH
yS0B FAILED TO BRANCH

13ET UP S0B TO BRANCH
JLOAD 1 INTO STATUS WORD
§GO DO SOB INSTRUCTION
JGET STATUS WORD CONTENTS
JSTATUS = 17

JERROR STATUS WORD CHANGED

1§08 SHOULD BRANCH
JS0B FAILED TO BRANCH

1SET UP SQB TO BRANCH
§LOAD 2 INTO STATUS WORD
1G0 DO SOB INSTRUCTION
JGET STATUS WORD CONTENTS
1ISTATYS = 27

JERROR STATUS WORD CHANGED

1508 SHOULD BRANCH
1508 FAILED TO BRANCH



MAIND
DCKBB

%C-li-DCK?E-A PDP11/28=11/45 SOB INST TEST MACY11,606 17<FgBe72 23146 PAGE 11

0R2462
002464
202470
0@2476
0@asep
2p2504
202510
2@g2512
2514
pR2516
2@2520
pR2522

P@2524
802526
#@2532
202540
p@E2542
992546
pR2s52
002554
202556
2092560
202562
P@2564

292566
2025780
202574
2p26022
0p2604
pQ2610
002614
PR2616
202620
2p2622
002624
pR2626

go2630
202632
202636
802644
PR2646
292652

290033

200003

eie7e}
g12702
042767
2gp4e7
16700
pr2700
004404
0popoR
2p04e2
77240
29000e0
00240
Qo034
200004

21027021
042702
042767
opn407
216700
822700
001404
oRegep
opo4n?
877240
200000
200240
200035
Ppeoos

218704
242702
212767
200407
216700
p22700
201404
poooee
pPe4ce
877240
eoeeo0D
000240
2000836
eoepo6

107024
pl27oe
212767
oge40?
236700
0227090

peoge2
poo2e3

173272
002003

poogge
000004

175230
pRooo4

pRooe2
200005

175166
o0oRs5

poo0nR
pooRes

175124
go0gp6

175300

175236

173174

175132

TI3AL

T33AAL

73381
T33014

T34A1

T34AAI

T34B1
T3401

TISAL

TISAAY

T3581
T3S0

TI6AL

TI6AAI

CsCel
NsN+y

SCOPE
MOV
MoV
BR
MOV
CMP
BEQ
HLT
BR
s0B
HLT
NOP
CuCey
NeN+y

SCOPE
MOV
MOV
BR
MOV
CMP
BEQ
HLT
BR
s08
HLT
NQP
CuCel
NsNey

SCOPE
MOV
MQV
BR
MOV
CMP
BEQ
He T
BR
soB
Wl T
NOP
CeCey
NeNey

SCOPE
MQV
MOV
BR
MoV
CMP

#2,%2
#3,PSW
T338
PSW, %0
#3,%0
7330

T33D
%2, TI3AA

#2,%2
#4,PSW
T348
PSW,X@
#é, X0
T340

T340
X2 T34AA

#2,%2
#5,PSKW
7358
PSW,%Xp
#5,%0
T3S0

T350
%X2)T3IBAA

e, %2
#6,PSW
T368

PSW, %0
#6,%0

JSET UP SOB TO BRANCH
JLOAD 3 INTO STATUS WORD
}GO NO SOB INSTRUCTION
JGET STATUS WORD CONTENTS
ISTATUS = 37

JERROR STATUS WORD CHANGED

}S0B SWOULD BRANCH
1SOB FAILED TO BRANCH

JSET UP SOB TQ BRANCH
FLOAD 4 INTO STATUS WORD
160 DO SOB INSTRUCTION
JGET SYATUS WORD CONTENTS
1STATUS = 47

JERROR STATUS WORD CHANGED

1S0B SHQULD BRANCH
1SO0B FAJLED TO BRANCH

JSET UP S0B TO BRANCH
JLOAD % INTO STATUS WORD
1GO DO SOB INSTRUCTION
JGET STATUS WORD CONTENTS
JSTATUS = 57

JERROR STATUS WORD CHANGED

1S98 SHOULD BRANCH
1808 FAILED TO BRANCH

JSET UP SOB TO BRANCH
SLOAD 6 INTO STATUS WORD
§GO DO SOB INSTRUCTION
JGET STATUS WORD CONTENTS
JSTATUS = 62



M
s}

e&gggc-tt-DCKEB'A POP{1/28=11/745 SOB INST TEST MACY11,606 17«FEBe72 23146 PAGE 12

222656
202660
BR26s2
202664
22666
0g2670

292672
2092674
og2702
pR2706
pparie
002714
2092720
a2
02724
0@2726
202730
p@2732

22734
202736
2g2742
202750
p@ays2
802756
egare2
002764
2p2766
292770
pgar2
0082774

p@2776
P03000
223004
283012
203914
Po3Ince
Pe3024
0030826
093030
Pg3g3e
203034
203036

«

201404
2poo0Q
PQo402
2772410
roepoe
200240
gQeR37
2020027

gL2783
g12702
812767
ope407
n416700
022700
201404
opoooR
2p0402
277240
P0o000
200240
200040
opogLe

210703
pi2702
212767
ope427
16700
222700
201404
opepop
opo402
277210
opeooe
200249
200043
2@eoLl

pLe70y
212702
212767
ope4n?
216700
022700
201404
2oepo0
2p0402
277240
opoeoe
200240
000042
200012

poogaz
200007

175062
pocep7

poooo2
pRooLe

1750280
oQeeLo

p00002
pP0e91Y

174786
00211

175070

175826

174764

73681
T36D4

T3I7A1

TI7AML

T37B1
T3I701

T404A1

T4GAA|

T428B1
T4001

T4L AL

T41AAI

T448B1
T4401

BEQ
HLT
BR
s0B
HLT
NOP
CsCel
NENey

SCOPE
MoV
MQV
BR
MOV
CMP
BEQ
HLT
B8R
§S08
HL T
NQP
CuCa+l
NSN+1

SCOPE
MOV
MOV
BR
MOV
CMP
BEQ
HLT
BR
s0B
HLT
NOP
CuCel
NaNel

SCOPE
MOV
MOV
BR
Mov
CMP
BES
WL T
BR
sQ8
WL T
NOP
cuCel
NsN+i

T360D

T360
X2)TI6AA

#2,%2
#7,PSW
1378
PSW, %0
#7,%0
7370

T370
%X2)T37AA

#2,%2
¥10,PSW
T428
PSW, %P
#10,%0
T40D

T400
X2)T4PAA

#2,%2
#14,PSW
T448
PSW, %0
#14,%0
T4410

T4LD
X2)T4LAA

fERROR STATUS WORD CHWANGED

1SOB SHOULD BRANCH
180B FAILED T0 BRANCH

JSET UP SOB TO BRANCH
ILOAD 7 INTO STATUS WORD
1G0 DO SOB INSTRUCTION
IGET STATUS WORD CONTENTS
ISTATUS = 77

JERROR STATUS WORD CHANGED

yS0B SHOULD BRANCH
§SOB FAJLED TO BRANCH

ISET UP SOB TO BRANGH
1LOAD g INTO STATUS WORD
1GO DO _SOB INSTRUCTION
IGET STATUS WORD CONTENTS
ISTATUS = 127

JERROR STATUS WORD CHANGED

§SO0B SHOULD BRANCH
1S0B FAILED TO BRANCH

JISET UP SQ0B TO BRANCH
1LOAD {1 INTO STATUS WORN
§GO DO SOB INSTRUCTION
JGET STATUS WORD CONTENTS
ISTATUS = 117

JERROR STATUS WORD CHANGED

yS0B SHOULD BRANCH
1S6B FAJLED TO BRANCH



Ce11-DCK3B~A PDP{1/25~11/45 SOB INST TEST

PO3040
'LXI'LY]
203046
293p54
00356
2093p62
2R3p0e6
203070
2083072
DR3n74
003076
203120

pp3L02
203104
PB3110
293116
203120
PR3L24
BE3130
PR332
293134
BR3136
PO3140
203142

?O3144
203146
293152
003160
203162
P03186
03172
203174
203176
203200
203202
p03204

pR3206
2Q3212
PR3214
B@3222
803224
293232
203234
P@3236
223240

210704
212722
212767
o407
216700
222700
201404
000000
agn4a2
877240
opopae
Q0240
PPORAS
Qo013

2107231
232702
212767
200407
216720
222700
201404
ogopeR
poR402
R77240
peopao
poEo240
ogoo4s
200014

210704
0127072
p12767
o407
pL6700
022700
PPL404
Qo0
opp402
277240
opoo0eR
2002490
20045
ngegLs

0107023
212702
g12767
2ee407
016700
g22720
0084404
200000
7oR402

202002
p00342

174744
P00212

pRoee2
POoDLd

174652
PoRYLI

pRogp2
peooL4

174640
P0001 4

000092
000043

174546
pooE4Ls

174722

174660

174646

1745%4

T42A1

T42AA1

T42B1
T4201

TA3AL

T43AA}

T4381
T4301

T444A1

T44AA}

T4481
74401

T45A1

T45AA |

MACY141,606
SCOPE

MOV #2,%2
MOV #12,PSW
BR T428
MOV PSW, %@
CMP #12,%0
BEQ T420
WL T

BR T420
sQ8 %X2)T42AA
HLT

NQP

CuCel

NsNey

SCOPE

MOV #2,%2
MOV #43,PSW
BR T438
MOV PSW, %@
CMP #13,%0
BEQ T43D
HL T

BR T43D
S0B %2, T43AA
HLT

NOP

CeCe+]

NeNed

SCOPE

MOV ¥2, %2
MOV #14,PSW
BR T448
MOV PSW, %0
CMP #14,%0
BEQ T44D
HLT

BR T44D
so8 %2)T44AA
WL T

NQP

CeCel

NON+Y

SCOPE

MOV #2,%2
MOV #15,PSW
BR T458
MoV PSW, %0
CMP #15,%0
BEQ T45D
WL T

BR 745D

)

17«FEB=72

23146 PAGE 13

JSET UP SOB TO BRANCH
fLOAD i2 INTO STATUS WORD
1G0 DO SOB INSTRUCTION
JGET STATUS WORD CONTENTS
ISTATUS = 122

$ERROR STATUS WORD CHANGED

1S0B SHOULD BRANCH
1S08 FAILED TO BRANCH

JSET UP SQB T0 BRANCH
JLOAD {3 INTO STATUS WORD
1GO DO SOB INSTRUCTION
JGET STATUS WORD CONTENTS
JSTATUS = 137

JERROR STATUS WORD CHANGED

1S0B SHOULD BRANCH
}SOB FAILED TQ BRANCH

1SET UP S0B TO BRANCH
JLOAD 14 INTO STAYUS WORD
1GO DO SOB INSTRUCTION
JGET STATUS WORD CONTENTS
ISTATUS = 147

JERROR STATUS WORD CHANGED

1S0B SHOULD BRANCH
)SOB FAILED TQ BRANCH

JSET UP SOB TO BRANCH
JLOAD I5 INTO STATUS WORD
§G0 DO SOB INSTRUCTION
JGET STATUS WORD CONTENTS
JSTATUS = 157

JERROR STATUS WORD CHANGED



MAINDEC=11«DCKBBeA PDPL1/25+11/45 SOB INST TEST MACY11,606 17«FEBe72 23146 PAGE 14

DCKBBA

2@3242
PP3244
203246

0p3250
2083252
203256
293264
PR3266
2@3272
223276
293300
23302
23304
pe3306
203340

0093342
PP33i4
293320
2093326
203330
293334
2093340
2@3342
203344
203346
2093350
293382

203334
0g3360
Pp3362
PR3I304
2B3386
293370
293372
293374
293376
293400
Pp3402
PR3I404
03426
083440
0g3412
PP3414
PR3416

®

277210
op0000
0p02490
P0RB46
noeBL6

210704
212702
212767
poR4n?
216700
p22700
204404
P00e00R
o402
077210
000020
200240
neoo4é?
200017

281087031
gy27@2
012767
ooR407
0316700
022720
201404
202000
000402
877210
2e0000
000240
200050
290020

pi12702
200476
po0o477
000000
200000
20o000
gpogoe
ggeeon
2po00e0
P90000
200000
7200000
pooooe
pReRe0
200000
000020
200000

oR02002
00016

174504
200016

pooRa2
200047

174442
poea17

pooone

174542

174450

T4581 s0B X2)T45AA JSOB SHOULD BRANCH

HLT §SOB FAILED TO BRANCH
T45D1 NOQP

CsCel

NeNed
T46A1 SCOPE

MOV #2,%2 JSET UP S0B TO BRANCH

MOV #16,PSW 1LOAD {6 INTO STATUS WORD

BR T468 1GO DO SOB INSTRUCTION
T46AA1 MOV PSW, %@ JGET SYATUS WORD CONTENTS

cMP #16,%0 JSTATUS = 167

BEOQ T46D

HLT JERROR STATUS WORD CHANGED

BR T46D
T4681 $08 %2, T46AA §SOB SHOULD BRANCH

HLT JSOB FAILED TO BRANCH
T46D1 NOP

CeCel

NaN+y
T47A4 SCOPE

MOV #2,%2 JSET UP SOB TO BRANCH

MOV #17,PSW JLOAD $7 INTO STATUS WORD

BR 7478 . 16O 00 SOB INSTRUCTION
T47AAL MOV PSW, %0 §GET STATUS WORD CONTENTS

cMP #17,%0 JSTATUS = {72

BEOQ T470

HLT JERROR STATUS WORD CHANGED

BR T470
T4781 soB8 X2, T47AA 1S0B SHOULD BRANCH

HLT §SO0B FAILED TO BRANCH
T47D1 NQP

CuCey

NaNet
JTEST THAT SOB CAN BRANCH BACK 64, WORDS

MOV #2,%2

BR $0BS §GO TO SOB INSTRUCTION
SOBEND BR END

[} YWITH HALTS

)] JWITH HALTS

[} IWITH WALTS

[ JWITH HALTS

? IWITH HALTS

L) IWITH WALYS

2 IWITH HALTS

2 SWITH HALTS

2 IWITH HALTS

2 IWITH HALTS

2 IWITH HALTS

? JWITH HALTS

) FWITH HALTS

?

IWITH HALTS



C=11=DCK3B=A PDP311/25-11/45 SO0B INST TEST MACY11,606 17=FEBe72

Pp3420
903422
P@3424
233426
223430
203432
93434
003436
2093440
233442
2P3444
PQ3446
203450
P@3452
203454
BP3456
pp346Q
003462
203464
203466
083479
pP3472
203474
203476
203500
003502
003504
293506
P@3510
p@3512
203514
223516
233520
293822
923524
223526
pE353p
2R3532
P@P3534
293536
203540
2093542
03544
293546
203550
203552
203554
083556
093560

0@g3562
223566
203574
203576

20op2R
2Q0R00
200000
200000
goooeR
oQo000
?P0000
700000
20220
2peoer
200000
200000
2p2p00
opoean
2pagop
opopen
2pR00e0
200002
ogooce
epeped
poooeR
ooop0R
pOoRa0
200000
opopop
ogee2e
opooce
egepep
000000
20ee0p
opegeg
PP0020
ogegee
PQcp0oQ
pRopaw
opepeD
00000
opopee
opogoe
opgegee
gpopeo
opapep
2oQ000
o0ep0R
pgooed
ogegoe
ogegee
277277
opegop

ge5267
g26727
pPL402
poBL67

178212
175206

175204

008370

S0BS!

END?

OOV VUV VNIV NN VNN YNNIV O™

v
o
m®

HLT

INC
CMP
BEO
JMP

X2,SO0BEND

ICNT
JONT, #3702
DONE
BEGIN

23146

FWITH
IWITH
IWETH
IWITH
IWITH
JWITH
IWITH
IWITH
JWITH
INTTH
SWITH
IWITH
IWITH
IWITH
JWLTH
INITH
JWITH
IWITH
IMITH
IWITH
IWITH
IWITH
IWITH
SWITH
IWITH
IWITH
IWITH
IWITH
IWITH
IWITH
IWITH
IWITH
IWITH
IW]ITH
IWITH
IWITH
IWITH
IWITH
IWITH
IWITH
IWITH
IWITH
IWITH
INITH
IWITH
INITH
IWITH

PAGE 15

HALTS
HALTS
HALTS
HALTS
HALTS
HALTS
HALTS
HALYS
HALTS
HALTS
HALTS
HALTS
HALTS
HALTS
HALTS
HALTS
HALTS
HALYS
HALTS
HALYS
HALTS
HALTS
HALTS
HALTS
MALTS
HALTS
HALTS
HALTS
HALYS
HALTS
HALTS
HALTS
HALYS
HALTS
HALTS
HALTS
HALTS
HALTS
HALTS
HALTS
WALTS
HALTS
HALTS
HALYS
WALYS
HALYS
HALTS

SBRANCH BACK 64, WORDS
JERROR DID NOT BRANCH

J INCREMENT PASS COUNT

¥GO TO DONE 1F 1200 PASSES COMPLETED
JRESTART TESY



MAINDEC=11~DCKBB=A POP{1/2%%11/45 SOB INST TEST MACY11,606 17=FEBw72

DCKBBA

223602
203610
PP3614
P2I6L6
0p3622
203624
003626
PP3630
PR3632
203634

012767
1095767
100373
013702
pE1424
PR4712
Ppo240
Boe24p
000240
epa167
ereool

peeea?
1737%0

pRoa42

175142

173756 DONE!

DONELI

MOV
TSTB
BPL
MOV
BEQ
JOR
NOP
NOP
NOP
JMP
END

#7,TPBUF
TPCSR
L
Ne2,%2
DONEY
7.¢2)

START

»

23146 PAGE 1%

IRING BELL

1GET DECTAPE MONITOR RETURN ADDRESS
100 NOT RETURN IF (42)s3p

JRETURN TQ DECTAPE MONITOR

JACT11

JOVERLAY

JAREA

@



MAINDEC»11~DCKBBeA POP{1/2511745 SOB INST TEST MACY14,626 17=FEBe72

DCKBBA

BEGIN
DONEY
N
S0BS
TPBUF
o€
T1c
Y4080
7140
1120
743D
7140
T48D
T160
T4i7D
T20AA
T24AA
T22AA
T23AA
T24AA
T25AA
T26AA
T27AA
38
T300
T340
1320
733D
134D
T35
136D
7370
T4OAA
T4LAA
T42AA
T4IAA
T44AA
T45AA
T46AA
T47AA
TSAA
165

ERRORS DETECTED!

SYMBOL TABLE

pR1oE6
p03634
s fopee?
pR3556
5 177566
pR1054
001102
PR1314
pR1356
g01422
P01462
291524
21566
201632
pe1672
pnL712
081754
222016
pe206?2
pp2122
po2164¢
02226
pe2272
poLL26
P02354
202416
pR2469
202322
pR2s564
pR2626
pR2672
pR2732
p02752
223014
pR3056
pa3L22
903162
Po3224
po3266
P03332
201166
pai123?2
s 003640

C 3
END
PSW ]
START
TPCSR =
TiA
T40A
Ti3A
Ti2A
Ti3A
T144A
Ti5A
T16A
TL7A
TeA
T288
7248
Te28
T238
Y248
7258
TR68
7278
TS2A
T31A
T32A
T33A
T34A
TI5A
TI6A
TI7A
T4A
T408
T448
7428
T438
T44B
T458
T¢68
T478
758
T7A

200050
pa3Is62
177776
poi002
177564
p01056
001254
P01316
001360
001422
201464
P01526
peLs70
po1632
81102
Po1716
001760
902022
002064
pazi26
po217e
202232
pR2274
202314
22356
202420
002462
pe2%24
PB2566
002630
pp2672
p01140
g02770
203032
B30T 4
PO3136
ge320p
p03242
203304
003346
poi202
peL232

DISPLA
HLT
SCOPE
STKPTR
TOA
T1AA
TLBAA
T11AA
T12AA
TL3AA
TL4AA
TL5AA
T16AA
T47AA
128
7200
724D
T220
123D
T24D
125D
1260
1270
TIBAA
TILAA
T32AA
TIZAA
T34AA
TISAA
TI6AA
T37AA
748
T40D
T440
T420
743D
T44D
T450
T460
T47D
T6A
T78

177570
200009
2107021
202500
801036
201064
001272
PRL334
001376
001440
p21502
PP1544
201608
021650
Pe1114
291734
2081776
002042
po2102
002144
002206
082252
002312
Pe2332

202374 .

002438
202520
202542
202604
P02648
002740
go1152
002774
P03038
203100
Pe3L42
203204
003246
203310
p03352
201204
001244

23146 PAGE 17
NONE 203602
ICNT pe1209
SQBEND  @@3362
SWR = 177570
T@8 p01250
TLR 2210876
T108 221276
rii8 p01340
T128 pR1422
T138 ppLa44
T148 go1506
T153 pe1550
T14B 001632
T178 PO1654
T20A P01674
T21A pBL736
T22A p020820
T234A 202042
T24A pR2104
T2%A po2146
t26A po2210
T27A p22252
TIA po1120
t308 ee2350
1348 g@2442
1328 pr2454
1338 po25146
1348 po2560
T358 pR2622
7348 g02664
T378 002726
T4CA PE2734
T4iA po2776
T42A o3240
T43A pa34p2
T44A PA3L44
T45A go3206
T46A pe3250
1494 P332
TSA po1156
T68 201216
UBREAK = 177778



MAINDEC*11<DCKBC=A PDP{1/25~11/45 XOR INST TEST MACY11,606 17=FEBe72 23147 PAGE §

OCKBCA
1

opegeo
200002
00004
pReavs
0002010
Pp0eR12
200014
opeoLe
22020
poeg22

O

2107034
oocp0oR
177776
177770
177564
177566
177570
177570

peese0

200000
002002
200000
000226
200000
200012
000000
200016
202000
200022
200000

+TITLE MAINDEC=11eDCKBCw~A PDP{1/25«11/45 XOR INST TEST
NLIST MD,MC,CND,SEQ

WLIST ME

L ABS

JTEST DCKBCA~ TEST OF THE XOR INSTRUCTION AND INCLUDES DATA CHECKS AND
1CONDITION CODES CHECKS

) THE XOR INSTRUCTION 1S ESSENTIALLY A /HALF ADD/ INSTRUCTION,!E, IF
) THE CORRESPONDING BIT IN THE SOUREE AND DESTINATION ADDRESS ARE THE
JSAME THE RESULTY N DESTINATION ADDRESS IS A /@f [N THAT BIT POSITION
JAND, IF THE CORRESPONDING BITS ARE DIPFERENT THEN THE RESULT 1S A 1
JIN THAT BIT POSITION, THE CONDITION CODES ARE AFFECTED AS FOLLOWS)
JIZ/ ]S SET ]F THE RESULT IS = TO 2,0THERWISE IT IS CLEARED
jINY IS SET IFP YHE RESULT !S NEGATIVE,CLEARED IF POSITIVE

19CH IS UNCHANGED

)4v/ 1S CLEARED

JFUNCTIONS NOT TESTED BY THIS PROGRAM

141 THAT XOR WILL EXPLICITLY CHANGE THE USER/EXEC BIT IN THE STATUS WORD,
ISTARTING PROCEEDURE

! LOAD ADDRESS=209

PRESS START

STACK POINTER IS SET AT 500

BELL WILL RING WHEN TEST IS COMPLETE

SCOPE®D12701 pMOV PC)RY

HLTsHALY

PSWE177776 JADDRESS OF PROCESSER STATUS WORD
UBREAK®177770 JADDRESS OF MICRO BREAK REGISTER
TPCSR=177564 JADDRESS OF TELEPRINTER €SR
TPBUF=177566 1ADDRESS OF TELEPRINTER BUFFER
SWRm177570 JABDRESS OF CONSOLE SWITCH REGISTER
DISPLAY=177570 JADDRESS QF CONSOLE LIGHT REGISTER

josnsnasnsnnvanannnaINITIAL STACK POINTERSOSO0utntnnantsstnsntpnsnpns
STKPTR=@5082 JINITIAL STACK SETTING

<z

~— - we



MAINDEC»11~DCK3C=A PDP{1/25-11/45 XOR INST TEST MACY11,606

DCKBCA

0900924
PER26
200232
ppPR32
PpPRA34
209036
202040
000042
2003044
PARR46
ppeasSe
pp0R52
2000254
200256
280060
pEoRe2
PP0064
02066
0070
90072
000074
peRe’6
P80100
0102
PP0104
PpA106
80110
1 1.FR Y]
P0114
PPRLL6
002120
PeR122
oPRL24
209126
200130
2p0R132
000134
200136
2090140
op0L42
PEAL144
000146
200159
PP0L52
202154
PRR156
opRL6R
P62
PP0104
00166
200170
PPBL72
202174
2028176

ogep26
200p0Q
200032
gpopap
202036
2peoe0
200042
2popeR
opoR46
2pR0oeR
000052
2p00ep
200056
200000
200062
ogacep

200066

200000
000072
goooeo
200076
LI TLLY)
2008102
eR0eR00
2090106
p00000
PE0112
ppegoe
#P@116
000000
200122
LT T.IT.Y]
p0BL26
000220
P00132
#0000
200136
200000
poeL42
200000
200146
200900
290152
pesong
200156
LT
poaL62
egag00
200166
poeR20
200172
e00000
pRR176
P0e000

42
WALT
V42

HALT

—

17=FEBa72

23147

PAGE 2



MAINDEC=11=DCK3C=A PDP{1/25-11/45 XOR INST TESTY MACY14,606

DCKBCA

200200
200202
ppR204
200206
200219
2eR212
200214
202216
2p0220
gEn222
2gn224
209226
292230
208232
200234
oP0236
290249
p@p242
200244
2P0246
292250
200252
200254
280256
2009260
200262
209264
200266
2902279
299272
P@2274
208276
2008300
ppa302
200304
202306
290310
PPO3L2
200314
2092346
202320
pPB322
20324
PPR326
220332
PP8332
PPO3I34
290336
200349
2090342
200344
PIR346
299350
2002352

®

opo202
epooep
pRR226
opop29
gp@212
20ep0eP
200246
000020
o@@222
2pop00
200226
eQeo0D
200232
PoRRoR
200236
200000
pog24e
200000
200246
200000
p00252
op2R00
ago256
opop00
gRe262
ooBR00
oQ0266
pRoooR
pPP272
200000
2008276
2Qesop
290302
poogop
200306
000020
290312
P00000
200316
oQep00
ege3a2
PPeoeR
2Q0326
cpop0oQ
2008332
200000
200336
ogoeeD
208342
2000920
008346
opeeeo
ege3s2
opogep

2
WALT
2
HALT
1 ¥2
HALT
1 *2
HALT
1 $2
HALT
1 %2
HALT
2
HALT
, 2
HALT
1 *2
HALT
| +2
HALT
12
HALT

17<FEB=72

®

23147

PAGE 3
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MAINDEC®11=DCK3C~A PDP{1/25=11/45 XOR INST TEST MACY11,6@6 17~FEBw?72 23§47 PAGE 4

DCKBCA
AP0354 000356 *2
PR0356 000000 HALT
P00360 0RA382 V2
0p0362 0PRROR HALT
200364 0RO3I66 %2
PP0366 000000 . HALT
PpR378 200372 2
PR0372 000000 HALT
PPR374 0ORO3I76 ,*2
Pp0376 0QOQOR HALT
700200 , 9200
202200 0200167 0@R0B576 ) JMP STARTY
opL000Q 8000
201000 0200000 . ICNTI 2 JCONTAINS PASS COUNT
231002 020%067 177772 STARTI CLR ICNTY JCLEAR PASS COUNT
201006 012706 000509 BEGINI MOV #STKPTR, %6 JINITIALIZE SYACK POINTER
POLoL2 016737 177762 177570 MOV JCNT,@#DISPLAY )DISPLAY PASS COUNT
PP4020 032737 p0OQ4p@ 177579 BIT #400,@#SWR JLOAND MICRO BREAK REGISTFR?
001026 001403 BEQ *40
224030 143737 177578 177770 MOVB O#SWR,®4UBREAK JLOAD MICRO BREAK REG WITH SR@e7
200002 SOURCEsX?2
2P0p00 DEST=X@
202000 Y=o
PPLO36 0210701 SCOPE ,
PR4040 0212702 Q0000 MOV #0,SOURCE JMOVE SQURCE OPERAND TO SOURCE
004044 012700 Q00020 MOV #0,DEST jMOVE DESTINATION OPERAND TO DESTINATION
204050 02002%7 ccc
2010952 074200 XOR SQURCE, DES? JXOR SOURCE AND DESTINATION
201054 103003 BCC Y]
PPLR56 0RRQoPY HLY fERROR! CARRY CHANGED
PPL060 10200} BYC Y
opLe62 000p0Q HLT JERROR! V FAILED Y0 CLEAR
001064 020027 0200000 CMP DEST,#2 DEST=0?
221070 0RL40} BEQ cv4
091072 000200 KLY 1@ XOR @ FAILED
pPeReY YaY+l
201074 210703 SCOPE
PPLP76 012702 125282 MOV #125252,S0URCE jJMOVE SOURCE OPERAND T0 SOURCE
024102 212700 4125252 MOV #125252,DEST JMOVE DESTINATION OPERAND TO DESTINATION
291106 0Q0277 s¢eC
PP1119 074200 XOR SOURCE,DESY - }XOR SOURCE AND DESTINATION
203112 103403 BCS Y]
P@1114 000000 HLT JERRORY CARRY CHANGED
PRL116 1P2p0% BYC Y
Pp4120 ©oQopo HLT JERROR! V FAILED TO CLEAR
201122 020027 000000 CMP DEST,#02 jDEST=0?
PP1126 0OPL40Y BEQ )
201130 000220 HLT 1125252 XOR 125252 FAILED
2gegoe YaYel
201132 0210703 SCOPE

B@1134 012702 052525 MOV #052525,SQURCE jMOVE SQURCE OPERAND YO SOURCE



D

201140
21144
081146
2e1150
201152
221154
2@1156
pgL16e
pPL164
paL166

201170
201172
221176
pgL202
PRL204
Pp1206
201210
2@3212
0093214
2091216
91222
0@1224

201226
2@1230
0094234
p@L240
p@L242
0012494
PP1246
pp1250
p@Y252
2091254
B@L260
B@L262

pRL264
P01266
gpia72
201276
201320
2R13P2
BEL304
201306
091310
201312
294316
291329

-

212709
ggR257
274220
103003
200000
102001
poceoR
220027
001401
peo0op

0000023
010701
012702
8127e0
290277
274200
103403
opeoco
19200}
ooopoR
g2p027
001403
200000

200004
010701
p12702
812700
epe257
074200
103003
peooee
192021
200000
020027
201404
ogepgep

020005
240703
212702
912700
090277
074200
103401
000000
102001
290000
s20027
201401
000000

2pap0o6

252525

peoopo

177777
177777

o200

12%252
p52525

177777

p52525

1282582

177777

MOV
cce
XOR
BCC
HLT
BveC
HLTY
CMP
BEO
HLT

YaYel
SCOPE
MOV
MOV
sce
X0OR
BCS
HLT
BYC
HLT
CMP
BEQ
HLT

YsYel
SCOPE
MOV
MOV
cce
XOR
BCC
HLT
ave
WLT
CMP
BEQ
WLT

YsYel
SCOPE
MOV
MOV
scce
XOR
BCS
HL T
BYyC
HLT
CMP
BE®
HLT

YeY+l

Me!ggﬁc-il-DCKBC-A PDP11/25~11/745 XOR INST TEST MACY11,606 17=FEBe72 23147 PAGE 5
KBCA

#052525,DEST JMOVE DESTINATION OPERAND TC DESTINATION

SOURCE, DESY fXOR SOURGE AND DESTINATION
Y )

) JERROR! CARRY CHANGED

+4

' JERROR! V FAILED T0 CLEAR
DEST,#8 1DEST=0?

4

' 1282528 XOR 252525 FAILED

#e1,SOURCE JMOVE SQURCE OPERAND T0 SOURCE

#el,DEST fMOVE DESTINATION OPERAND TO DESTINATION
SOURCE,DEST 1XOR SOURGE AND DESTINATION

+4

' JERROR! CARRY CHANGED

Y

JERROR! V FAILED Y0 CLEAR
DEST,#2 jDEST=R?
4

y=1 ¥OR 4 FAILED

#125252,S0URCE JMOVE SOQURCE OPERAND TO SOURCE
#052525,0EST JMOVE DESTINATION OPERAND TO DESTINATION

SQURCE.DEST }XOR SOURCE AND DESTINATION
+4

. JERROR! CARRY CHANGED

4

' 1ERRORY V FAILED Y0 CLEAR
DEST,#=1 JDEST=ey?

Y

1125252 XQR 252525 FAILED

#0@52525,S0URCE JMOVE SOURCE OPERAND TO SQURCE
#125252,DEST - JMOVE DESYINATION OPERAND TO DESTINATION

SOURCE  DEST JXOR SOURCE AND DESTINATION
4

' JERROR! CARRY CHANGED

4

' JERROR] V FAILED TO CLEAR
DEST, #=1 JDESTEe1?

: ,

1252525 XOR 125282 FAILED

o

Vs
\.
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224322
001324
2Q1330
004334
2@1336
201340
P@L342
004344
pRL346
201350
PR1354
221356

201360
001362
P2L366
B@L372
201374
821376
0041400
004402
201404
201406
pgL4l2
801434

201416
001420
204424
201432
01432
001434
901436
2341440
001442
201444
294450
801452

201454
204456
201462
001466
204470
201472
904474
201476
P24500

210721
232722
212700
ope257
074200
10300}y
gogo0ep
102003
202000
p2op27
P@1401
200000

goega?
210704
p12702
012700
egea7?
274200
103403
goaene
192003
eQegop
220027
7204403
opsoee

200040

gQep0l
p10704
212702
212700
200237
p74200
103004
goopee
102003
oQa020
gzepay
2R1404
ogeeo0

gooeLl
ogeee?
21070}
212702
gia70@
ogR277
874200
10340}
200000
102004
egeoR0

100000
100001

poeo01

277777

100000

177777

020203
poeooy

peopoP

pooap2
200002

Nsg

SCOPE
MOV
MOV
cee
XOR
BCC
HLT
BYC
HLT
cMP
REO
HLT

ysy+1
SCOPE
Mov
MOV
sCC
XOR
BCS
HLT
8ye
HLT
CMP
BE®
HLTY

YsY+l

SCOPE
MOV
MOV
cce
XOR
8CC
ML T
BvVCe
HLT
cMP
BEQ
HLT

YsYel
NaN+N
SCOPE
MOV
MOV
SCC
XOR
BCS
WLT
gve
HLT

#100000,S0URCE 1MOVE SQURCE OPERAND TO SOURCE
#10009%,DEST JMOVE DESTINATION OPERAND TO DESTINATION

SQURCE,DEST JXOR SOURCE AND DESTINATION
4

! JERRGR! CARRY CHANGED

4

! JERROR! V FAILED TO CLEAR
DEST,#% jDEST=1?

|*4

jirenge XQR 400031 FAILED

#77777,SOURCE IMOVE SOURCE OPERAND TO SOURCE
#109000,0ES8T JMOVE DESTINATION OPERAND TO DESTINATION

SOURCE,DEST JXOR SOURGE AND DESTINATION

.4

' JERROR! CARRY CHANGED

*4

' JERROR! V FAILED TO CLEAR
DEST, #=1 iDESTze1?

4 .

' §79777 XOR 120828 FAILED
#1,)SOURCE JMOVE SOURCE OPERAND TO SOURCE
#1,0EST 'MOVE DESTINATION OPERAND TO DESTINATION
SOURCE DEST JXOR SOURGE AND DESTINATION

L]

]

JERROR! CARRY CHANGED
xY!
' JERROR! V FAILED TQ CLEAR
DEST,#2 )DESTa@?

R
11 XOR 1 FAILED
#2,SOURCE fMOVE SQURCE OPERAND YO SOURCE
#2,0EST yMOVE DESTINATION OPERAND 7O DESTINATION
SOERCEIDEST JXOR SOURCE AND DESTINATION
. :
L]

JERROR! CARRY CHANGED
4
' JERRORY V FAILED 710 CLEAR
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o502
201506
eg1510

2@1512
221514
2094520
201524
201526
204530
2094532
001534
201536
224540
001544
201546

201550
2@L552
2R1556
203562
BaL564
B@L566
201570
2@4572
001574
291376
BRLed2
PgL604

001606
PgL610
Bo1614
801620
e@L622
0831624
201626
221630
pRL632
PEL634
ogL640
pPL642

PBL644
201646
21652

220027
opL4a]
np0000

oPeeLe
200004
10721
212702
012729
290257
074200
193001
PpoooD
102901
002000
geewo27
204401
200000

200043
800010
2107023
212702
212700
geo277
874200
103401
200000
102004
Q0000
ozgep27
BoL401
goeooe

200014
pgeoao
210703
g12702
g12700
2008257
P74200
103003
gogo0p
10200}
2gooe0
220027
2oL401
2po000

2p0015
PpoR40
210704
212702
212700

oRooe9

poeoz4
pooRo4

00000

P00a40
poooLe

poRRRe

pReg2p
ppoo2e

pooR4p
pooo4D

CMP
BEQ
HLT

YsYel
NeN+N
SCOPE
MOV
MOV
cce
XOR
BCC
HLT
BvVe
HLY
CMP
BEOQ
HLT

YsY+l
NaN&N
SCOPE
MoV
MOV
sce
XOR
BCS
HLT
BvC
HLT
CMP
BEQ
HLT

YeYel
NaNeN
SCOPE
MOV
MoV
cec
XOR
BGC
HLY
BYC
ML T
CMP
BEQ
HLT

YeY+l
NsN+N
SCOPE
MOV
MOV

DEST,#2 ;DEST=H?

1 %4

12 XOR 2 FAILED
#4,SOURCE JMOVE SQURCE OPERAND TO SOURCE
#4,DEST 3MOVE DESTINATION OPERAND TO DESTINATION
SOURCE,DES? §XOR SOURCE AND DESTINATION
4

JERROR! CARRY CHANGED

Y

' JERROR! V FAILED T0 CLEAR
DEST,#2 JDESTsA?

KL
14 XOR 4 FAILED

#10,SOURCE JMOVE SOQURCE QPERAND TO SOURCE
#10,0EST JMOVE DESTINATION OPERAND TO DESTINATION
SOURCE ) DES?Y §XOR SOURCE AND DESTINATION

4

' JERROR! CARRY CHANGED

1)

JERROR! V FAILED T0 CLEAR
DEST,#2 jDEST3l?

¥
§1@ XOR 10 FAILED

#20,SOURCE JMOVE SOURCE OPERAND TO SOURCE

#20,DESTY JMOVE DESTINATION OPERAND TO DESTINATION

SOURCE,DEST §XOR SOURCE AND DESTINATION

*4

' JERROR! CARRY CHANGED

o4

JERRORY V FAILED TO CLEAR
DEST,#2 3DEST30?

Y
128 XOR 2@ FAILED
#40,SOURCE JMOVE SOURCE OPERAND TO SOQURCE

#40,0EST JMOVE DESTINATION OPERAND TO DESTINATION

e

@



MAINDEC®11<DCK3C»A PDR{1/25+11/45 XOR INST TEST MACY11,606 17-FEBe72 23147 PAGE 8

DCKBCA

PPL656
201660
BgL662
P@L664
001666
BoLe7R
201672
01676
21700

201702
204704
201710
201714
291716
201720
281722
2B724
284726
204730
221734
201736

221740
Bpi742
B@4746
2g4752
2Q1754
BREL756
201760
p@L762
21764
201766
v@Lr7e
21774

2p1776
0p2009
292004
092010
p@2pi2
PR2014
peegLe
0092020
e@2p22
002024
go2p30
2920832

200277
274200
103423
ogpoee
102004
opeg0ep
peee27
2p140%
200020

2gagLe
2001020
210703
212702
212700
oga287
B74200
103001
200000
102023
200000
g2poe?
P01401
200000

e0ooL7
oR0200
212701
212702
212700
200277
274200
103401
0000020
1020084
pegpee
820027
204403
opooep

ogep20
092400
2108703
012702
912700
002257
074200
103001
002000
102001
92000
020027
2044034
002002

200000

opeLo0
pR0L00

o000

000200
poo200

poo4p2
pRR4pQ

scc
XOR
BCS
HLT
8vC
HLT
cMP
BEO
HLT

YsYel
NaN&N
SCOPE
MOV
MoV
ccc
XOR
BCC
HLT
BVC
HLT
CMP
BEO
HLT

YsYed
NsNeN
SCOPE
MOV
MOV
SCC
XOR
BCS
HLT
syceC
HLT
CMP
BEQ
HLT

YysYel
NsNeN
SGOPE
MOV
MOV
cce
XOR
BCC
HLT
BYC
HLT
CMP
BEQ
HLT

-~

SOURCE,DEST ) XOR SOURCE AND DESTINATION
|*4

JERROR! CARRY CHANGED
Y

JERROR! V FAILED TO CLEAR
DEST,#2 3jDEST=2?
*4

J40 XOR 49 FAILED

#1080, SOURCE JMOVE SOURCE OPERAND TO SOURCE

#100,DEST JMOVE DESTINATION OPERAND TO DESTINATION
SOURCE,DEST JXOR SOURCE AND DESTINATION

R

JERROR! CARRY CHANGED
.4
' JERROR! V FAILED 70 CLEAR
DEST,#2 JDESTa0?
L]

11808 XOR 120 FAILED

#200,SO0URCE IMOVE SOQURCE OPERAND TO SOURCE

#200,0EST YMOVE DESTINATION OPERAND TO DESTINATION
SOERCE.DEST §XOR SOURCE AND DESTINATION

.

JERROR! CARRY CHANGED
4
' JIERRORY V FAILED 7O CLEAR
DEST,#2 )DESTan?

Y
200 XOR 202 FAILED
#4090, SOURCE JMOVE SOURCE OPERAND 70 SOURCE
#400,DEST JMEVE DESTINATION OPERAND TO DESTINATION
SOURCE) DEST JXOR SOURGE AND GESTINATION
"
' JERROR! CARRY CHANGED
Y

JERRGR! V- FAILED TO CLEAR
DEST,#2 jDESTRO?
Y

1400 XOR 400 FAILED



MAINDEC»11«DCKBC=A PDP{1/25-11/45 XOR INST TEST MACY11,606 17=FEB=72 23147 PAGE 9

pCkBCA

002034
292036
pg2p42
202046
202050
p@g2@52
0@2054
220956
002060
pR2062
PP2066
202070

ep2972
202074
202100
0092104
02106
292110
peg21i2
p@2114
0@aLle
p@2120
p@2124
p@2126

202139
292132
292136
p@2142
002144
p@2146
Pg2150
pp2152
022154
0p2136
p@2162
pR2164

022166
292179
202174
002200
202292
Po2204

®

209021
2e100e0
2107023
212702
212700
290277
274200
103423
roo000
102023
290000
g2eg27
201403
oooooR

o922
2020020
210701
g12702
012700
000287
074200
103001
200000
102001
000000
g20027
2P1421
opooop

020023
004200
0107031
912702
212700
000277
874200
193401
000200
102003,
000000
020027
001403
000000

ooe024
piee00
210701
2127082
232700
oe@237
274200
193003

g0L000
201000

poooe0

p020p0
002000

ppodod

oR4000@
p04000

pieopP
pleooe

YsYel
NaN+N
SCOPE
MoV
MQV
scC
XOR
BCS
HLT
BYC
HLT
CMP
BEQ
HLT

YaYel
NsN+N
SCOPE
MOV
MOV
cce
XOR
BCC
HLT
BYC
HLY
CMP
BEQ
HLT

YsYe]l
NsNeN
SCOPE
MOV
MOV
ScC
XOR
BCS
HLT
BYC
ML T
CMP
BEQ
HLT

YsYel
NsN+N
SCOPE
MOV
MOV
ccce
XOR
BCC

#1000,S0URCE tMOVE SOURCE OPERAND YO SOURCE

#1000,0EST JMOVE DESTINATION OPERAND TO DESTINATION
SOURCE,DESY }XOR SOURCE AND DESTINATION
+4

! JERROR! CARRY CHANGED
.4

' JERROR! V FAILED TO CLEAR
DEST,#2 1DEST=0?

-4

11707 XOR 1020 FAILED

#2000, SOURCE JMOVE SOURCE OPERAND TO SOURCE
#2000,0€EST JMOVE DESTINATION OPERAND TO DESTINATION

SOURCE , DES? {XOR SOURCE AND DESTINAT{ON
[ ]

' JERROR! CARRY CHANGED
Y )

' JERRORY V FAILED TO GLEAR
DEST,#0 10ESTs0?

Y]

120008 XQOR 2020 FAILED

#4000, SOURCE $MOVE SOQURCE OPERAND TO SQURCE

#4000,DESY JMOVE DESTINATION OPERAND TO DESTINATION
SOURCE,DEST JXOR SOURCE AND DESTINATION
Y

JERROR! CARRY CHANGED
)

' JERROR! V FAILED TO CLEAP
DEST,#@ jDEST#D?

KX

14202 XOR 490@ FAILED

#40000,SOURCE JMOVE SQURCE OPERAND TO SOURCE

#10000,DESY JMOVE DESTINATION OPERAND TC DESTINATION
SOQURCE, DEST yXOR SCURCE AND DESTINATION
*4

-



N
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DCKBCA

pR22826
002210
pp2212
0Q2214
p@2220
Bg2222

p@2224
p@2226
202232
202236
B@2240
p@2242
002244
202246
P02250
pR2252
pR2256
p@2260

002262
2092264
092279
202274
p@2276
pp23029
092302
202304
202306
op231p
092314
PR2318

82320
292322
002326
882332
802334
82336
292340
202342
292344
2346
092352
002394

200000
192001
200029
pa2epa?
POL421
200000

200025
020020
210703
g12702
212700
ego277
74200
103404
200000
10202}
o000
peep2?
PRL40%
o0o000

200026
240000
010703
012702
212700
0p22%7
874200
103001
' TITTT)
102003
CTTLTT]
020027
201401
208008

ppgge?
100000
p1e704
gi12702
212700
eRe277
874200
103401
op0000
ip2p0ey
200000
oze027
201421
oopoooR

p02030
poooop

poeoee

peo0oee
peeape

p4e000R
40000

200000

100000
100000

HLT
BVC
HLT
CMP
BEQ
HLY

YsY+d
NEN+N
SCOPE
MOV
MOV
SCC
XO0R
BCS
HLT
BVC
HLTY
cMP
BEQ
HLT

ysYel
NEN&N
SCOPE
MOV
MOV
cce
XOR
BCC
HLT
BVC
HET
cMP
BEOQ
HLT

ysy+1
NEN&N
SCOPE
MOV
MOV
scC
XOR
8CS
HLT
BVC
HLTY
CMP
BEG
HLT

ysY+y
NeN+N

JERROR! CARRY CHANGED
-4
' JERROR! V FAILED TO CLEAR
DEST,#2 JDEST=0?
'¢4
10070 XOR 17@M8 FAILED

#20000)SOURCE fMOVE SOURCE OPERAND TO SOURCE
#20000,DEST yMOVE DESTINATION OPERAND YO DESTINATION

SOURCE,DEST JXOR SOURCE AND DESTINATION
b

' JERROR! CARRY CHANGED

.l

' JERROR! V FAILED TO GLEAR
DEiTp#W j0ESTal?

L ]

120070 XOR 22000 FAILED

#4ﬂﬂﬂﬂoSOURCE IMOVE SQURCE OPERAND Y0 SOURCE

#40000,DESY YMOVE DESYTINATION OPERAND TO DESTINATION
SOURCE,DES? )XOR SOURCE AND DESTINATION
¢4

JERROR! CARRY CHANGED

+4

' JERROR! V FAILED TO CLEAR
DEST,#2 jDESTsO?

¢4

' 48020 XOR 42908 FAILED

#100002,S0URCE JMOVE SOURCE OPERAND TO SOURCE
#100000,DESY FMOVE DESTINATION OPERAND TO DESTINATION

SOURCE,DEST JXOR SOURGCE AND DESTINATION
o4 JERROR! CARRY CHANGED

o JERROR! V FAILED YO CLEAR
DEST,#8 jDEST20?

o+ 1100008 XOR 120208 FAILED



MelgﬁEc'il'DCKBC-A PDP11/25=11745 XOR INST TEST MACY11,686 17<FEB=72 23147 PAGE 11
DCKBCA

2p0p2] Ns3
PP2356 0419703 SCOPE
2@236@ 012782 4177777 MOV #=1,SOURCE 1MOVE SQURCE OPERAND TO SOURCE
202364 012700 D220 MOV #1,DEST JMOVE DESTINATION OPERAND TO DESTINATION
202379 0Q@287 cce
022372 0©74200 XOR SOURCE,DEST JXOR SOURCE AND DESTINATION
292374 103001 BCC Y
PQ2376 0Q0R020 HLT JERRAR! CARRY CHANGED
002409 102001 8VveC v4
202402 000020 HLT JERRORY V FAILED TO CLEAR
002404 0220027 177776 CMP DEST,.#177776 1DEST=2{777767
Pg241p Q1401 BEQ , b4 )
Pg2412 200020 HLT jmi XOR 1 FAILED

200031 YaYel

pp8002 NBN#N
202414 210703 SCOPE
PR2416 2312722 4177777 MoV #=1,SOURCE JMOVE SOURCE OPERAND T0 SOQURCE
2@2422 242700 200002 MOV #2,DEST yMOVE DESTINATION OPERAND TO DESTINATION
202426 9200277 SCC
292439 074200 : XOR SOURCE,DEST )} XOR SOURCE AND DESTINATION
002432 1034023 BCS 4
002434 0Q0Q20 HLT JERROR! CARRY CHANGED
002436 102003 BVC ,+é )
Pp244g 200020 HLT $ERRORY V FAILED T0O CLEAR
202442 0208927 177775 CMP DEST,#177775 J1DEST=4777757
002446 001401 BEO 1)
002459 000000 HLT tei XOR 2 FAILED

200032 YaY+l

2002004 NaN+N
0Q2452 010704 SCOPE
PP2454 03127022 4177777 MOV #=3,SOURCE JMOVE SQURCE OPERAND T0 SOURCE
002460 212700 000004 MOV #4,0EST )MOVE DESTINATION OPERAND TO DESTINATION
B@2464 000257 cccC
2082466 074200 XOR SOURCE.DEST ) XOR SOURCE AND DESTINATION
202470 103001 BCC Y]
202472 0200000 HLT JERROR! CARRY CHANGED
P@2474 102903 Bvec 1 +4
202476 002000 KLY JERROR! V FAILED Y0 CLEAR
PQ250p0 020027 177773 CMP DEST.#177773 1DEST=177773?
PP2504 001401 BEQ Y :
Pp2506 000200 HLT jei XOR 4 FAILED

P02033 YeY+i

fPoR0L0 NeN+N
Pp251¢ @10970% SCOPE
p@2512 @12722 177777 MOV #e1,SO0URCE JMOVE SQURCE OPERAND TO SOURCE
P@2516 212700 000010 MOV #10,0DESTY JMOVE NDESTINATION OPERANM TO DESTINATION
2@2522 0go277 sCC
0092524 074200 . XOR SOURCE,DEST JXOR SOURGCE AND DESTINATION
022526 103401 8Cs Y

292530 0Q2000 HLT JERROR! CARRY CHANGED

® &
=4 (N



MAINDEC®11=pCK3C~A PDP11/2511/45 XOR INST TEST MACY11,606 17<FEBe72

DCKBCA

0092532
292534
Ppp2536
202542
PR2544

002546
202550
092554
0092560
p@2562
202564
202566
2@2570
092572
282574
RE2600
p2602

0@2624
22606
PR2612
p@2s16
pg262g
pg2622
092624
02626
002630
Pp2632
202636
22640

002642
002644
2p2650
282654
0PR2656
22660
2092662
02664
002666
002670
002674
222676

202700

102003
zpopop
p2opa?
201401
ppooep

oRPe34
epep20
2107234
212702
212700
pge257
274200
193003
oeeo0oD
10200}
200000
220927
0@1403
opepoP

20003%
cgop4ep
010704
012702
g12700
eQ0277
p74200
103403
p00000
102003
oo0R00
020027
201403
000000

200036
pp0100
210704
9312702
p12720
200287
074200
103001
200000
102001
200000
020027
001403
002000

goop37
200200
210783

177767

177777
poog20

1777%7

177777
pP0p40

177737

177777
pPoL00

177677

BVC
HLT
cMP
BEQ
HLT

YsYel
NsN+N
SCOPE
MOV
MOV
cce
X0R
8CC
HLT
BYC
HLT
CMP
BEQ
HLT

YeY+l
NSN+N
SCOPE
MOV
MOV
sccC
XOR
BCS
HLT
BYC
HLT
CMP
BEQ
HLY

YsY+4
N3N+N
SCOPE
MOV
MoV
ccce
XOR
BCC
HLT
ByC
WL T
CMP
BEQ
HLT

YaYel
NaN+N
SCOPE

o~

\*4

DEST, #177767
Y

#w=1,SOURCE
#20,DEST

SOURCEDEST
Y]

L)

DEST,#1777%7
Y

#+1,SOURCE
#40,0EST

SOURCE,DEST
v 4

XL

DEST,#377737
Y

#=1,SOURCE
#100,0ESY

SOURCE,DEST
L

Y

DEST,#177677
L +4

23147 PAGE 12

JERROR! V FAJLED TO CLEAR
JDEST=1{777677

1w{ XOR 1P FAILED

IMOVE SOURCE QPERAND TO SOURCE
JMOVE DESTINATION OPERAND YO DESTINATION

1 XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED TO CLEAR
DEST={777577

1ei XOR 2@ FAILED

JMOVE SQURCE OPERAND TQ SOURCE
JMOVE DESYINATION OPERAND TO DESTINATION

JXOR SOURCE AND DESTINATION
JERRAR] CARRY CHANGED

JERRORY V FAILED TO CLEAR
JDEST={777377

1= XOR 49 FAILED

IMOVE SQURCE OPERAND TO SOURCE
JMOVE DESTINATION OPERAND TO DESTINATION

JXOR SOURCE AND DESTINATION
JERRORY CARRY CHANGED

JERROR! V FAILED Y0 CLEAR
JDEST=1776777

jei XOR 100 FAILED



MAIN

DCKBCA

pg27m2
0B2706
092712
0p2714
202716
202720
pg2722
2724
092726
092732
0292734

092736
202740
222744
2092750
092752
2092754
092756
pp2760
pp2762
0@2764
92770
0082772

002774
0B2776
0p3p02
003006
203010
003012
Po3014
op3016
pP302p
p@3@22
203026
93030

2p3232
203034
203040
3044
203046
23050
203052
2230954
223056
203260

212702
22700
ee277
074220
103424
200000
10200}
200000
fa2ep@27
09140}
poopoe

200040
poo4oD
230703
212722
212700
Il riy
274200
103021
epoooe
102091
o000
ezgep27
201403
200000

200041
201000
210703
012702
212770
200277
074200
103404
op0000
102003
290020
p2epa?
201404
opeooR

0pop42
pp2o0R
gie70y
g12702
212700
ope237
B74200
10300}
Poopee
102001
Poopon
020027

177777
p00200

177577

177777
oR2400

177377

177777
pP1000

176777

177777
202000

175777

MOV
MOV
scC
XOR
BCS
HLT
8vVC
HLT
CMP
BEQ
HLT

YeY+]
NsN&N
SCOPE
MOV
MOV
ccc
XO0R
BCC
HLT
Bve
HLY
CMP
BEQ
HLTY

YaYel
NsN+N
SCOPE
MOV
MOV
scC
XOR
BCS
HLT
BVC
WL T
CMP
BE®
HLT

YsYel
NsNeN
SCOPE
MOV
MOV
cce
XOR
BCC
HLY
BYC
HLT
CMP

#=3,SOURCE
#200,DEST

SOURCE, DESTY
b4

,*4

DEST,#177577

o4

#=1,SOURCE
#420,0EST

SOURCE,DESY
Y]

Y

DEST,#177377

(o4

#=1,S0URCE
#1000,0EST

SOURCE ) DEST
Ry

o4

DEST,#176777

T

#=1,SOURCE
#2000,0EST

SOURCE,DEST
o4

o4

DEST,#175777

&

DEC*11=pCK3CeA PDP11/25-11/45 XOR INST TEST MACY11,686 17~FEB=72 23147 PAGE 13
c

JMOVE SOURCE OPERAND TO SOURCE
JMOVE DESTINATION OPERAND TO DESTINATION

JXOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED TO CLEAR
1DEST={775777

j={ XOR 2088 FAILED

JMOVE SQURCE OPERAND TO SQURCE
$MOVE DESTINATION OPERAND TO DESTINATION

§XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED TO CLEAR
JDESTa1773777

J=i XOR 4g2 FAILED

JMOVE SOURCE OPERAND TO SOURCE
JMOVE DESTINATION OQPERAND T0 DESTINAT]ON

$XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED TO CLEAR
JOEST=21767777

y=1 XOR 1000 FAILED

JMOVE SOURCE OPERAND TO SQURCE
$MOVE DESTINATION OPERAND TO DESTINATION

) XOR SOURCE AND DESTINATION
JE]RROR! CARRY CHANGED

JERROR! V FAILED TO CLEAR
J1DEST=1757777



- -
é&ggic-11-ucxac-A POPL{1/25~11745 XOR INST TEST MACY11,686 17~FEBa72
003064 001401 BEQ Y
203066 000000 HLT
200043 YEY+1
pR40R0 NzNeN
93079 218703 SCOPE
Pa3P72 0212722 177777 MOV #w1,SOURCE
083076 032700 004200 MOV #4002,DEST
203102 0pR277 SCC
203104 074200 XQR SOURCE DESTY
23106 103401 BCS Y
203110 0200000 HLY
PA3L12 102004 BVC Y
223114 Q00000 HLT
P@3116 020027 173777 CMP DEST,#173777
003122 Q01404 BEQ Y
203124 0Q0000 HLT
p00R44 YaY+l
212000 NEN+N
203126 710703 SCOPE
@339 012782 177777 MOV #=1,SOURCE
PP3134 012700 010000 MOV #10000,DESY
@314 000237 cce
093442 074200 XOR SOURCEDEST
203144 103003 BCC Y
203146 000020 WLT
2233150 4102001 ave Y]
923152 000000 HLY
033154 020027 167777 CMP DEST,#367777
P@3160 @R1401 BEQ Y
0p3162 000020 HLT
PROR45 yYayel
p20000 NaN+N
PP3164 010703 SCOPE
PE3IL66 02702 177777 MOV #=4,SOURCE
P@3172 012780 020000 MOV #20000)DEST
283476 0Q0277 scC
023200 @74200 XOR SOURCEDESY
093202 103401 8CS Y
203204 000000 HLT
003206 102001 ave Y
03212 00000 WL T
293212 0220027 157777 CMP DEST,#157777
003216 001403 BEQ Y
293220 000000 HLT
P00046 YaY+1
040000 NaN+N
0093222 ©10704 SCOPE
083224 012702 1777717 MOV #»1,SO0URCE
293230 012700 040000 MOV #40000,DEST
PP3234 0Q02%7 cce

23147 PAGE 14

j=1 XOR 2020 FAILED

JMOVE SOURCE OPERAND TO SOURCE
JMOVE DESTINATION OPERAND TO DESTINATION

§XOR SOURCE AND DESTINATION
JERRNOR! CARRY CHANGED

JERRORY V FAILED TO CLEAR
JDEST=1737777

je{ XOR 4000 FAILED

JMOVE SOQURCE OPERAND TO SOURCE
JMOVE DESTINATION OPERAND TO DESTINATION

})XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED YO CLEAR
JDEST={677777

)= XOR 19080 FAILED

JMOVE SQURCE OPERAND TO SOURCE
JMOVE DESTINATION OPERAND TO DESTINATION

JXOR SOURCE AND DESTINATION
JERRAR! CARRY CHANGED

JERROR! V FAILED T0 GLEAR
1DEST2i577772

jei XOR 2222 FAILED

JMOVE SOURCE QPERAND TO SOURCE
JMOVE DESTINATION OPERAND TC DESTINATION



MAINDEC»11=DCK3C=A POP{1/25+=11/45 XOR INSY TEST MACY11,606 17=FEB=72

DCKBCA

Pp3236
93240
2p3242
203244
003246
203250
293254
2093256

293260
P@3262
2@3266
093272
293274
2093276
003300
P@3302
PR3I304
PR3306
293312
Pp3314

874220
103004
op0p00
102001
aQoo0ep
220027
001421
2pe000

290047
100020
210701
p12702
912700
20277
B74200
193401
200020
102003
APoooR
p2og27
201401
200000

opo0sP
200000

137777

177777
1000020

877777

XOR
BCC
HLT
8ve
HLT
CMP
BEQ
HLY

YaY+l
NsN&N
SCOPE
MOV
MQV
scC
XOR
BCS
HLT
sve
HLT
CMP
BEQ
HLT

YaYel
NeNeN

SOURCE,DEST
4

L *4

DEST,#137777
Y

#=1,SOUYRCE
#100009,DEST

SOURCE,DESY
,*4

*4

DEST,#77777
L v4

o

23147 PAGE 15

1 XOR SOURCE AND DESTINATION
$ERRNR! CARRY CHANGED

JERROR! V FAILED TO CLEA®R
JDEST={37777?

1=% XOR 49207 FAILED

JMOVE SQURCE OPERAND TO SOURCE
JMOVE DESTINAT]ON OPERAND TO DESTINATION

1 XOR SOURCE AND DESTINATION
JERRNR! CARRY CHANGED

$ERRORY V FAILED T0O CLEAR
JDEST=777772

yei XOR 100228 FAILED



MAINDEC=11-DCK3C=A PDP{1/25=41/45 XOR INST TEST MACY11,6086 17-FEBa72 27147 PAGE 16

DCKBCA

PP3316
2093320
PP3324
293330
P@3332
293334
pP3336
0p3340
PP3342
@334
223350
p3352

003354
PB3I3I56
0p3362
2p3366
P@3370
0g3372
003374
pR3376
003400
003402
203406
0P3410

pp3412
203414
PP3420
BR3424
203426
PR3430
203432
PP3434
BOI436
PR3440
003444
P@3446

003450
PBI452
203456
093462
003464
003466
093470

200001
2107231
a127e2
212700
200257
f74200
103001
200000
192001
2PP000
220027
2014021
ngeeee

P05
epogoe
210703
212702
042700
200277
074200
10340}
fpoeoeR
102003
opoo0R
p2ep27
PRL403
eP0000

200052
2000024
pio704
g12702
012700
ege237
074200
10300}
P00000
10209234
202000
20027
gRL40}
oP000R

opee53
POoRL0
2107023
812702
212700
o277
074200
103403
200000

peR2oR
PPo2eL

002231

200000
ppege2

oRe2pe

oPooed
p00204

goo2e4

000000
008010

N=q

SCOPE
MOV
MoV
ccc
XOR
BCC
HLT
BVC
HLT
CMP
BEQ
HLT
YEYe+]
NaNeN
SCOPE
MOV
MOV
sc¢C
XOR
BCS
HLY
BvC
HLT
CMP
BEQ
HL T

YaY+l
NsN+N
SCOPE
MOV
MOV
ccc
XOR
BCC
HLY
BYC
HLT
CMP
BEQ
HLT

YaYel
NsN+N
SCOPE
MOV
MOV
sccC
XOR
BCS
HLT

#0,SOURCE sMOVE SQURCE QPERAND TO SOQURCE
#1,DEST JMOVE DESTINATION OPERAND TO DESTINATION
SOURCE, DEST 3} XOR SOURCE AND DESTINATION

¢4

JERROR! CARRY CHANGED
-4
' JERROR! V FAILED TO CLEAR
DEST,#1 1DEST=s1?

,*4
12 XOR 1 FAILED

#0)SOURCE yMOVE SQURCE OPERAND TO SOURCE

#2,0EST JMOVE DESTINATION OPERAND TO DESTINATION

SOURCE,DEST y XOR SCURCE AND DESTINATION

L4

JERROR! CARRY CHANGED
+4
' JERROR! V FAILED TO CLEAR
DEST,#2 31DEST=2?
*4

§@ XOR 2 FAILED

%0, SOURCE IMOVE SQURCE OPERAND TO SQURCE
#4,0EST JMOVE DESTINATION OPERAND TO DESTINATION
SOURCE,DEST JXOR SOURCE AND DESTINATION

.4

' JERROR! CARRY CHANGED

LY )

v JERRCR! V FAILED TO CLEARP
DEST,#4 jDESTs4?

Y
1@ XOR 4 FAILED
#0,SOURCE JMOVE SQURCE OPERAND TO SOURCE
#18,0ESTY SMOVE MESTINATION OPERAND TO DESTINATION
SOURCE,DEST §XOR SOURCE AND DESTINATION
Y

JERRORY CARRY CHANGED



MAINDEC=11~DCK3C=A PDPi1/25-11/45 XQR INST TEST MACY11,606

DCKBCA

p3472
003474
203476
2p3502
p3504

Dp3506
203510
283514
223529
0p3522
003524
293526
223530
2p3532
093534
2283540
23542

2p3544
0P3546
Pp3552
PB3556
003560
223562
PB3564
003566
0e3570
203572
2p3576
003600

PP3602
Pp3604
PP3610
003614
2@3616
Pp3620
p@3622
203624
2093626
PP3630
003634
PR3636

Pp3640

e

102021
200020
p2gg27
291401
opopen

Po0oO54
0po020
210701
p12702
212700
2008257
274220
193021
co0000
192023
200020
e20p27
0014024
noeo90

I EH
220040
2107021
8312702
2127020
00277
274200
103401
200000
102004
000000
p20027
201401
P00000

200056
200100
210703
212702
p12700
ega257
74200
1030e}
gpepep
1092003
goopop
p20027
Pg1403%
g0e2000

opegs?
pgo2ee
10703

po0o210

00000
202020

00020

poo2E0e
P00040

poPD4R

poooe0o
pooi0e

pooLee

Ve
WLT
CMP
BEQ
LT

YsYesl
NaNeN
SCOPE
MOV
MOV
cce
XOR
8CC
HLY
BvcC
HLT
cMP
BEQ
HLT

yaYel
NEN+N
SCOPE
MOV
MOV
SCcC
XOR
BCS
WY
BVC
HLT
CMP
BEQ
NLT

YaYel
NaN+N
SCOPE
MOV
MOV
ccce
XOR
BCC
HLY
BYvC
HLT
CMP
BEQ
HLT

YaYel
NaN+N
SCOPE

o+

DEST,#1p
L 44

#0,SOURCE
#20,0ES7

SOURCE,DESY

v4

KL

DEST,#22

*4

#0,SO0URCE
#40,DEST

SOURCE,DESY
, 4

Y

DEST, #40
Y

#0,SOURCE
#100@,DEST

SOQURCE ) DEST
o4

L o4

DEST, #1002

b4

17=FEBm72

23147 PAGE 17

JERROR! V FAILED TO CLEAR
JDEST=19g7

}2 XOR 1@ FAILED

fMOVE SQURCE OPERAND TO SOQURCE
JMOVE DESTINATION OPERAND TQ DESTINATION

1 XOR SOURCE AND DESTINATION
1ERROR! CARRY CHANGED

JERRORY V FAILED YO CLEAR
$}DEST=22?

}@ XOR 22 FAILED

$}MOVE SQURCE OPERAND YO0 SOURCE
J1MOVE DESTINATION OPERAND YO DESTINATICN

1X9R SOURCE AND DESTINATION
JERRAR! CARRY CHANGED

JERRORY V FAILED TO CLEAR
JDFEST=4p?

32 XOR 42 FAILED

JMOVE SQURCE OPERAND YO SOQURCE
JMOVE DESTINATION OPERAND TO DESTINATION

}XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED TO CLEAR
JDEST=1207

12 XOR 122 FAILED



flls ,l-\
MAINDEC=11«DCK3CwA POP{1/25«11/45 XQR INST TEST MACY11,6086 17«FEB=72
DCKBCA

0p3642 0312702 000000 MOV #0,SO0URCE
003646 L2700 o002200 MOV #200,DEST
003652 0@R277 SCC
003654 C74220 XOR SOURCE,DEST
BP3656 1034021 BCS , +4
293660 0Q@2020 HLT
203662 102003 BYVC Y
293664 0POPOQ HLT
PB3666 020027 pO0200 CMP DEST, #2092
203672 201403 BEQ b4
003674 0QOQC2P WLT

200060 YsYel

200400 NaNeN
203676 0210703 SCOPE
203700 212722 0200000 MOV #2,)SOURCE
803704 012700 000400 MOV #400,0EST
0@371p 0Q@2%7 ccc
2@3712 074200 XOR SOURCE,DEST
293714 193904 8CcC Y
983716 Q0000 HLY
203720 10200} BVC Y
293722 C@0Q00 HLT
P@3724 020027 000400 CMP DEST, #4090
203738 001403 BEG Y ‘
293732 000000 HLY

200061 YsYel

Po4000 NaNeN
203734 210703 SCOPE
Pp3736 0912702 000000 MOV #0,SOURCE
293742 012700 001000 MOV #1000,0EST
2@3746 PO0277 sScC
Pg3758 074200 XOR SOURCE,DEST
083752 103404 BCS ,*4
293754 0@@OCQ HLT
023756 4102001 BvVC *4
203760 opoQEPR HL T
9@3762 020027 0QL000 CMP DEST, #1000
293766 001403 BEQ L
203770 000000 HLT

nR8062 YysYel

2020020 NaN+N
Pp3772 0498783 SCOPE
203774 012722 002000 MoV #0,SOURCE
P04p00 012700 002000 MOV #2000 ,0EST
Pp4p04 0PB257 cce
Po4p06 074200 XOR SOURCE,) DEST
Pp4pl0 103001 BCC 1)
P@4gle 0Qo020 HLT
024014 1020014 ByC 1)
op4Qle 200000 HLT
004020 020027 002002 CMP DEST, #2909

23147 PAGE 18
tMOVE SOURCE OPERAND TO SOURZE
JMOVE DESTINATION OPERAND TO DESTINATION
1 XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED T0O CLEAR
1DEST=2p07

19 XOR 222 FAILED

JMOVE SOURCE OPERAND TO SOURCE
JMOVE DESTINATION OPERAND TO DESTINATION

}XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED TO CLEAR
1DEST=4p27

J8 XOR 402 FAILED

JMOVE SQURCE OPERAND TO SOURCE
JMOVE DESTINATION OPERAND TO DESTINATION

}XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED 70 CLEAR
1DEST=igCo? ‘

1@ XOR 1702 FAILED

JMOVE SOURCE OPERAND TO SOURCE
JMOVE DESTINATION OPERAND TC DESTINATION

§XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED TO CLEAR
IDEST=2000?



C=11=DCK3CwA PDP1{1/25=11/45 XOR INST TEST MACY11,686 17-FEB=72

Po4p24 2014024 BEQ Y
Po4p26 0QOQRP HLY

200063 YaYel

p24p00 NaN+N
004230 02412703 SCOPE
Pp4p32 2412722 002000 MOV #0,SOURCE
op4036 012700 0P4QR0 MOV #4000,0EST
0p4p4a2 002277 ScC
004044 074200 XQR SQURCE,DEST
204046 10342} BCS 1)
op4050 200020 HLT
2040952 102004 BYC 4
004054 0020200 HLTY
Pp4p56 020027 004200 CMP DEST, #4000
Po4p62 001401 8EQ Y]
204064 0200200 HLT

200064 ysYel

210000 NsN&N
P24p66 0108703 SCOPE
004079 012702 0@O000Q0 MOV #0,SOURCE
PO4074 012700 010000 MOV #¥10900,DEST
204100 0p082%7 cce
094102 074200 XOR SOURCE,DES?
pP4104 1030201 8CC ,*4
204106 0P0000 HLT
204110 102003 BYC Y
204112 000000 HLT
204114 020027 0210090 cMP DEST,#10000
024120 001401 BEQ Y
2p4122 0002020 KLY

200065 ysYel

220000 NaNeN
PP4124 0310701 SCOPE
gP4126 ©12722 p00QPC MOV #0,SOURCE
Pp4132 012709 @20000 MOV #20000,DESTY
Pd4136 ©2@0277 SCC
PR4a14p 074220 XOR SOURCE,DES?
Up4142 103401 BCS 4
PP4144 000000 HLT
004146 102003 BYVC Y
2044150 200000 HLT
24152 020027 20000 CMP DEST,#2002n
Q4156 0R140%1 BEQ Y
pp4s62 002020 HLT

202066 YsYel

p42000 NaN+N
p4162 210703 SCOPE
PP4164 0312702 000020 MOV #0,SOURCE
P04170 212700 240000 MOV #400020,DESY
204174 0p02%7 ¢cce

®

23147 PAGE 19

13 XOR 2200 FAILED

JMOVE SOURCE OPERAND TO SQURCE
IMOVE DESTINATION OPERAND TO DESTINATION

JXOR SOURCE AND DESTINATION
JERRAOR! CARRY CHANGED

JERROR! V FAILED TO CLEAR
tDEST=4g227

12 XOR 4028 FAILED

JMOVE SQURCE OPERAND YO SOQURCE
IMOVE DESTINATION OPERAND TO DESTINATION

§XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERRORY V FAILED TO CLEAR
1DEST=10000?

12 XOR 12020 FAILED

1MOVE SQURCE OPERAND TO SCURCE
JMOVE DESTINATION OPERAND TO DESTINATION

1XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED TO CLEAR
JDEST=2p0027

1@ XOR 20200 FAILED

JMOVE SQURCE QPERAND TO SOURCE
IMOVE DESTINATION OPERAND Y0 DESTINATION




o~

MAINDEC=11-DCKBC=A POP{1/252311/745 XOR INST TEST MACY11,606 17+FEBw72

DCKBCA

Pg4176
004200
204202
004204
004206
204210
204214
204246

P04220
204222
004226
204232
204234
294236
204249
004242
004244
224246
224252
904254

204256
PP4260
004264
294270
004272
24274
P04276
204300
004302
004304
PO4310
@432

204314
204316
004322
2R4326
PP4330
204332
P04334
PP4336
204340
PP4342
PP4346

074200
103003
000000
102p03
goooeD
2208027
201403
200000

opope7
100029
8107021
812702
g12700
200277
074200
103401
202020
102001
000000
220027
004404
200000

000070
200000

oeopool
a10701
212702
23127080
000257
74200
103004
2pepep
102001
opReo0
pReo27
001403
opopoe

200073
gpegee
2108704
812702
g12700
gQ0277
274200
103403
20000
10200}
oQe000
p2e@27
2p1403

40000

200000
100000

102200

pe2d0y
177776

177777

pooRoe
177775

177777

Nag

XOR
BCC
HLT
BYC
HLT
CMP
BEO
HLT

YRY+4
NsN+N
SCOPE
MoV
MOV
sCC
XOR
BCS
HLT
BYC
HLT
CMP
BEQ
HLT

YaYed
NeN&N

SCOPE
MOV
MOV
cce
XOR
BCC
HLT
BVC
HLT
CMP
BEQ
HLT

YaY+el
NsN«N
SCOPE
MOV
MOV
SCC
XOR
BCS
HLT
8ve
HLT
CMP
BEQ@

SOURCEJDEST
L)

, b4

DEST,#409020
e

#0,SOURCE
#109200,0ESY

SOURCE, DESY
L +4

Y]

DEST,#100000

Y

#1,SOURCE
#177776,DEST

SOURCE,DEST
Y

Y

DEST,#177777
+4

#2,SOURCE
#177775,DESY

SOURCE,DESY

7]

Y

DEST,#177777
-

23147 PAGE 27

JXOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED TO CLEAR
$DEST=4g02072

}@ XOR 40QAg FAILED

IMOVE SOURCE OPERAND TO SOURCE
JMOVE DESTINATION OPERAND YO DESTINATION

$ XCR SGURCE AND DESTINATION
JERROR! CARRY CHANGED

JERRIR! V FAILED 70 CLEAR
1DEST=ign0o0R?

19 XOR 100027 FAILED

JMOVE SOQURCE OPERAND TO SOURCE
yMOVE DESTINATION OPERAND YO DESTINATION

}XOR SOURCE AND DESTINATION
J1ERROR! CARRY CHANGED

JERROR! V FAILED Y0 CLEAR
JOEST={777777

}J1 XOR 177776 FAILED

IMOVE SOURCE OPERAND YO SOURCE
JMOVE DESTINATION OPERAND TO DESTINATION

yXOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED TO CLEAR
JDEST=177777%



MAINDEC=11-DCK3C=A PDP{1/25+11745 XOR INST TEST MACY11,6086 17<=FEBe72

DCKBCA
2@4350

Pp4352
224354
294360
004364
004366
004370
204372
204374
204376
208400
004404
204406

204410
204412
204416
204422
v4424
204426
pB4430
204432
004434
204436
224442
204444

224446
204450
284454
204460
204462
204464
204466
204479
204472
204474
204500
204502

PO4504
PR4506
204512
Do4516
204520

O

207200

002072
0poeR4
210701
p12722
242700
p@n257
274220
103001
pooeel
10200}
290000
p2ep27
201401
epo020

opoe73
poeoLo
10704
g12702
212700
200277
274200
19340}
200000
102004
2000000
p2ep27
201404
200000

000074
Poeo2p
p1070}%
212702
212700
opo257
8742020
1030021
PpoRoR
102003
ePe00P
p2ep27
o140}
000000

2ooR75
200040
2108723
pL2702
127092
2p@277
p74200

200004
177773

177777

202010
1777647

1777727

00020
177787

177777

poo04p
177737

HLT

YaYel
NaN+N
SCOPE
MOV
MOV
cce
XOR
BCC
HLT
8veC
HLT
CMP
BEQ
HLT

YsYe+y
NsN&N
SCOPE
MOV
MoV
scC
XOR
BCS
HLY
B8YyC
HLT
CMP
BEQ
HLT

YsYel
NsNeN
SCOPE
MOV
MOV
ccce
XOR
BCC
HLTY
BavC
HLT
CMP
BE®
HLT

YsY+l
NsNeN
SCOPE
MOV
MOV
sccC
XO0R

#4,SOURCE
#177773,DEST

SOURCE,DEST
g4
 +é

DEST,#177777
| +4

#10,SOURCE
#177767,DEST

SOURCE,DESY
4 )

(o4

DEST,#177777
Y

#20,SOURCE
#177757,DEST

SOURCE,DEST
, o4

Y

DEST,#177777

L+

#40,SOURCE
#177737,DEST

SOURCE,DEST

e

23147 PAGE 21

12 XOR 177775 FAILED

fMOVE SQURCE OQPERAND TO SOURCE
IMOVE DESTINATION OPERAND TO DESTINATION

1XOR SOURCE AND DESTINATION
1ERROR! CARRY CHANGED

JERROR! V FAILED YO CLEAR
J1DEST=4777772

14 XOR 177773 FAILED

JMOVE SQURCE OPERAND TO SOQURCE
}JMOVE DESTINATJON OPERAND TO DESTINAT]ON

})XOR SOURCE AND DESTINATION
JERRNOR! CARRY CHANGED

JERROR! V FAILED TO CLEA®
jDEST={777777

112 XOR 177767 FAILED

$JMOVE SQURCE QPERAND T0 SOURCE
JMOVE DESTINATION OPERAND TO DESTINATION

JXOR SOURCE AND DESTINATION
JERRAR! CARRY CHANGED

|ERROR} V FAILED YO CLEAR
1DEST=1777772

120 XOR 177757 FAILED

JMOVE SOURCE OPERAND YO SOURCE
JMOVE DESTINATION OPERAND TO DESTINATION

J)XOR SOURCE AND DESTINATION



MAINDEC~=11-0DCK8CeA PDP{1/23=141/45 XOR INST TESY MACY11,606

DCKBCA

p@4522
004524
04526
PP4530
0p4532
0P4536
Pp4540

04542
004544
PP4550
204554
084556
204560
004562
004564
24566
0g4570
804574
004576

0p4600
204602
BP4606
204612
004614
BA4616
2p4620
004622
2P4624
204626
904632
004634

904636
204640
PB4644
204650
004652
204654
204656
0p4660
204662
204664
004670
2p4672

103403
googoe
102004
20000
g2@p27
2041401
202020

200076
290100
210704
212702
212700
Pe@257
074200
103004
goopop
192p04
000000
020027
091404
op0000

200077
20200
810704
812702
212700
200277
074200
103404
gpopoe
192003
(LI
220027
201401
2902000

000100
000400
010704
012702
012700
090257
874200
103004
200000
102001
000000
020027
01401
000002

200103

177717

po0100
177677

177777

pp0200
1773877

177777

00400
177377

1777717

BCS
HLT
BVC
HLT
cMP
BEQ
HLY

YsYesl
NsN+N
SCOPE
MOV
MoV
ccc
XOR
BCC
ML T
BVC
HLT
CMP
BEQ
HLT

YsY+y
NsN+N
SCOPE
Mov
MOV
SCC
XO0R
8CS
HLT
BVC
WL T
CMP
BEQ
HLT

YsY+y
NsN+N
SCOPE
MOV
MOV
cce
XO0R
BCC
HLT
ByC
HLT
CMP
BEQ
HLT

YeYel

_—

,+4
I

DEST,#477777
o4

#100,SOURCE
#177677,DEST

SOURCE,DES?
XY

Y

DEST,#177777
,+4

#200,SQURCE
#177577,DES8T

SOURCE,DEST
Y

Y

DEST,#177777
Y

#4009 ,SOURCE

#177377,DES8T .

SOURCE,DES?
o4

Y

DEST,#177777
b4

17=FEBw72

23147 PAGE 22

JERRNOR! CARRY CHANGED

JIERROR! V FAILED TO CLEAR
IDEST={777777

Y40 XOR 177737 FAILED

1MOVE SOQURCE QPERAND TO SOURCE
JMOVE RESTINATION OPERAND TO DESTINATION

1 XOR SOURCE AND DESTINATION
$ERROR! CARRY CHANGED

JERROR! V FAILED Y0 CLEAR
1DESTR1777771

§120 XOR 1776877 FAILED

IMOVE SQURCE QPERAND TO SOURCE
fMOVE DESTINATION OPERAND YO DESTINATION

$XOR SOURCE AND DESTINATION
1ERROR! CARRY CHANGED

JERROR! V FAILED 10 CLEAR
JDESTE1777772

1280 XOR 177%77 FAILED

JMOVE SQURCE OPERAND TO SOURCE
JMOVE DESTINATION OPERAND YO DESTINATION

yXOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERRORL V FAILED TO CLEAR
JDEST=177777?

14008 XOR i77377 FAILED



MééggiC-li-DCK3C~A PDP11/25-11/45 XOR INST TEST MACY11,606 17-FEB=72 23147 PAGE 23
D

Po4674
2P4676
224702
204706
224710
824712
PP4714
PPA716
224720
24722
204726
204730

224732
204734
204740
204744
204746
204750
204752
204754
284756
204760
204764
204766

2g4770
0p4772
BR4776
203002
Pp5p04
223006
003010
285012
2035014
05216
2@%g22
op5024

295026
209230
209234
P3040
LT Y]
093044
23%046
203950

®

20100290
2108701
212702
212720
292277
074200
103403
2000020
102004
goope0
0208027
704404
PP02000

2po102
002000
230703
p12722
212700
80257
274200
10300234
cpoo00
102004
p0@000
20927
201423
20p000

800103
204020
010701
012702
012700
000277
074200
103423
000000
1092001
200220
220027
201404
000000

202104
212000
p1087023
gia7ee
12700
208257
874200
103004
poeooeD
102021

pRL2e0
176777

177777

pR2000
178777

177777

pR4gop
173777

177777

py20a0
167777

NaN+N

SCOPE
MOV
MOV
SCC
XOR
BCS
HLY
BvVC
HLT
CMP
BEO
HLT

YaYel
NaN+eN
SCOPE
MOV
MOV
cce
XOR
BCC
HLT
BVC
HLT
cMP
BEQ
HLT

YesYel
NENeN
SCOPE
MOV
MOV
scC
XO0R
BCS
LT
BvC
HLT
CMP
BEQ
HLY

YasYel
NeN¢N
SCOPE
MOV
MOV
cce
XOR
BCC
HLT
BYC

#1000 ,S0URCE
#176777,DEST

SOURCE ) DEST
RY

v

DEST.#177777

(o4

#2002, SOURCE
#175777,DEST

SOURCE,DESTY
o4

K1

DEST,#177777
Y

#4200, SOURCE
#173777,DEST

SOURCE,DEST
o4

b4

DEST,#177777
Y

#40000,SOURCE
#167777,DEST

SOURCE,DEST
yoé

o4

JMOVE SQURCE OPERAND TO SOURCE
JMOVE BESTINATION OPERAND TO DESTINATION

JXOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

fERROR! V FAILED TO CLEAR
}1DEST=1777777

11022 XQOR 176777 FAILED

JMOVE SQURCE OPERAND TO SOURCE
JMOVE DESTINATION OPERAND TO DESTINATION

JXOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JIERRORY V FAILED Y0 CLEAR
JDEST=L77777?

12202 XOR 475777 FAILED

IMOVE SQURCE OPERAND TO SOURCE
IMOVE DESTINATION OPERAND TO DESTINATION

JXOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JIERROR! V FAILED T0 CLEAR
1DEST®i777771%

14202 XOR 473777 FAILED

$MOVE SQURCE OPERAND TO SOURCE
IMOVE DESTINATION OPERAND TO DESTINATION

1 XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED



-

—_

MAINDEC=11-DCKBC=A PDP{1/25-11/45 XOR INST TEST MACY11,606 17-FEB=72

DCKBCA

PR5P52
203054
LYY
2090962

205064
208066
op%a72
289076
099100
225102
229104
295106
205110
2039112
209116
209120

209122
p@9124
205130
209134
229136
299140
p@E%142
295144
PP5146
205150
229154
209196

203160
pps162
209166
ep9172
2093174
@576
293200
203202
095204
2@%206
p@p3212
pps214

oRoR0R
p2eg27
PPL401
oooo0Q

090105
020000
010704
12702
212700
090277
074200
103401
020002
102004
000200
020027
001424
TITIT)

BooLeé
240000
210704
g12702
212700
PeB23%7
874220
103003
P00p00
102004
2Qgeee
e2ep27
204424
opegee

000107
100000
210704
812702
812700
000277
074200
103403
000020
192004
00000
020027
001403
000002

po2110
eeoe0R

177777

p20000
157777

1777727

g400eQ
137777

1777727

100000
p777727

177777

HLT
CMP
BEQ
HLT

YaY+l
NeN&N
SCOPE

t MOV

MOV
sce
XOR
BCS
HLT
ave
LT
CMP
BEG
HLT

YsYsl
N&NeN
SCOPE
MOV
MOV
cce
XOR
BCceC
HLT
BVC
HLT
CMP
BEQ
HLT

YsY+l
NeN+N
SCOPE
MOV
MoV
scC
XOR
BCS
WL
BVG
M T
CMP
BEQ
KLY

YeY+d
NaN+eN

DEST,#177777

b4

#20000,SOURCE
#137777,DES8T

SOURCE,DEST
L +4

4

DEST,#477777
KL

#40020,SOURCE
#137777,DEST

SOURCE,DEST
L)

L)

DEST,#177777
+4

#1000p0,SQURCE
#77777,DEST

SOURCE ) DESY
kY

(+4

DEST,#177777
Y

SOURCE=X@

23147 PAGE 24
JERROR! V FAJLED TO CLEAR
1DEST=477777%
112078 XOR 167777 FAILED

JMOVE SQURCE OPERAND TO SOURCE
JMOVE DESTINATION OPERAND YO DESTINATION

1XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED TO CLEAR
1DESTe{777772

1280870 XOR 157777 FAILED

IMOVE SOURCE OQPERAND TO SOURCE
JMOVE DESTINATION OPERAND TO DESTINATION

JXOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED T0 CLEAR
JDESTei777777

140008 XOR 137777 FAILED

JMOVE SQURCE OPERAND 7O SOURCE
JMOVE DESTINATION OPERAND TO DESTINATION

JXOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERRORY V FAILED T0 CLEAR
JOESTR{?77777

1182087 XQR 77777 FAILED



Mé&ggEC-ll-DGKSC-A PDP11/25=11/4% XOR INST TEST MACY11,686 17=FEBe72 23147 PAGE 25
0 A

po3216
295220
2@9%224
2093230
pps232
op5234
PP5236
003240
0093242
p@5244
0095250
pE3252

005254
0@5256
pR3262
2eB266
085270
095272
Pp5274
005276
2p3300
5302
025306
oRs310

205312
203314
205320
205324
BP5326
oR3330
2p5332
PP35334
293336
203340
009344
PP5346

O

ggcene
pooone

210701
12729
212722
2008257
74002
103001
700000
102003
2P2000
p2g227
201423
200020

200111

ppopoe
fpgoep
oPeg0e2

10703
212722
p12700
200277
274200
10340}
200000
10200}
200020
p2op27
29140}
200000

eg2112
gQ0R23

210701
g12703
g127e0
20257
074300
103004
opopop
102003
PPoR00
paepa?
BRL4oY
opegee

290113
200005

31463
146344

177777

146314
P31463

177777

g16161
161616

177777

DEST=X5

DEST=X2

RSLTaXx2

SCOPE

MOV #031463,SQURCE
MOV #146314,DESTY
cce

XOR SOURCE, DEST
BCC 1 v4

HLT

BvC 1

HLT

CMP DEST, #=y4

BEQ Y

HLT

YaYsl

SQURCE=X2

DEST=X?

RSLT®X2

SCOPE

MOV #146314,SO0URCE
MOV #031463,DEST
scce

XOR SQURCE, DEST
BCS L)

HLY

BvVC 4

HLT

CMP DEST ,#=1

BEQ .¢4

HL T

YsYsl

SQURCE®%3

SCOPE

MOV #016161,S0URCE
MoV #161616,DEST
cce

XO0R SOURCE ) DEST
gcc .64

HLT

BVC L

HLT

CMP DEST.#=y

BEO 1)

HLT

YsYsyl

JMOVE SQURCE OPERAND TO SOURCE
MOVFE DESTINATION OPERAND YO DESTINATION

§XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED TO CLEAR
10EST3=1?

1831463 XOR 146314 FAILED

JMOVE SQURCE OPERAND TO SOQURCE
yMOVE DESYINATION OPERAND TO DESTINATION

}XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERRORY V FAILED TO CLEAR
j0FESTsey?

1146314 XOR 031463 FAILED

JMOVE SOURCE OPERAND TO SOURCE
tMOVE DESTINATION OPERAND TO DESTINATION

1XOR SOURCE AND DESTINATION
JIERRNOR! CARRY CHANGED

JERRORY V FAILED TO CLEAR
IDESTRay?

1216161 XOR 161616 FAILED



MAINDEC»11=DCKBC~A pDP{1/28=11/4% XOR INST TEST MACY11,606

DCKBCA

205350
pP9352
PP3356
023362
298364
083366
209370
209372
29374
209376
209%402
203404

2254086
pO9410
205414
05420
P@5422
003424
PpB426

203430
25432
203436
009440
209442
093444

PPB446
005450
209454
20%460
PP8462
0083464
BO%486

2p5470
229472
PPB476
%502
0P9%504
0p8506
295510

2107021
212723
P12705%
2pe277
274305
10340}
ogQoep
102003
ogooen
pe@s527
2014031
opopee

200114
opgegee

gie704
232702
2127029
Pp@263
874200
103423
200000

21087083
812700
203002
074200
100404
goooep

210701
g12702
012700
2p0230
874200
ipeo0y
epoeee

g1e704
832702
212700
PoR24}
074200
103001
opaepo
g@o00)

161616
P16161

177777

177777
177777

100000

100000
177777

177777
177777

SCOPE
MOV
MOV
scc
XOR
BCS
HLT
8vC
HLT
CMP
BEQ
HLT

YeY&si
DEST=X0

o~

#161616,S0URCE
#016161,DEST

SOURCE,DESY
4

]
44

DEST,#=41
L

17=FEB=72

23147 PAGE 26

JMOVE SQURCE QPERAND YO SOURCE
JMOVE DESTINAT]ON OPERAND TO DESTINATION

yXOR SOURCE AND DESTINATION
JERROR! CARRY GHANGED

JERROR! V FAILED TO CLEAR
JDEST3=1?

11814614 XQR 216161 FAILED

JTESY THAT CONDITION CODES ARE OPERATED ON CORRECTLY

JCARRY REMAINS UNCHANGED (CARRY SET)

SCOPE
MOV
MOV
SEC
XOR
BCS
HLT

JTEST N/
SCOPE
MOV
ELR
XOR
BM]
HLY

SCOPE
MOV
MOV
CLN
XOR
BPL
HLT

#nl,%2
Hel %0

%2, %0
.4

#100000,%0
X2

X2 %0

L)

#1,00000,%2
#el,X0

%2, %0
L4

I1SET CARRY
1X0R
JBRANCH IF CARRY 1S SET

JERRORY fN! FAILED TO SET

JERROR! N/ FAILED TO CLEAR

JCARRY REMAINS UNCHANGED (CARRY CLEAR)

SCOPE
MOV
MoV
cLe
XOR
BCC
HLT
Nsy

#nd , %2
#el,%0

%21 %0
Y

1CLEAR CARRY
1 XOR :
J1BPANCH IF CARRY IS CLEAR



MAINDEC=141=DCK8C~A PDP11/23=11/45 XOR INST TEST MACY11,606 17-FEB=72

DCKBCA

283512
0p5514
0@5520
295522
005524
205526

295539
295532
28536
025540
P3542
205544

203546
208550
0P58554
0@8556
2P8560
B@B8562

PpP5564
pP5566
205572
pP5574
ePB576
058600

293602
0P5604
203610
009612
23614
298616

005620
op8622
25626
203630
223632
05634

205636
nE3640
205644
295646
288650

210703
212700
2po2684
074300
201003
epooo0

epegee
210723
232700
PRO264
p74300
201003
2oeoep

200004
230701
012720
2op264
274300
001004
ooeoeR

202019
210703
2312700
200264
874300
201023
opop2D

200020
pLe7ol
252700
PRR264
074300
pgLoRl
epooep

f02040
2108703
212729
000264
p74300
201001
epageR

290100
2107031
g12702
PQ0264
074300
281001

noooos

poooee

poooRd

000010

ppeo2e

nooo4D

200100

23147 PAGE 27

JTEST THATY Z BIT IS CLEAR IF RESULT 1S NOT ZERO

SCOPE
MOV
SEZ
XOR
BNE
HLT

NEN&N
SCOPE
MOV
SEZ
X0OR
BNE
HLT

NeNeN
SCOPE
MOV
SEZ
XOR
BNE
WLT

NsN+N
SCOPE
MOV
SEZ
XOR
BNE
HLT

N®N+eN
SCOPE
MOV
SEZ
XO0R
BNE
HLT

NEN+N
SCOPE
MOV
SEZ
XO0R
BNE
HLT

NaN+N
SCOPE
MQV
St 2
XO0R
BNE

#1,DEST

SOURCE, DESY

b4

#2,DEST

SOURCE,DEST
,vé

#4,DEST

SOURCE,DEST
R L

#10,0EST

SOURCE,DES?Y
, o4

#20,DEST

SOURCE,DEST

L)

#40,DEST

SOURCE s DEST
(44

#109,0ESY
SOURCEDEST
4

\

-

JSET 2 BIT
) XOR

J8 XOR 1 FAILED YO CLEAR 2

1SET Z BIT
1 XOR

1@ XOR 2 FAILED TO CLEAR 2

JSET Z BIT
1 XOR

1@ XOR 4 FAILED TO CLEAR 2

JSET 2 BITY
1 X0OR

12 XOR 10 FAILED Y0 CLEAR 2

JSET 2 BIY
1 XOR

1@ XOR 20 FAILED TO CLEAR 2

JSET 2 BIY
1 XOR

3@ XOR 42 FAILED TO CLEAR Z

J1SET 2 BIY
1 XOR



~

%

MAINDEC=11«DCK3CwA PDP11/25+11/45 XOR INST TEST MACY14,606

DCKBCA

¥

203652

209654
0P5656
PP8662
PA5664

PR%666 -

pp5670

0P5672
298674
023700
095702
003704
293706

0P5710
p@s712
295716
pB720
p@gB722
009724

298726
293730
203734
285736
2@g5740
op3742

008744
205746
o@8752
93754
288756
op8760

209762
209764
289770
209772
203774
203776

opep00
2g6p02
LT 1)

Apeoen

2008200
2010704
012700
o264
8743020
294001
0peo00

92400
21070}
212700
200264
A74300
ggi00]
2000020

201090
219704
212700
2po264
074300
oginey
200000

Pe2000
210704
812700
opB264
274320
gQgLieol
008000

204000
10704
212700
2p0264
074300
eR1001
200000

210000
210703
712700
200264
274300
201001
200000

020000
710704
242700
000264

200200

pPA4pR

ooL000

002000

po4spo

0100020

p20000

HLT

NaN&N
SCOPE
MOV
SEZ
XO0R
BNE
HLT

NaN+N
SCOPE
MOV
SEZ
XOR
BNE
HLT

NEN+N
SCOPE
MOV
SEZ
XOR
BNE
HLT

NaNeN
SCOPE
MQV
SEZ
XOR
BNE
HLT

NsN+eN
SCOPE
MOV
SEZ
X0R
BNE
HLT

NaNeN
SCOPE
MOV
SEZ
XO0R
BNE
HLT

NeN+N
SCOPE
MOV
SEZ

#200,0EST

SOURCE,DEST
4

#4090 ,DEST

SOURCE,DEST
Y

&

#10090,0€EST

SOURCE,DES?
L +4

#2000,0EST

SOURCE,DEST
o4

#4000,0EST
SOURCE,DEST
*é4

#10000,0ESY
SQURCE,DEST
+4

#2000 ,DEST

17«FEB=72

23147

10 XOR

JSET 2
IXOR

12 XOR

1SET 2
} XOR

12 XOR

JSET 2
1 XOR

12 XOR

)SET 2
1 XOR

J2@ XOR

JSET 2
1 XOR

1@ XOR

ISET 2
$ XOR

;@ XOR

JSET 2

PAGE 28

120 FAJLED TO CLEAR 2

BIT

202 FAILED TO CLEAR 2

BLIY

400 FAILED TO CLEAR 2

BIT

1002 FAILED TO CLEAR 2

BIT

2090 FAJLED TO CLEAR Z

BIT

4008 FAILED TO CLEAR 2

B1T

100230 FAILED TO CLEAR 2

B1Y



MAINDEC»11-DCK3C»A PDP11/25=14/45 XOR INST TEST MACYL11,606

DCKBCA

ppeoLR
ppégi2
006014

226216
206020
206024
206026
206030
206232

20634
pe6@36
206942
R8P4
pP6R4s
096050

206052
206054
206060
2o8064
006066
006270
206072

006074
026276
006102
206106
206110
pEs112
206114

PP4116
206120
206124
206130
006132
006134
P08136

206140
2p6142
DP6144
PP8146
PP6150
2968152

274300
AQL0ay
agopee

240000
210703
2127020
0P0264
#74300
201003
ngepee

100000
20701
212720
200264
074300
pgi02}
eogepep

2000920
?p0001

2108703
L2702
7312700
200244
274200
opL4al
fgpoen

210723
012702
212700
PRe262
274200
10200}
poooen

2107021
212702
p12720
pp@262
274200
10200}
200000

210704
o03002
oe50020
poo262
P74200
102004

240000

100000

125252
128252

125252
pe52%82

052525
125252

XOR
BNE
WL T

NEN+N
SCOPE
MoV
SEZ2
XOR
BNE
HLT

NaN+N
SCOPE
MQV
SEZ
XOR
BNE
HLY

NsN+&N

Nay

)2 BIT IS SET
SCOPE
MOV
MoV
cL2
XOR
BEC
HLT

IV 1S CLEARED
SCOPE
MOV
MOV
SEV
XOR
BYC
HLY

SCOPE
MOV
MOV
SEV
X0R
BVC
HLT

SCOPE
CLR
CLR
SEV
XOR
BVC

17=FEB=72

SOURCE,DES?
 +4

#40000,DEST

SQURCE,DEST
K1

#100000,DESY

SOURCE,DEST
4

IF RESULTan

#125252,%2
#125252,%0
%2, %0

R
#125252,%2
#025252,%0
%2 %0 § XOR
Y
#0525%525,%2
#125252,%X0
%2)X0 ) XOR
Y

%2

%0

X2, %0

\ o4

»

23147 PAGE 29

} XOR

)@ XOR 200208 FAILED TO CLEAR 2

JSET Z BIT
J XOR

18 XOR 420220 FAILED TO CLEAR 2

JSET 2 BITY
I XOR

12 XOR 120802 FAILED TO CLEAR Z

1CLEAR 2
1 XOR
JBRANCH IF Z IS SET

J1BRANCH IF V IS CLEARED

JSET V
JBRANCH IF V IS CLEARED



#

MAINDEC=11DCK3C=A PDP11/28=11/45 XOR INST TEST MACY11,606 17=FFBe72 23147 PAGE 3

DCKBCA

006154
206156

206160
206164
026170
896172

206174 .

BB8LT76

226202

206224
206206
PB6212
206220
P862382
Po8226
206230
006232
806234
P06236
206244
206246

206250
poe252
206256
206264
Po8266
pR6270
208272

006274
2p8276
206302
206319
006344
206316

p@&8320
ppe322
PP8330
206334
0g8342
0@8346

L)
2109724

212702
212720
goe262
pr4200
102003
epoo0e

200002
206200
og6202
opopep

210701
gi27e2
212767
299257
p74267
193004
Po0oR00
10290}
epepop
p26727
pRL401
200000

200115

218701
e12702
212767
074227
20e0a0
201423
2pepee

2108704
212702
012737
874237
201401
2poR2e

210701
712767
2312702
842777
074277
201423

177777
177777

177777
177777

177752

177736

177777
177777

177777
177777
p06200

po6202
177777
177777
177632

177760

poooed

peegn2

gos200

177650
177636

HLT
SCOPE
MOV #ei,%2
MOV #ml , %0
SEV
XOR %2)%9
BVC *10
HLT
SOURCE=%2
DEST=,
13,2
IDESTI @
JITEST DESTINATION MODE=67
SCOPE
MOV #=1,S0URCE
MOV #=1,DEST
ccc
XOR SQURCE,DEST
BCC R
HLT
BvVC 4
HLT
CMP DEST,#2 DESTa2?
BEQ  vé
HLT
YeYes]
JTEST DESTINATION MODE®27
SCOPE
MOV "1.%2
MQov #e),MODE27
X0OR %2)(7)*
MODE271 @
BEQ L)
HLT
JTEST DESTINATION MODE 37
SCOPE
MOV ’li.”Z
MOV =y, ®%0EST
XOR %2, 0¥DEST
BEOQ L
HLT
JTEST DESTINATION MODE 77
SCOPE
MOV #]DESY,DESTY
MOV #md %2
MOV #»1,®DEST
XOR %2)0DEST

BEQ L4

JERROR! V FAILED TQ CLEAR

JERRORY V FAILED 70O CLEAR

1MOVE SOURCE OPERAND YO SOURCE
JMOVE DESTINATION OPERAND TO DESTINATION

$XOR SOURCE AND DESTINATION
JERROR! CARRY CHANGED

JERROR! V FAILED TO CLEAR

jey{ XOR =1 FAILED



Eé§285°'11'°9“’°" PDP{1/25-11/4% XOR INST TEST MACY11,606 17FEB=72 23147 PAGE 31

PP6350 000000 HLT

JITEST DESTINATION MOOE 1

006352 231270} SCOPE

PP6354 012700 Q067D MOV #MODEL ) X0

PPe36p 042702 177777 MoV Hud, %2

0p6364 212712 177776 MOV #e2,(0)

026370 074210 XOR %2,(0)

008372 222747 000001 0200330 CMP #1,M0DEL JCHECK RESULT

006400 0Q140% BEQ 4

2Q6402 2000020 HLT JERRAR! INCORRECT RESULT

PP6404 022700 006750 CMP #MODEZ1. %0 JCHECK REGISTER

PP6410 ©0Q147% BEO Jré

Pps84L2 CROOND HLT JERRAR! RO CHANGED

P06414 222702 177777 CMP #w]1,%2 JCHECK REGISTER

206420 001401 BEQ L)

0p8422 0Q02QP00 WLT JERROR! R2 CHYANGED
JTEST DESTINAYION MOODE 2

006424 02310703 SCOPE

Pp6426 012702 006750 MOV #MODEL ) X2

206432 012723 0000202 MOV #2,)%3

206436 005012 CLR t2)

Pps440 074322 XOR X3,(2)+ .

PP8442 0222767 000002 @O03BPD CMP #2,MODEL JCHECK RESULT

206450 2P140% BEQ 4

Ppe452 0QR0PO0 HLT JERROR! INCORRECT RESULT

PP6454 022702 006752 CMP #MODE1+2,X2 JTEST AUTO=INCREMENT

206460 0RL140} BEQ Rl

206462 0P2QO0 HLT 1ERRAR! AUTO=INCREMENT FAILED
JTEST DESTINATION MODE 3

296464 01070} SCOPE

PP8466 012767 006732 020254 MOV #MODEJI,MODEL

PP8474 212704 pO6780 MOV #MODEY ) X4

206500 Q12723 0200203 MOV #3)%3

PP6504 CPB067 000242 CLR MODES3

PPeSLly 074334 XOR X3, 0(4)

Pp65%2 022767 0Q000P3 008232 cMP #3,MODE3

P6520 001403 BEQ L

206522 200000 HLT JERROR! INCORRECT RESULT

Pp6524 p22704 Q06732 CMP #MODEL+2,X4 JTEST AUTOeINCREMENT

208530 201401 BEQ 4

206532 PQO020 HLY JERROR! ATO=INCREMENT DEFERRED FAILED
JTEST DESTINATION MODE 4

206534 010703 SCOPE

206536 012726 000004 MOV #4,(6)+

Pp6542 00%p05 CLR %5

008544 274546 XOR %X5,(6)

PPes4s 222716 000204 cMP #4,(8)

Ppe552 0201403 BEQ  v4

Ppe554 02P000 . HLT. $1ERRCR! INCORRECT RESULT

- -



gé&ggic-ll-DCKac-A PDP11/25=41/45 XOR INST TEST MACY11,606 17°FEBe72

P26556 212706 000500 MOV #STKPTR, %6

ITEST DESTINATION MODE 5
204562 01070} SCOPE
PR4564 012767 006750 DOBL6D MOV #MODEL,MODEJ
Pp4572 012702 006784 MOV #MODE3+2, X2
PP6576 812747 000PES 000144 MOV #5,MODEL
P04604 ©2P5000 CLR %0
206606 074052 XOR %0,0=(2)
0@8610 022767 pOO0P5S 0P2132 CMP #5,MO0DEL
008616 0PPL404 BEQ  v4
2068620 0Q0000 HLY
P@6622 022702 0067%2 oMP #MODE 3, %2
0P6626 ©2PL47% BEQ (o4
206639 0200000 HLT

JTEST DESTINATION MOOE 6
Ppe632 012704 SGOPE
294634 0P5047 000110 CLR MODEL
206640 012702 Q0CRQ6 MOV #6,%2
008644 012703 006792 MOV #MODE 3, X3
006650 74283 177776 XOR %2,=2(3)
PP6654 022767 0OOBD6 0OBD6S cMP #6,MODEL
206662 PPL40} BEO 2
006664 000000 WL T :
026666 0227023 004782 CMP #MODE 3 %3
296672 0QL404 BEO 2
P28674 002000 HLT

JTEST DESTINATION MODE 7
P8676 010701 SCOPE
008700 212767 0@067%2 000042 MOV #MODE3,MODEL
294706 012705 177779 MOV #e10,%5
04712 012767 177777 008032 MOV #e4,MODE3
2p4720 074575 0BET6D XOR %5, 0MODEL 4@ (5)
D@6724 022767 0PO0PY ©POO20 CMP #7,MODE3
224732 0Q140) BEO Y
206734 000000 HLTY
24736 022705 177770 cMP #e10,%5
206742 001404 BEQ R
P04744 000000 HLT
006746 000422 BR 168
224750 0Q0000 MODEL1 @
204752 000000 MODE3I @

IN®g,280,V90,C%0
004754 010703 SCOPE
298756 012700 000004 MOV #14%0
2p8762 0127647 000082 177760 MOV #2,MODEY
008770 012702 06730 MQV #MODEY ) X2
204774 000277 sce
224776 000241 cLe

23147 PAGE 32

JRESTORE STACK PTR

JERROR! INCORRECT RESULT
JCHECK REGISTER

JERROR! REGISTER CONTENTS CHANGED

JERROR! INCORRECT RESULT
JCHECK REGISTER

JERROR! REGISTER CONTENTS CHANGED

JERRAR! INCORRECT RESULT

JERROR! REGISTER CONTENTS CHANGED
160 TO NEXT TEST

ITEST CONDITION CODES WHEN DESTINATION MODE IS NOT = @



MAINDEC=11«DCKBC=A POP{1/25211/45 XOR INST TEST MACY11,6086 17=FEBe72 23147 PAGE 33

DCKBCA

o000
207002
2e70086
2p7p12
097014

297016
207020
037024
097032
297236
207940
op7g42
097246
2p7052
PP70954

297056
207060
237066
2970872
207100
207194
207110
207114
207116

2097120
2@7122
297130
007134
207140
297142
BR7144
2097146
P@7152
2097156
2@7160

207162
207164
287170
207176
297204
207212
207214
297220
8p7222

-

#74p22
216720
922790
QL4011
200020

210701
732720
012767
212703
292277
274043
216700
022700
001404
200000

210701
812767
942702
212767
274267
016700
222709
201403
z7o2200

010703
212767
232704
p12702
poo277
700244
074442
216700
022700
20140}
200000

40703
212720
212767
2127647
274067
216700
922700
201401
000000

178779
202009

eeo0ge
200004
pR67%2

170730
pooReyY

177777
177777
poooL2
177644
1708666
poogpé

177777
177777
po67%0

170624
pooees

177777
277777
200006
177540
170562
pooRLR

177716

177662
178678

177620

177552
1708572

XQR
MOV
CMP
BEQ
HLY

INsQ, 2%8,V=2,Cn1
SCOPE
MOV
MOV
MOV
scc
XOR
MOV
cMP
BEQ
HLT

IN=Q,2%1,V%0.,C%0
SCOPE
MoV
MOV
MOV
XOR
MOV
cMP
BEQ
HLT

IN®@,Zn1,Ve0,Cn1
SCOPE
MOV
MOV
MOV
scC
CL2
XOR
MOV
CMP
BEQ
LT

INwi,280,Ve2,Cug
SCOPE
MOV
MOV
MOV
XOR
MOV
CMP
BEQ
HLT

%B,(2)+
PSW, %0
B0, %2
L)

#2.%0
#4,MODEYL
#MODEJ %3

XB,=(3)
PSW, %0
#1,.%02
Rl

#ey,MODEL
¥el, %2
#12,PSW
%2,MODEL
PSW,%@
e, X2
4
JERROR! INCORRECT CONDITION CODES

#e=1,MODEY
"lgx‘
#MODEL, %2

%4,(2)
PSW, %@
#5,%0
o4
JERROR! INCORRECT CONDITION CODES

#=l,%0
#77777,M0DE1
#6,PSH
%2 ,MODEY
PSW, %0
#40,%0
44
yEPROR! INCORRECT CONDITION CODES



e ~
gé&ggic-li-uckac-A POP{1/25«11745 XOR INST TEST MACY11,606 17<FEBa72
jNni,2s0,VsQ,Ca1

@07224 040704 SCOPE
8@7226 042700 277777 MOV ¥77777,%0
@07232 0832787 177777 177540 MOV #=4,MODEY
P07240 012767 000007 4170530 MOV #7,PSy
PO7246 DB74067 177476 XOR %0, MODEL
2p7252 0414700 470520 MOV PSW, %@
207256 022700 000011 - CMP #11,%0
PP7262 021401 BEQ Y
Pp7264 000000 HILT

poPR00 NeQ

opeopoe SOURCEm=X2
PP7266 010701 SCOPE
PP7270 042767 0@7322 178516 MOV #TBITSET, 14
PP7276 OO5067 1708514 CLR 16
BE7302 @12702 000377 MOV #377,%2
P07306 003087 170464 CLR PSW
BO73L2 D74267 170440 XOR X2, PSW
007316 000240 NOP
PO7328 000401 BR R
207322 000000 TBITSETIHLY
207324 0822767 O0PB3IBT 178444 cMP #357,PSW
PR7332 POL40}Y BEQ el .
207334 002000 HE T
PA7338 0408703 SCOPE
PR734p 012702 008387 MOV #357,%2
DR7344 012767 0OO3IBT 178424 MOV #357,PSW
BO73%2 074267 170420 XOR %2,PSW
PO7356 016700 170444 MOV PSW, %2
e07362 00401 BEQ Y
207364 000200 ML T
PR7366 POB267 41714086 ENDI INC ICNY
8p7372 @26727 174402 100000 CMP ICNT, #400000
PO7400 0RL402 BEG DONE
097402 ©0QL67 171400 JMP BEGIN
BP7406 042767 00BDE7 4178152 DONEI MOV #7,TPBUF
PO7444 109767 170144 TS$T8 TPCSR
027420 100373 BpPL Y
PO7422 013702 0200042 MOV 0k42,%2
Pp7426 PO1404 BEQ DONEL
PO7432 0R4742 JSR 7:82)
PR7432 0QR240 NOQP
PO7434 00240 NOP
PO7436 200240 NOP
D@7443 000167 171336 DONEL) JMP START

gPope0Y END

23147 PAGE 34

JERROR! INCORRECT CONDITION CODES

JTEST THAY XOR QPERATES PROPERLY WHEN THE DESTINATION 1S THE PSW,

ISET UP TRACE TRAP VECTOR
110 TRAP O /TYBITSET/

JICLEAR THE PSW
JXOR THE #377 INTO A CLEAR PSW

JT BIT SEY
j010 ALL BUT THE T BIT SET?

JPSW 1S NOT CLEAR

JPRE SET THE STATUS WORD
JGET RESULY

JERROR XOR #357,#337 FAILED TO CLEAR PSW
) INCREMENY THE PASS GCOUN?

GO TO DONE IF 1282 PASSES COMPLETED
JRESTART PROGRAM
JRING BELL

JGET DECTAPE MONITOR RETURN ADDRESS
100 NOT RETURN IF (42)sp

JRETURN TO DECTAPE MON!TOR

1ABTLL

JOVERLAY

JAREA



MAINDEC»11«DCK3CeA POP{1/R5=11/45 XOR INST TEST MACY11;686 17-FEBw72 23147 PAGE 35
DCKBCA SYMBOL TABLE

BEGIN pRLo06 DEST ® 006202 DISPLA = 17757¢@ DONE 207406
DONEL 207442 END g27366 HLT = P0@g2p0 ICNT 201207
10ESY 262082 MQDE4 26750 MODEZ27 P26266 MODER 206752
N = 200002 PSW 8 177776 RSLT =%000002 SCOPE = 218734
SOURCE =xQ2p0@2 START poiep2 STKPTR = 200502 SWR = 17757¢2
TBITSE po7322 TPBUF = 177566 TPCSR = 177564 UBREAK = 177772
Y s 209115 B x QB7444

ERRORS DETECTED: @




MAINDECw11»DCKBD~B 11/45,11/40 MARK TEST

bOCcxkBnB
b}

000000
odepal
sepen2
20073
#0004
n0e005
o0apné
e0a0pa7

ala701
200090
177776
177770
177564

177566 -

177570
177570

2808590

0064029
po64R]
206402

—_—

MACY11,620 21eNOYm72

17142 PAGE 1

+TITLE MAINDEC=14~DCKBD~B 11/45,11/40 MARK TEST

+NLIST MC,MD,SEQ

LIST ME
+ABS

JTEST DCKBD= TEST OF THE MARK INSTRUCTION

JOPERATIONS

) TEMP ¢ PC+2aN
PC R5

Ré TEMP
RS (TEMP)
R6 TEMP«2

z T EeTYT

ISTARTING PROCEEDURE

| LOAD ADDRESS=2080

PRESS STARY

JTEMP HOLDS A MEMORY ADDRESS

)
) STACK POINTER IS SET AT 590
} BELL WILL RING WHEN YEST 18 COMPLETE

JEQUATE STATEMENTSI
RRuxn
Ris¥X1
R2m%2
R3=%3
R4sx4
R58%5
SPeXxé
PCuXx?

SCOPEsSP107p4
WLYsWALT
PSW=477776
UBREAK=177770
TPCSRE177564
TPBUF=177566
SWR=z177579
DISPLAY=2177572

JSTACK POINTER
JPROGRAM COUNTER

IMOVE PC 10 RY

JERROR HALY

JPROCESSOR STATUS WORD ADDRESS

JADDRESS OF PDP14/45 MICRQ BREAK REGISTER
JADDRESS OF TELEPRINTER CSR

JADDRESS OF CONSOLE SWITCW REGISTER
JADDRESS OF CONSOLE DISPLAY REGISYER

joasssnesnscnsnsnnansINITIAL STACK POINTERAQSOIRessanaattnsatnassnnnsns

STKPTR=0500

JMARK EQUATES
MARKZ®SMARK @
MARK{SMARKaY
MARK2EMARK+2

JINITIAL STACK SETTING



MAINDEC-11=DCKBD~B 11/45,11/748 MARK TEST

0CckB0DB

ngtgne
fgeon2
202034
no2ad6
npeoio
dgep12
200014
PpeR16
fpep20
fpeg22
npe@24
2peo26
Apeo30
P@ee32
2p2R34
208036
Ap0p40
2p2042
Bolo4s
2geg46
2e0@50
2p2052
Po2os4
2020%6
fpeo60
2o8p62
2ocps4
2820266
2g8270
202872
202074
202076
700109
2ge1n2
ppe104
202106
fpe110
fpe112
Aoe114
2ge116
782129
208122
202124
fpeL26
PpR130
ppe132
290134
2p8136
fpe140

agoene

n0nBM2
209320
200276
nooane
poue12
282020
noaR1é
nenoad
p2ng22
LT L]
po0B26
200000
n00032
p00000
00020836
LEELLL
200042
5000020
200046
nenpap
A00052
A0ape0
200056
200020
peoR62
a09920
200066
200070
209872
200078
790076
00000
#0302
7202020
ndnid6
nongeo
peeLL2
200000
2908116
nonee0
2909122
P00000
P00126
a0p008
20,132
LR L
292136
209000
nep142

MACY11,620 21~NOV=72

50
WNLIST

1*2
HALT
142
HALT
142
HALY
02
HALY
1+2
HALT
2
HALT
1 #2
HALT
1*2
HALY
2
HALY
02
HALY
j o2
HALT
2
HALT
' #2
HALT
102
HALY
02
HALT
2
HALTY
92
HALY
*2
HALT
102
HALTY
*2
HALT
2
HALY
' #2
HALY
' *2
HALY
102
HALT
42

MC,MD,SEQ

D



»

MAINDEC~11«DCKRD=B 11/45,11/4@ MARK tEST

DCKBNB

npe142
008144
?pe146
202150
208152
dge154
22156
fge160
702162
200164
202166
222179
208172
n08174
222176
222200
208202
fpe204
7282a6
208219
290212
002214
708216
702229
202222
002224
neL226
n@e230
200232
202234
nee236
20240
208242
200244
202246
ne8250
nee252
202254
208256
202260
208262
200264
208266
200270
298272
202274
220276
PTELT)
?p0302
208304
2208306
220318
208312
208314

p00000
n@e146
2000980
20M152
n030020
290156
a00070
n0n162
o0np20
nBA166
LR
agaLr2
CELT L)
2008176
200000
nom2082
08000
208226
"oARA0
pen212
800000
nBe216
LE LT LT
fpgee22
CILELL)
ndp226
208000
nep232
LELTFLD)
neA236
L LT
a0p242
200000
nen246
(LI 1t
sea252
nopRap
a082%6
CELELL
n00262
pdopoe
283266
LI LI LL
nos272
CLLT LT
0276
LTI
aea302
L LELL)
28n326
703000
798312
p0ee00
200316

MACY11,620

HALY
192
HALT
142
HALT
y¢2
HALT
2
HALT
.2
HALT
2
HALT
02
HALT
102
HALY
2
HALT
12
HALY
.2
HALT
02
HALT
02
HALT
1*2
HALTY
142
HALT
Y
HALT
02
HALT

24=NOym72

17142

PAGE 2-1



MAINDEC~11=DCKBD=B 11/45,11/40 MARK TEST

DCKBOB

202316
722320
702322
200324
782326
202330
720332
308334
208336
202340
002342
008344
202346
2ae3se
202352
PAL3S4
202356
2p2360
202362
nO8364
PRe366

-A@8370

2pe372
20374
PeR376

220000
700322
nesea0
n0n326
neeaAp
209332
720000
200336
n20000
780342
nBpo00e
200346
200009
7Pa352
opa0ee
non356
nooBae
PR0362
02000
n00366
peecan
p@0372
00000
p00376
neAdne

MACY11,62@ 21=NNye72

HALTY
12
HALT
142
HALY
142
HALT
102
HALT
0 s2
HALT
%2
HALT
1 #2
HALT
1 *2
HALT
102
HALT
102
HALT
%2
HALT
02
HALY
LIST

ME

-

x

17142

PAGE 2«2
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MAINDEC-11»DCKBD~B 11/45,11/48 MARK TEST MACY11,628 21»NOVe72 17142 PAGE 3
DCKBDB
pON202 3200
PaR208 00d167 DBEA576 JMP START
701000 (51000
291080 0QMRMR ICNT1 a JCONTAINS PASS COUNT
2gi@22 005067 177772 START} CLR 1CNT JCLEAR PASS COUNT
301006 @a12706 @@050¢ BEGINY MOV #STKPTR,SP )ISET STACK POINTER
201012 016737 177762 17757@ MOV ICNT,@#01SPLAY JDISPLAY PASS COUNT
fP1020 32737 7pP4d@ 4177570 BIY #400,@#SWR JLOAD PDP11/45 MICRO BREAK REGISTER
701026 201403 BEO 2T,
2010830 113737 4177578 177770 MOVB @#SWR,P#UBREAK L 0AD MICRO BREAK REG WITH SROe7
JTEST THAT THE OPERATION PCeR5 1S PERFORMED
201036 a21p701 SCOPE
291040 12706 @pPS50Q MOV H#STKPTR,SP JINITIALIZE THE STACK POINTER
221044 012705 0@L054 MOV #70A,R5 JILOAD R5
201050 26470 MARK ] JMARK Nzp
201052 0@RRA0 HALT 1PC«RS FAILED
201954 200A249 TOAL NOP JPC+R5 0K
JTEST THAT THE STACK POINTER (R6) CONTYAINS THWE PROPER VALUE
Ap10%6 0410701 SCOPE
791060 012706 £pR500 MOV #STKPTR,SP JINIVIALIZE THE STACK POINTER
201064 012705 0@@4072 MOV #T1A,R5 J1LOAD RS
001078 0064970 MARK 9 IMARK N=f§
JFUNCTION RESULTS Ns@
JTEMP « PC#(28N) TEMP s #TLA«(28N) » #T1A
JPE & RS PC = #TLA
ISP = TEMP SP m ETLA+(20N) B #T4A
JRS & (TEMP) RS 3 (#TLA®(2aN) 3 (T1iA) NOT YESTED
ISP & TEMPe2 SP w #T1A+(28N)e2 a #T1Aw2 TESTER
821972 019670 TiAS MOV SP,RO 1GET RESULTANT SP
201074 022706 Gpie74 CMP #2aPe24T4A,SP JSP = NTLAw(248)42? NOTE,
291100 @@1401 BEQ L JH2aP#2+T4A & HTLA%(200)%2
221102 000000 KLY JERROR INCORREEY RESULTYANT SP
JITEST YHAY RS 1S PROPERLY LOADED
291104 oilp70} SCOPE
201106 012776 0@0500 MOV #STKPTR,SP
008112 012705 @p112¢ MOV #72A,R8
021116 084020 MARK ]
JFUNCTION RESULTS Nu@d
JTEMP & PCe(2aN) TEMP & #T2A«(28N) m #7T2A
JPE  +« RS PC s #72A
)Sp e TEMP sSp s AT2A«(20N) & ¥T2A
JRS  « (TEMP) RS & (#T2A%(24N)) » (T2A) ® 240 (NOR)
ISP« TEMPe2 SP = #T2A+(28N)e2 = #T2Ae2
201120 nQ0240 T2Al NOP
201122 MiA520 MOV R5,R0 JIGET CONTENTS OF RS

708124 m22785 7A@08240 CMP #NOP,R5 IRS ® (#T2Ae(2aN)) = (T2A)?



MAINDEC-11=DCKBD-B 11/45,11/42 MARK TEST

DCKBNB

291130
791132

791134
791136
221142
291146

791150
2g1152
221156
21160

#p1162
701164
201170
292174

201176
Pps2ee
ppl284
2g12e6

fp1210
8pt212

ne1421
pon020
nennR3
200000

712741
nL2706
n12725
n06420

fln600
p22776
201401
e0ne00

neEQ24
ageonl

nia701
al2706
212775
PRs471

P10600
822726
po14al
6000020

2280025
200002

Aale7a1
n12706

nge50g
Ap1150

#1152

AQa520
791176

291202

2pa509

MACY11,620 21=NOV=72 17142 PAGE 3-1

BREQ 4
HLY
c=3
M=
JTEST THAT TWE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (B=77)

SCOPE

MOV #STKPTR,SP JINITIALIZE TME STACK POINTER

MOV #T3A,R5 1LOAD RS

MARK 1] IMARK N=g
j0.0'0i.OOQOIQ‘“Q.bQ!Dl.QQCOIQil!.ii'l“ﬂﬁii&&&ﬂ.l#ﬂi"ﬂllbIG!lnidiﬂli.#lh
JFUNCTJON RESULTS N=@ .
JITEMP « PCa(2#N) TEMP= #T3A+(2%p) [
JPC  « RS PC s T3A »
(K1 e TEMP SP s #TIA+(207) L
JRS & (TEMP) RS & (#T3A+(2s0)) *
ISP e TEMP&2 SP = #T3A+(2%p)e2 *
].Ql.....l"bii'i'li0.Qiliiilhﬁidllvlﬂ.ililiﬂ0.00{!!'000!6!oliﬂliﬁiill#l.
T3AS MOV SP,Re _ IGET RESULYANT SP

CMP #2a0eT3As2,8P ISP = HETIAe(2e0)e2?

BEQ t4 )

HLY JERROR INCORRECT RESULTANT SP

CsCet

MaMeq

JTEST THAT THWE STAEK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (#-77)

SCOPE

MoV #STKPTR, SP JINITIALIZE THE STACK POINTER
MOV #T4A,R5 JLOAD R5

MARK 1 JMARK N=y

’.Q..'.l.....'.ll.bll.'.II."QQ!..Ql..'ll.ﬁiﬁiﬂﬁhiﬂiihl'.llOlli.i'.ﬁ..’i.

JFUNCYION RESULTS Nai

JTEMP & PCu(2#N) TEMP® #T4A+(2%1) .
1PC « R5 PC s T4A ]
}SP = TEMP SP g #T4Ae(281) L4
IRS « (TEMP) RS s (#T4A4(201)) L]
ISP & TEMPe2 ) SP m #T4A+(201)e2 ] .
IRXXI XX R RIS R XY PR 22 A 2 X XX RS Y R XX RS SRS FX 2 R XXX SRS XY XYY SRR YT )
TéAs MOV SP,R® JGET RESULTANT SP

cMP #2ageT4Ae2,5P ISP 3 MT4A%(2404)e27

BEQ Y

HLY JERROR INCORRECT RESULTANT SP

CsCey

MsMe+q

ITEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (2-77)

SCOPF ‘

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER

Y



)

MAINDEC~11~DCKBD=B 11/45,11/4@ MARK TEST

DCKBDB

71216
Pet222

#g1224
231226
091232
791234

294236
2ps240
fo1244
2012580

#p1252
721234
931260
21262

Baf264
ApL266
201272
@pga7é

812785
pBe402

Pi0600
222706
po1401
ecppn0

p0nB06
p0a223

210701
#12706
012795
006403

ginean
#2706
p01401
LILILT

p0008087
a0e004

pin70d
842786
812795
2064024

#g1224

294232

8gd5a0
Pp1252

0g1262

290500
293309

g"x

MACY117620 21wNOVe?2 17142 PAGE 3«2

MOV #T85A,R9 JLOAD R5

MARK 2 JMARK N=2
|.........QQQ‘ll..’.'.'“i...l"'0..‘..'!0".&!0.&#‘0".*'.CQ’Q.Q..UQ....‘
JFUNCTION RESULTS N=2 4
JYEMP » PCe(2#N) TEMPa #T5A+(222) L]
IPC « RS PC s T5A L
jSe s TEMP sp 2 ¥T5A+(202) L]
JRS « (YEMP) RS n (HTBAe(2x2)) .
1Se o TEMPa2 sp B #T5A+(282)s2 o
KX 2 X 2 Y S ¥R X Y R Y Y R Y Y Y Y Y Y R R Y Y Y XY Y X X XX S R X N R R R X X2 XXZXXXXX)
T5A1 MOV SP,Rp JIGET RESULYANT SP

cHP #2a2+475A2,8P ISP = KTBAC(2#2)42?

BEQ v 4 )

HLT JERROR INCORRECT RESULTANT SP

Culsi

MaMey

JTEST THAT THE STAGK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTJON FOR ALL VALUES OF N (B~77)

score

MoV #STKPTR,SP JINITIALIZE THE STACK POINTER
MOV #T6A,R5 JLOAD RS

MARK 3 JIMARK N=z3

LIy Y Y Y Y Y Yy Y Y Y Y Y Py Y P Yy L R R N Ty

JFUNCYION RESULTS N=3 .
ITEMP @ PCa(2#N) TEMPs #T6Ae(243) [
JPC e R5 PC s TéA .
)Se s TEMP sp s ET6A+(263) .
)RS5 « (TEMP) RS 8 (KT6A«(203)) »
ISP« TEMPa2 _ SP = KTHA+(283)e2 , .
’.l....l........i.....i.lll.li..ll.il..!..‘{.llﬁil.i60!0.6!.'&..0...0....
T6A MOV SP,R0O IGET RESULYANY SP

cue #2a3eTOA2,8P ISP 3 HT6Ae(203)427

BEQ el

HLY JERROR INCORREET RESULTANT SP

CaCey

MaMed

JITEST THAY THE STAEK POINTER CONTAINS THE PROPER VALUE AFTER YHE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

score . ,

MOV #STHPTR, SP JINITIALIZE THE STACK POINTER

MOV #T7A,RS JLOAD RS

MARK 4 IMARK N=4
]QQQIQ.QQilQQQQQCQb.IQlQ.l..b.OQQOllDlQ{QlQQi.i'.l.i.ﬁ.!Ql.'l..l.’..l.i.‘
IFUNCTION RESULTS Nud »
JTEMP « PCa(2#N) TEMPy #T7A4(284) .
JIPC  « RS PC 8 T7A .
ISP « TEMP sp s #TTA+(284) .



MAINDEC=11~DCKBD=B 11/45,11/48 MARK TEST
DCkBOB

2013029
egi3a2
ap1306
001310

Alo6A0
722706
901401
200030

091312

popo10e
209085

Pg1312
Pp1314
201320
PR1324

ple701
nl27e6
mi27e5
26405

290500
PRL326

221326
291330
203334
201336

810600
022706
p01401
a00000

nooRLl
noeRR6

791342

201340
fApg342
223346
pg1352

pin7el
#12706
ni27@5
nBs46

290509
201354

#g1354
A04356
201362
Po3364

0i0620
822706
aR140]
80820

2@4372
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IRS  « (YEMP) RS & (#T74%(244)) .
1SP & TEMPs2 Sp 8 #T7A+(284)02 »
).Q.'QQQ.Q..D'!.lel'G..OGI.Q.Q.Ci.DOQ“OGIQ.QGIQQGGOGOQQl.lOGIQQQOQ'Q.QQ.
T7As MOV SP.RO JGET RESULTANT SP

cMP #284eTTA42,SP  JSP 3 #T7pe(264)427

BEO 4 . .

HLY JERROR INCORRECT RESULTANT SP

Culey

M3Meyg

JTEST THAY THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (@-77)

SCOPE

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER
MOV #T404,R5 JLOAD RS

MARK 5 JMARK N=z5

'.l...."'.lb.‘l‘Qb’.....G...I...QI....ill'.'.Q'Q"Q‘QQ'.'C..'..Q.Q..Ql.'

JFUNCTION RESULTS N=5 .
ITEMP & PCe(28N) TEMPE #T48A¢(245) .
jPC e RS PC s Ti0A .
ISP« TEMP SP & #TLBA¢(2s5) .
IRS = (TEMP) RS 8 (#T40A%(245)) .
JSP « TEMPa#2 Sp s #TL0A(285)42 .

'..'.'..IQ..OI...'6.....0...".0...’."'.l..lD.....Q.i...'IQ..'.'..Q'...‘

TiBAL MOV SP,Ro IGET RESULTANT SP
CHP ¥285eT40A¢2,SP jSP * HT10A+(205)+27
BEQ 4 . -
HLY JERROR INCORRECY RESULTANT sP
CeCey
MEMe

ITEST THAT THE STACK POINYER CONTAINS THE PROPER VALUE AFTER THE MARK
FINSTRUCTION FOR ALL VALUES OF N (8-77)

SCOPE _ &
MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MOV #TLtA,R5 1L0AD RS
MARK 6 JMARK Nag

(SRR R RN RIS B R R R RS R BB RN R RN R R R B R RN RN R BN RO R RN R RN B R R RN INNN BN

JFUNCTION RESULTS N=é .
JTEMP » PCa(2eN) TEMPs #T11A+(286) .
jPC « RS PC s Ti1A .
ISP ¢ TEMP sp s #T14Ae(246) »
JIRS » (TEMP) RS 8 (HTL1Ae(2a6)) .
ISP & TEMPa2 SP 5 AT14A6(246)e2 .

(RN a NN R NN RN NN R R R R RN RN AR RN AN O RN SR EOR R R RN RN PRI NTEN DRI RERNBONNDEI NS

TiLAY MOV SP,RO JGET RESULTANT SP
CMP W2064T11402,SP JSP 3 #T11A+(206)+27
BEQ Y
HLT JERROR INCORRECT RESULTANT SP




-

MAINDEC=11=DCKBD=B 11/45,11/48 MARK TEST
DCKBDB

800012
nooen?

221366
291370
091374
221400

pie701
al2726
212775
n0s407

Ages500
791402

N91482
Pa1404
791410
201442

niae6eo
722706
n01401
200000

291422

"08013
00010

201444
AB1416
001422
202426

218791
#12706
812705
206419

7290580
201430

2p1430
202432
201436
221440

elm6a0
822726
01401
eodapap

2@g1452

200014
adoeil

202442
003444
201450

218701
plaraé 0500
042785 BpL456

-
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CaCey

MaMeq
JTEST THAT THE STACK POINYER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (0-77)

ScoPE |

MOV #STKPTR, SP VINITIALIZE THE STACK POINTER
MOV #T12A,R5 JLOAD RS

MARK 7 IMARK N=7

S RN R IN R RN R R PRI NN RPN BB R R NN O DB R BN N PRGN B BB BRI RERBBOD PR RN R BB BB DRRBO RS

JFUNCTION RESULTS Ns7 .
JITEMP « PCa(28N) TEMPs #T712A%(28s7) L]
JPC « R5 PC 3 T12A »
}SP « TEMP SP 3 #T12A+(247) .
IRS  « (TEMP) RS = (WT42A¢(247)) »
ISP e TEMP42 1.4 3 #T12A+(2a7)02 )

[ ]

l.Q"Q...Q.Q....Q.b‘ll..'.'C'.QQ...Q’..QQQ.QI..l.l....l.“h.".....'.".Q

T1i2A1 MOV SP,RO JIGET RESULYANY SP
] 1 #227+T42402,8Pp SP = #T42A4(247)+27
BEQ Y
HLY JIERROR INCORREGT RESULYANT SP
CaCey
MsMeq

STEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR AL VALUES OF N (8-77)

SCOPE

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER

MoV #TL3A,R5 JILOAD RS

MARK 10 JMARK Nz1@
]0.00.0QGQOQQQi.!!b...i.b......!000!00QﬁﬂQOOOOOQQQOQQ.QOOQO.*OQGQQ!OQ.QOQ
JFUNCTION RESULTS N=i® "
JTEMP & PCé(28N) TEMPs #TL{3A¢(2e10) .
IPC « R5 PC s T13A .
ISP e TEMP SP 3 #T13A%(2e19) .
JRS & (TEMP) RS 5 (#TL3A+(2018)) "
ISP e TEMPe2 _ SP  m #T13A(2410)42 )
JRER NGB BBBRNNBBBBQQOBRVQBNBPINNVENROBRRNRGNNEOBRNRNBEOTRRNBRRERBTRDBRBBNNNY

Y43A1 MOV SP,RO JGET RESULYANT SP
CMP #28L00T13A42,5P ISP 8 #TLIA¢(2840)¢27
BEQ Y
HL? JERROR INCORRECT RESULTANT SP
CeCed
MaMed

JTEST THAY THE STACK POINYER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

SCOPE .
MOV #STKPTR, 8P JINITIALIZE THE STACK POINTER
MOV #74i44,R5 1LOAD RS



MAINDEC-11+DCKBD=B 11/45,11/4@ MARK TYEST

DCKkBDB

n@1454

221456
201460
P@1464
201466

201470
091472
201476
2g1582

f2a1504
Pa1506
2p15412
201514

Pe1516
21520
201524
2@1530

006411

pim6ng
722776
po1491
p0009%8

A0e015
nlne12

nia701
nL2706
912795
aPs412

nln6no
n22706
p01401
pe9000

702016
00013

al0781
pL27286
#12785
PA6413

2p1502

790500
201504

#p1532

pposSee
201532
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MARK 11 JMARK N=11
]l....Q'G.'.lll!00&.0'&'.l’.'....lb#l.ﬂc...'liii!l“’idlﬁ.lbi"ib.'.ﬂ!ili
JFUNCTION RESULTS N=i1l .
J1TEMP » PCe(24N) TEMP3 #T14A+(2#11) ®
jPC ¢ RS PC s T14A *
}SP « TEMP sp s #T14A¢(2811) .
$1RS e (TEMP) RS a (#T14A+(2¢11)) ®
}Se « TEMP42 SP E #T14A%(2811)¢2 -
}.'IO'!G.!Q.OOQGOiQQDQOCQ.QQQGQlQOQGOGDQO...0.0!.!.00&0!'.6.UDQQOOQQ'.QQO
T14A1 MOV SP,RO JGET RESULTANT SP

CMP #20114T14442,SP JSP 3 HT14Ae(2011)#2?

BEOQ 4 .

HLT JERROR INCORREET RESULTANT SP

CsC+y

MaMey

JTEST THAT THE STACK POINYER CONTAINS THE PROPER VALUE AFTER THWE MARK
JINSTRUCTION FOR ALL VALUES OF N (08-77)

SCOPE

Mov MSTKPTR,SP JINITIALIZE THE STACK POINTER

MOV #T45A,R5 JLOAD RS

MARK 12 JMARK N=12
'..."........'..'b.’..'.....'Q......'.I...l...'ﬂ.ﬁ...l."'Q..‘l."'..'.‘
JFUNCTION RESULTS N=42 .
JTEMP e PC#(2eN) TEMPs #T15A+(2#12) .
J1PC * RS PC 3 T84 .
ISe « TEMP sp 3 #T15A¢(2412) L
JIR5 « (YEMP) RS 5 (#T15A+(2012)) L
}Sp e TEMP#2 ) sp 3 #T15A¢(2012)e2 *
li.'l..'.l'..."i.’.l..'...Ql’i..l'lli..lQ..l.!.i..ll.ll...0...!'.&.!6...
T1%A¢ MOV SP,Rp JIGET RESULTANT SP

CcmpP #2212+T15A%2,SP ISP ® #T15A+(2a12)2?

BEQ e ‘

HLY JERROR INCORRECY RESULYANT SP

CsC+y

MzM+q

JTEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (@8~-77)

SCOPE

MoV #STKPTR, 8P JINITIALIZE THE STACK POINTER

Moy #T16A,R5 JLOAD R5

MARK 13 JMARK N=13
RPN NP R RN RN RN R R R RN RN RN R B RO R N RS R R NN RN RO CRRD BN DR BB RORRRRRORS
JFUNCTION RESULTS N=i3 ]
JITEMP &« PCo(28N) TEMPE #T16A+(2#13) L
1PC » R5 PC s T16A .
ISpe n TEMP SP 8 #T16A+(2413) .
IRB « (TEMP) RS 8 (#Y16A¢(2213)) .

f '.I;\;

S



Fo

MAINDEC=11+DCKBD=B 11/45,11/4@8 MARK TEST
DckB0B

#81532
2@1534
NB1540
ag1542

710600
022726
201401
P00030

291562

penoL7
p00014

81544
201546
224552
721556

aim721
ni2726
812705
206414

7@0500
201560

791560
PR562
781566
221570

010600
822776
001401
200000

20090208
peADL5

AoL612

2g1572
203574
223600
091604

alp701
pi2726
#12705
PR6415

ap0500
331606

221686
2p1610
0p1614
281616

nioeag
p22706
n01401
pooR28

Ap1642

ISp

-

~
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TEMP+2 SpP 2 #T16A+(2813)42 d

RN RN R BN RN BB RN RN B BN R RO RN O RN LR B IR R R BN E R R DB NN GO RN RO RN TR RN

Ti6A1

MOV SP,R@ IGET RESULTANT SP

CMP H2a13+T16A%2,SP ISP a #T16A+(2#13)427

BEQ !

HLT JERROR INCORRECT RESULTANTY SP
CsCay

MaMay

JTEST YHAY THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

SCoPe

MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MOV #T47A4R5 1LOAD RS

MARK 14 JMARK N=14

,."COQQGO‘.OCQ"‘b."i"l..'.....!l“"!Q..l'QQQ.l‘i‘&lﬁ‘.i‘.l".li..’i.‘

JTEMP « PCs(2#N)

JIPC
}Sp
JIRS

-
L]
L]

JFUNCTION RESULTS N=i4 ]
TEMPs #T17A+(2014) [}

RS PC s T17A L]

TEMP Sp 8 #T17A+(2014) .

CTEMP) RS 5 (#T47Ae(2014)) *

TEMPe2 SpP 2 #T1TA¢(2814)42 .

1Sp

[ ]

]lOOQ..'l.'Q“QI..‘Q.lﬁ’l0.0..{’i.i!."i’&lQOlQQQQ*‘.."*il’l.‘..li.’.i’b

TivAS

MOV SP,RP JIGET RESULTANT SP

CMP #20140T1TA%2,8P JSP = HTL7Ae(2014)92?

BEQ Y]

HLY JERROR INCORRECT RESULYTANT SP
CeC+y

MEMsq

JTEST THAY THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

SCOPE ‘

MOV #SYTKPTR, SP JINITIALIZE THE STACK POINTER
MOV #T7204A,R5 1LOAD RS

MARK 15 JMARK Ns315

l'Q.CQQOQ.'Q.QQ‘Q.‘.QC.QQl‘.."lﬁ..Q'QQ.O'Q.00'.{.’0“.0..Dll.ﬁ.’...&.il.

JFUNCTION RESULTS N=i8

STEMP &« PCa(2#N)

IPC
1Sp
IRS
1sp

SRR RN IR Rt a N e RNt RN RN NI E NG RN RO AR AN R NSRRI BN RN RN RGN RNRONREND

T20A10

L
L]
L
L]

TEMPs #T20A+(2a15) .
RS PC w T20A »
TEMP SP 3 #720A+(2s15) *
(TEMP) RS 8 (#T20A4(2015)) .
TEMPa2 SP 8 #T20A¢(2w15)e? .

MoV SP,RO JGET RESULYANT SP

CMP H#2a4BeT20A%2,SP ISP = #T20A+(2415)¢27

BEQ o4 )
HLY JERROR INCORRECT RESULTANT SP



MAINDEC-11=DCKBD~B 11/45,11/48 MARK TEST
DCKBDB

2009021

noavL6
291620 @al0701
#1622 012726 ApASAY
723626 Q12795 291634
721632 006416
201634 010600
721636 022726 0@1672
A1642 901401
201644 000020

naag22

200017
n31646 MLA701
201650 012706 0p0500
201654 @12775 091662
391660 706417
P01662 010600
Pp1664 @22706 0pL722
201672 001401
201672 00p0020

200023

neop20
701674 010701
201676 912736 Q2pA500
2017082 0312705 0pL710
7037086 006420

MACY11,62@ 21«NOyw?72 17142 PAGE 3-7

CzCey

MazM+1
JTEST THAT TWE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (2-77)

SCOPE

MOV #STKPTR,SP JINITIALIZE THE STACK ROINTER

MOV #721A,R5 JLDAD RS

MARK 16 . JMARK N=16
].’0.000'0'0!000&050&..0I.00.#'Oﬂiil.llGGQQQDGGlQQGIGGQGQ&'Q&.QOO'.I!OG..
JFUNCTION RESULTS N=16
JTEMP « PCe(28N) TEMPa #T21A+(2816) L]
JPC  « RS PC = T21A .
}SP « TEMP SP B #T21A+(2»16) L]
IRS « (TEMP) RS & (#T21A%(2616)) .
ISP ¢ TEMPe2 ) SP 3 #T21A¢(2#16) 42 #
]l'l‘..l.....'.l..’..ﬂ.'.l"..&llili‘.l&ii'.ii.l&“#.llllﬁ.li"bll..’llli.

T24A1 MOV SP,R# JGET RESULYANT SP
CMP #2016+T21A%2,SP JSP = #T21A+(2016)%27
BEQ Y
HLY JERROR INCORRECT RESULTANT SP
CaCe+q
MsMey

1TEST THAY THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (@-77)

SCOPE

MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MOV #T22A4R5 JLOAD RS

MARK 17 JMARK N=217

’Q.QQ..I’...Q..i.lb'.....I‘.IO.I.QCQ.Q.G’Q‘.‘.’QGQ'Q‘GQ.“'.QD"O.QI‘!.Q..

JFUNCTION RESULTS N=17

$TEMP & PCe(2#N) TEMPs #T22A¢(2617) .

1PC « R5 PC s T22A .

JSP « TEMP SP 3 #T22A+(2#17) .

JRS « (TEMP) R5 3 (#T722A+(2e17)) L]

ISP ® TEMP+2 SP 3 #T22A+(2417)42 .
»

IRA XXX I YR R R Y X XY R A Ry Y Y Y Y Y R Y Y Y X X R R R X Y X X XX S XXX XXX

T22A1 MOV SP,R@ JGET RESULTANT SP
CMP #2a174T22A+2,SP JSP = #T22A+(2817)¢2?
BEQ Y
HLY JERROR INCORRECT RESULTANT SP
C=Cey
MaMey

JTEST YTHAY THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (2-77)

SCoPE ,

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER
MOV #T23A,R5 JILOAD RS

MARK 20 JMARK N=2p

\
\

e

P
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DCKBDB

'.Q..'.'..'l..’iﬂileQ'....QQ.QOOGOI.Q“Qi..Qﬁlll!ll’“&ﬂQ“IU"O‘IQ'..'O.Q'

JFUNCTION RESULTS N=20 *
JTEMP « PCe#(2#N) TEMPs #T23A+(2s20) *
IPC  « RS PC = T23A .
ISP« TEMP SP 3 #T23A¢(2#20) .
IRS & (TEMP) RS = (#T23A+(2420)) s
ISP« TEMP42 _ SP & #T23A¢(2020)e2 .
’QI.OQDOQOQ..OQ00.'.00"0..‘i.'ll.’i'.thl..il‘l!ﬂ‘.'{i..ll0'0600.00.0’.0
321718 0A1n600 T23A3 MOV SP,RA JGET RESULTANT SP
MR1712 022726 3pL752 CMP #2#20+723A%2,SP JSP 2 #T23A«(2820)e27
701716 0@d1401 BE® Y
31720 o0@nePe HLY JIERROR INCORRECT RESULTANT SP
ILEFL CaCey
203921 MaM+q

JITEST THAY THWE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (P-77)

?@1722 @18701 SCOPE

721724 012706 0EP500 MOV #STKPTR, SP JINITIALIZE THE STACK POINTER
001738 812705 01736 MOV #T24A,R5 ILOAD RS

021734 006421 MARK 21 JMARK N=z2%

L Yy Yy Y Y Y Y R I Y R L Ty

JFUNCTION RESULTS Ns=24¢

JTEMP &« PCa(2#N) , TEMPE #T24A4(2421) .
IPC » RS PC s T24A .
ISP « TEMP Sp 3 #T24A%(2421) »
1R = (TEMP) RS 8 (#724A(2221)) "
jSp * TEMP#2 ' SP 8 HT24A+(2021)42 hd
IR X2 X2 X X E Y R Y F Y R R R Y Y R R R R Y Y Y R Y Y Y ¥ Y Y S R Y23 X XY XTI I I
201736 @aL0600 T24A1 MOV SP,RQ JGET RESULTANT Sp
201740 @22706 0p2002 CMP H2#21+4T24A¢2,SP JSP 3 #T24A+(2021)427
701744 001421 BEQ Ry
001746 0000020 HLY JERROR INCORRECY RESULYANT SP
20m@25 CsCet
neop22 MaMaq

ITEST THAT TME STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

221758 8109701 SCOPE

2017352 012706 @pA500 MOV #STKPTR,SP PINITIALIZE THE STACK POINTER
201756 012725 001764 MOV #725A,R5. ILOAD R5

001762 0026422 MARK 22 IMARK N=22

'Ill'.’..i....i.Q.b.ll.'l.l..l.l.&.l’..i.'.II..'.l'l.'l.l.'...'.....’...b

JFUNCTION RESULTS N=22 .
JTEMP » PCea(28N) YEMP= #725A¢(2#22) .
1PC « R5 RC 3 T25A @
)Se e TEMP SP 2 #T25A¢(2822) ]
IRS e (TEMP) RS s (#725A+(2622)) 1]
ISP « TEMP#2 SP s #T25A+4(2#22)e2 »



MAINDECe11wDCKRD~B 11/45,11/4@ MARK TEST
DCKBDB

701764 7126020
221766 2227726 Ap2832
291772 001401
721774 o00@70

nonR26

20080223
221776 ai0701
202000 ~12796 2908500
op2024 012795 B3g2012
202010 ©®06423
n@2p12 oin600
202014 022776 092062
702020 001401
202022 p00000

900027

AR2024
Pg2g24 012721
2Q2@26 m12726 0pa5p0
022032 2342725 0292049
#p2036 006424
Pp2040 M10600
002042 022726 0@2112
202046 001401
dg2p5¢ noo000

p0G030

MACY11,62@8 21=NOV=72 17142 PAGE 3-9

A2 22222 T ER 2T RS A A2 2 RS EX 2RI RS S R 2 R RS 2 R R R RN Y F Y R R Y E Y YR YY)

T25A1 MOV SP,Rp JGET RESULTANT SP
CMP #2022+T25442,SP ISP = H#T25A4(2822)+2?
BEQ Y
HLT JERROR INCORRECT RESULTANT SP
CeCeq
MzMey

JTEST THAY THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (2-77)

SCOPE

MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MOV #726A,R5 JLOAD RS

MARK 23 $MARK Nz23

]Q..‘li"i.ll'l'!'bl'l.'..‘.i}.'“.l#‘.‘#li.Dll"ii.ﬂ".".'!‘..'.'....*.‘

JFUNCTION RESULTS N=23 »
JTEMP « PCe(2eN) TEMPs #T26A+%(2#23) .
JIPC ¢ RS PC a T26A [
jSp » TEMP Sp a2 #T26A+(2823) U
IRS s (TEMP) RS 3 (#T26A#(2823)) *
}SP e TEMP#2 Sp ® #T26A¢(2023)4+2 [d

RIS Y Y Yy Y Y Ty Y Y Y Y Y Y X R R Y R Y R Y R Y YR L I

T26A1 MOV SP,R? JGET RESULYANT SP
CMP H2u23+4T26A%2,SP ISP = #T26A+(2#23)%27
BE® 4
HLTY JERROR INCORRECT RESULTANT SP
CsCey
MesMey

JTEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (2-77)

SCOPE

MOV #STKPTR,SP JINITIALIZE TWE STACK POINTER

MOV #T27A,R5 JLOAD RS

MARK 24 JMARK N=z24
]!.ll.l.!.l.o.u&t.b!Oillii..i...’l&i!.ﬁi..l.5.0'&0'!.&.0!.0OQOQGQODIG'Ilb
JFUNCTION RESULTS N=24 .
JTEMP « PCe(2&N) TEMPs #T27A%(2424) .
14 # RS PC s T27A »
ISP« TEMP SP ®» #T27A+(2#24) .
JRS e« (TEMP) RS & (#T27A%(2824)) .
ISP ¢ TEMP+2 SP = HT27A4(2424)42 .

l'0...0'.0....'...b.QC.’!.....'..GIQ...l"'.llﬁ.til!'i"‘{'Ql.QlOlb.’."b

T27A14 MOV SP,RO J1GET RESULTANT SP
CMP W2a244T27A82,5P ISP = #T27A+(2#24)¢2?
BED T+
HLY JERROR [NCGRRECT RESULTANT SP
CaCet



MAINOEC~11eDCKBD~B 11/45,11/40 MARK TESY

DCkBOB

282052
292054
202060
702064

292066
792070
202074
202076

np2100
2pg2i@2
292106
#g2112

202114
202116
Pp2122
002124

292126
222130
202134
22140

7090825

nin7ay
m12726
2427025
06425

plo600
p227026
201401
200070

70PR31
noAB26

ria791
712706
742725
nB6426

710600
922706
01401
@oa00p

Adep32
p0dn027

gip701
n12726
212705
006427

200500
292066

7p2142

ape5a9
2p2114

292172

290500
f2p2i42

)

MACY11,628 21=NOy=72 17142 PAGE 3-10

MaMe+ g

JTEST THAY THE STACK POINTER CONTAINS THF PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (B-77)

SCOPE

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER
MOV #T30A,R5 JLOAD RS

MARK 25 IMARK N=25

IEZ 22X X222 YRR XY Y R XA 2 Xy XY R R R Y Y Y Y R F Y R Y R N R R YT YY)

JFUNCTION RESULTS N=25 .
JTEMP & PC#(28N) TEMP= #T30A%(2#25) »
JPC e RS PC s T304 1]
ISP« YEMP SP 3 #T3CA+(2#25) .
IRS  « (TEMP) R & (#T32A+(2s25)) »
ISP & TEMPe2 _ SP 3 HT3IDAS(2425)42 '
".0.!'0!00Q..0..0"!0.'!.'.0.ﬁl.0&&!0.!“‘Q.lll'ililhllQQQQ.iQ..l.'.Q.Q..
TIBAL MOV SP,RO JGET RESULTANT Sp

CMP #2a25¢TIPA2,SP ISP = HTIPA#(2825)+2?

BEGQ 4

HLY JERROR INCORRECT RESULTANT SP

CaC+y

MsMet

JTEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
slnsvauc;lgu FOR ALL VALUES OF N (B-77)
corr

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER
MOV #T34A,R5 JLOAD RS
MARK 26 JMARK N=z2g

'.Q..I.Q..'...Qil.b.l......Q.l!l..'!’.'.......II&QI...'.‘OGQ‘.l'.’..i...b

JFUNCTION RESULTS N=26 )
JTEMP & PCe(2#N) TEMPs #T31A¢(2426) »
JPC  * RS PC = TIMA .
ISP« TEMP SP  m #T3LA(2826) .
JRS  « (TEMP) RS & (#T31A+(2s24)) .
ISP & TEMPe2 , SP = HTILAV(2026)4+2 .
KA XXX XX FR XY XYY YR 2 Ry Y X R X R XY R X R R Y Y R Y X X XY R R R R X R Y XX X Y YN E XYY Y YY)
T34A1 MOV SP,RO JIGET RESULTANY SP

CMP #2R264T34A%2,SP ISP = ¥T31Ae(2826)427

BEQ Y]

HLY JERROR INCORRECY RESULTANT SP

CsCey

MEMed

JTEST THAT THE STAEK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (0-77)

SCOPE
MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MoV WT3I2A RS JLOAD RS

MARK 27 IMARK N=z27



MAINDEC11=DCKBD-B 11/45,11/40 MARK TEST
DCKBDB

Pgai42
Pp2i144
892150
2p2152

gin6np
2227026
90140}
apnpeo

200833
noop30

fAp2222

202154
092156
8p2162
202166

20701
212706
212705
noe430

Agd500@
792170

22178
fg2172
82176
Bo2200

210600
#22726
201401
n@opae

2@2252

000034
p2AR31

Bp2202
02204
ega210
2092214

18701
212726
812795
206431

Ap@500
792216

MACY11,628 21=NOV~=72 17142 PAGE 3-1%

’...DQGQD’“.QCOQQ’b'Ql"C’.l”&&&.&&#ﬂ’&iﬂ‘*i&ﬁﬁ&i"ﬁ'*ﬁii’&i'iil!IQlﬁ'l’

JFUNCTION RESULTS N=27 L
JTEMP & PCe(28N) TEMPa #732A+(2e27) L3
)PC » R5 PC s T32A a
ISP & TEMP SP 5 #T32A+(2827) *
JRS e (TEMP) A5 3 (#T32A«(2627)) *
ISP e TEMP+2 SP 3 H#T32A+(2027)42 L

*

]..OQQQ.l.'*."".b.i*"ﬁ‘.'ﬂl.’..!Q"‘OOQQQi!&’ﬁ*'&’ii#!.l"!QQ*“QG.O*

Y3241 MOV SP,Rp }1GET RESULTANT SP
CMP #2827+ TI2A42,5P JSP = #T32A+(2027)+27
BEQ b4
HLY J1ERROR INCORRECT RESULTANT SP
CzC+y
MaMeyq

JTESY THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (§-77)

SCOPE

MOV #STKPTR,SP JINITIALIZE THE STACK POINTER

MOV #7334,R5 $LOAD RS

MARK 30 IMARK N=30
|0'0‘0'0‘0'.&0‘.0.5’QOQ.OQC!QQQ.&IQ"I‘**Q‘QQQ‘&*&'Q*&!‘.QOQlOQGQQIOOQQQQ
JFUNCTION RESULTS Ns=30 .
JTEMP » PCe(2aN) TEMPs #T33A+(2430) .
1PC * RS RC s T33A .
)SP « TEMP SP = #T3IIZA(243D) .
IRS & (TEMP) RS = (#733Ae(2630)) .
jSp » YEMP+2 sSp B #T33A¢(2030)42 I

].OOGQG.QGQOO.i’.’b.&0’.5C'Qﬂ&'.0’0.0.'&&".‘&&0}&'50'60’l"”i&bﬁ.i‘.‘&b

T33A1 MOV SP,R® SGET RESULTANT SP
cMP WH2a3BeTIIA®2,SP ISP = #TITA+(2830)+27
BEO Y
HLY JERROR INCORRECT RESULTANT SP
CsCey
MaMed

JTEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
S INSTRUCTION FOR ALL VALUES OF N (2-77)

SCOPE

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER
MOV #T344,R5 1LOAD RS

MARK 31 JMARK N=z31

SRR R BN NSRRI RN SRR NN PR E R R R RSN RN NN RN GO R BB R BB U RPN N BN BN RRBRBRRRE
JFUNCTION RESULTS N=3%

JTEMP & PCe(28N) TEMPS #7342¢(2431)

14 e RS PC 5 T34A

§Se » TEMP SP ® #T34A4(2431)
IRS « (TEMP) RS 3 (HT34A«(2e34))
jSp o TEMP42 SP B #T34A4(2031)¢2

L]
»
.
[ ]
\J
[ ]
,.0""‘9".0".Q.b,.'l"."”ODQQ.&QQ’GO“.i"’l*.i“biﬁ'iQi&“!ﬂl“&ll*b

\ J



MAINDEC=11DCKBD=B 11/45,11/40 MARK TEST

bDckBnB

7p2216
Pg2220
Ap2224
Bg2226

2@2230
202232
202236
Bp2242

Apa244
722246
292252
292254

792236
Pg2260
Apa264
2g2270

2p2272
Pp2274
2p2309
292302

nip6aR
822796
ne1401
apoean

7080835
noeR32

2108701
#127086
212785
nB6432

210600
722726
201423
noea2e

02036
200033

#10701
pl2706
8127085
206433

rio600
922726
pei404
aepeee

200037
pooe34

292302

2908500
np2244

Pp2332

fpR50e
Pp2272

pp2362

-~

MACY11,620 21eNOV»72 17342 PAGE 3~12

T34A1 MOV SP,R@ JGET RESULTANT SP
CMP #2831 +T34A42,SP ISP = #T34A+(2#31)427
BEO Y ,
HLTY JERROR INCERRECT RESULTYANT SP
CsC+yq
MaMey

ITESYT THAT TWE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

SCoPE

MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MOV #735A,R5 JILOAD RS

MARK 32 JMARK N=32

l.GQI'..0.’.....I.i'.'......l"QOQCQQ..G!.'l’.il.l‘.“.QI.O'Q’....Q.......

JFUNCTION RESULTS N=32

STEMP & PC#(2%N) TEMPs #T35A+(2032) g
JIPC & R5 PC = T354A *
ISP ¢ YEMP SP = #T35A¢(2e32) [
IRS « (TEMP) R5 s (#T35A4(2e32)) .
ISP » TEMP+2 ) SP = #T35A+(2a32)¢2 .
KX TI 222 R SRR R Py R X R R R R R R Y R R R R R R Y P Yy Y R R R Y XX R X X X F Y R R XYY XX YYYRY )
T3BA1 MOV SP,R0 ~ JGET RESULTANT SP

CMP #2a324T33A42,SP JSP = #T35A¢(2832)42?

BEQ (4 .

HLY JERROR INCORRECY RESULTANT SP

CuCey

MsMed

JTEST THAY THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (£-77)

SCOPE

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER
MOV #T36A,R5 ILOAD RS

MARK 33 JMARK N233

].......Q.Ql.’....i...ﬁ'.."IQ'Q'O.Q...!I..OQ..0.0'....0"0l'.ﬁ".i.."’b

IFUNCTION RESULTS N233

JTEMP « PCo(26N) TEMP= #T36A¢(2+33) )
JPC e« RS PC s T36A .
)1Sp e TEMP SP 8 #T36A+(2433) s
IRE & (TEMP) RS u (#Y36A¢(2033)) ]
ISP & TEMPe2 . SP = #T36A¢(2433)42 .
].l....'......l‘!lOQQ.Q..!.OQQ...Q.Q0.0.0.0.000..0'.00000.00.‘00'..0.0!..
T38A1 MOV SP,R@ JGET RESULTANT SP

CMP #2a334T36A92,SP ISP 8 #T36Ae(2033)%27

BEQ Y

HLY JERROR INCORRECT RESULTANT SP

CsCeq

MaMey



MAINDECe11«DCKBD=B 11/45,11/40 MARK TEST MACY11,628 21=NOVr?72 17;42 PAGE 3~13
DCkBDB

JTEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFYER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (2-77)

?pa3n4e 21870} sScoPr

232336 ¢12706 ApR57Q MOV #SYKPTR,SP JINITIALIZE THE STACK POINTER
002312 04127725 0@2329 MOV #T37A,R5 1LOAR RS

AP2316 MO6434 MARK 34 JMARK N=34

(RN NN B RS RN NN RN BN RS RN BB RN RN RN RO RSN E RO R BB B R R BB N AR NS RO BRBOIRNEDEE

JFUNCTION RESULTS N=34 .
JTEMP « PCe(2#N) TEMP= #T37A+(2#34) *
1PC + RS PC s T374A -
)}Sp = TEMP Sp 3 #T37A+(2434) "
IRS &« (TEMP) R5 3 (#T37A«(2034)) L]
ISP« TEMP#2 , SP = #T3I7A+(2#34)42 .
SRR RN RN IR R R N E R RN RO R D NSRRI SRR E L N RS RO NN BN R BB IR BB NI RN GU BN RBBORRNIREND
222320 nlo600 T3I7A¢ MOV SP,Ro JGET RESULTYANT Sp
792322 022706 0p2412 CMP #2434+T37A42,SP ISP 3 KT37A«(2834)¢27
702326 no{4my BE® v 4 ,
292330 000020 HLY JERROR INCORRECT RESULTANT sP
nono4D CzC#y
n00835 MaMeq

JTEST THAY THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)
702332 010701 SCOPE

02334 012706 MpES50Q MOV #STKPTR, SP PINITIALIZE THE STACK POINTER
722340 12785 0@p2346 MOV WT4QA,R5 $LOAD RS
02344 POL435 MARK 35 JMARK N=35

|....'..Q..Q...'..'.'.O".'..'....0.0...6."'....0.Q.Q".l'..l"...."l.‘

JFUNCTION RESULTS Na35 .
JTEMP » PCe(28N) TEMP® #T48A%(2435) .
IPC « RS PC s TAQA ™
ISP+ TEMP SP & #T40A+(2435) )
IRS  « (TEMP) RS m (#T43As(2435)) .
jSe * TEMPe2 sp 8 #T40A%(2435)42 _ »
]!I.l.....".'QQGIQQQ...Q.Q.I.Oll.bl.l.!l'.IQI...!'.D!’.QQG 2 XXX Y]
P02346 QL0600 TABAL MOV SP,RO JGET RESULTANT SP
Pe23%8 022776 0p2442 cMP #2a35¢T40A#2,SP JSP = KT4PA+(2#35)+2?
Mp23%4 001403 BE® Y
#22356 go0epan HLT JERROR INCORRECT RESULTANT SP
poa04l CaCe1
208036 MEMsq

JTEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8~77)

902368 olia7n} SCOPE

802362 012706 0p0529 MOV #STKPTR, SP JINITIALIZE THE STACK ROINTER
892366 a12705 0pP2374 MOV #T434,R5 JLOAD R5

#2372 706436 MARK 36 JMARK N336

IREZ2TZZ 2 Y YR YR XX YRR A AR 2 RS2 2 2 AR 222 S XX R R RS RS2 222N RS X T )

£
C‘ s N



~

MAINDEC=112DCKBDwB 11/45514/48 MARK TEST
DCKBDB

npa374
Pe2376
2p2402
Ap2404

nin600
p22706
001401
200000

ap2472

ponp4e2
AvAR37

np2406
Pp2410
fp2414
#2420

nL0774
nL2706
n12705
006437

Ppa500
2p2422

22422
202424
Pp2430
292432

210600
#22706
nP1401
200070

o043
a0eg40

2p2522

Ba2434
PR2436
Bp2442
002446

240A701
012706
12785
BR6440

ope5a8
292459

A"\
MACY11,6280 21=NOV=72 17142 PAGE 3~-14
JFUNCTION RESULTS N=336 .
JTEMP ¢ PCe(28N) TEMP=z #T41A+(2436) .
)PC + RS PC s T41A L
ISP« TEMP SP 3 #T41A¢(2436) *
IRS  « (TEMP) RS = (#T41A¢(2436)) .
ISP« TEMPs2 SP 3 #T41A+(2436)e2 »

|Ql.!o.!i'Qc.!Qio05.00!0.0&&!09!000&6!!'oilououipuhliobibiubﬂllio.i.ioali

T44A4 MOV SP.Re JGET RESULTANT SP
CMP W2u36+TA4LA#2,S5P ISP = #T41A+(2836)27
BEQ Y
HLY JERROR INCORRECT RESULTANT SP
CsCey
MzMey

JTEST THAT THWE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

SCOPE

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER
MOV #7424,R5 ILOAD RS

MARK 37 IMARK N=37

l..'.l....’l...0..5....‘.........0"..Ql......Q.l..I'.I’.IOQQ'QQCQ.GQQQQQ

JFUNCTION RESULTS N=37 .
JTEMP « PCa(2#N) TEMPE #T42A+(2437) .
IPC * RS PC 5 T42A .
I1Sp » TEMP SP 3 #T42A+(2#37) *
JIRS « (TEMP) R5 8 (#T42A¢(2037)) .
ISP« TEMPe2 ) SP & #TA2A+(2037)e2 . A .
'..000..0...'....0'.0..’!!'0'00.0....!OOQQ.QI...OQl.'.ﬂl...."ﬂ!..l.lll..
T42A1 MOV SP,RP JIGET RESULTANT SP

CMP #2037¢T42A02,SP JSP B #T42A+(2037)¢2?

BEQ Y o

HLY JERROR INCORRECY RESULYANT SP

CsCet

MEMeq

JTEST THAY THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK

IINSTRUC;lON FOR ALL VALUES OF N (#-77)

COPE ~
MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MOV #T43A,R5 1LOAD R5
MARK 49 JMARK Nz4p

O Y L L L L L T T T Ty
JFUNCTION RESULTS Ns4Q

JTEMP » PC#(28N) TEMPs #T43A+(2440) .
1] « R5 PC s T43A .
1SP s TEMP sp 8 #T43A+(2040) »
IRS & (TEMP) RS = (#T43A+(2048)) »
jSe * TEMPe2 ) SP 5 AT43A¢(2040)42 L]
(R B RN RN BN R R R R R R R R R R R SRR R RSN R B N R NN R R RN O R RN R U R B RN N RO RRS



MAINDEC-112DCKBD~B 11/45,11/40 MARK TEST
DCKBDB

022450
Pp2452
292456
202460

(3 Y110
722706
no1421
nRAPo0Y

792552

nENg44
200241

202462
002464
702470
292474

pL0771
212706
#12705
306441

290500
32476

002476
42500
2o2504
2p25n6

nl0600
#22706
po140Y
LT

202602

20045
000042

792510
02512
2p2516
np2522

210721
2127026
732705
B06442

Pe0500
8g2524

egasa4
pR2526
22532
292534

fle600
222706
01401
00008

292632

200046
nooRe3

TA3AL

MACY11,628 21«NOV=?2 17142 PAGE 3-15

MOV SP.RD JGET RESULTANT SP

cMP W2a40+T43A¢2,SP ISP = #T43A+(2847)+27

BEQ Y

HLT JERROR INCORRECT RESULTANT SP
CsCey

MaMeq

ITEST YHAY THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

SCOPE

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER
MoV #T44A,R5 ILOAD RS

MARK 41 IMARK N=41

]000..000.0060.0.0..QQQOQQOQGQOQGQQQQQQQGQIQG00..&0&..00&0.:Oduiooiolacbb

JIFUNCTION RESULTS
JTEMP « PCe(20N)

IPC
1se
IRS
)Sp

L]
*
L
~

Nudy¢ .

YEMPe #T44A+(2#41) L

RS PC s Td44A -
TEMP SP ® #T44A%(2s41) .
(TEMP) R5 R (#T44A4(2844)) L
TEMP a2 SpP 8 #T44A9(2441)e2 .

IRAXZZX X X2 PR AL XY XY 22 A Y XX R E Y RS 2 Y Ry Ry Py Ry R X Y Y S XYY Y XXX ]

T44A1

MOV SP,R® JGET RESULYANT Sp

CMP H2#414T44A%2,SP 1SP = #T44A+(2841)%27

BEQ Y

HLY JERROR INCORRECT RESULTANT SP
CaCed

MaMey .

JTEST THAY THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

SCOPE

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER
MOV #T45A,R5 JLOAD RS

MARK 42 JMARK N=z42

"..Qi..'....'bl.‘6.0'Q.CQ'...I.QQ.D'.'l..l.."lb"l.ll...'l.Q..i..'l..Q‘

JFUNCTION RESULTS Ns42 L]
JTEMP & PCe(24N) TEMPa #T45A%(2#42) *
JPC e RS PC 8 T45A .
ISP« TEMP SP = #T45A+(2e42) .
JRS s (TEMP) R5 2 (#T45A¢(2842)) ’
ISP+ TEMPe2 , SP = #T45A%(2042)42 .
K2 T YR R R Y Y Y R A A Y R Y X X Y R Y Y Y Y R R Y Y Y X R Y R X X R S Y X Y XY X X 222 ZXXX)

T4BA}

MoV SP,RO JGET RESULTANT SP

CMP H2n42+4T45442,SP ISP 3 #T45A4(2842) 427

BEQ b4

HLY JERROR INCORRECT RESULTANT SP
CaCey

MEMey

JTEST THAY THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK

A
¢ )

N /

P



-

4

MAINDEC=11DCKBD~B 11/45,11/48 MARK TEST

DCkBNB

2p2536
292540
202544
#g2559

292552
292554
202560
8p2562

202564
0092566
@gas72
#g2576

02600
Ag2602
2e2606
2p2612

#2612
002614
#22620
22624

ale7el
#12726
®12785
n06443

310600
#22706
f01401
pPmee0

200047
P0P044

aig70y
L2706
@127085
BR6444

alp6ap
#22706
aR1481
a0eene

ITT LT
02008045

218701
2812706
pl27e5
04445

290500
2@2552

292662

2p@8500
2p2600

2p2712

2p0a520
2p2626

MACY11,6208 24=NOV=72 17142 PAGE 3-16

$INSTRUCTION FOR ALL VALUES OF N (2-77)

SCoPE

MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MOV #T46A,R5 1LOAD RS

MARK 43 JMARK N=43

KX X2 X 32 X R Y Y Y A R Y Y Y R Y Y R Y Y P Y Y R X N Y NS R R XXX XXX

IFUNCTION RESULTS N=43

JTEMP « PC#(28N) TEMP= #T46A*(2843) .
IPE *» RS PC = T46A .
ISP« TEMP SP = #T46A+(2#43) .
IRS e (TEMP) RS = (#TA6A+(2443)) .
ISP« TEMPs2 ' SP 3 #T46A+(2#43)s2 .
]‘.0.".QQ......QC'.O’Q.....C.il..l}...!.'l.....QD'!‘!’.50.’..‘..'.'.....
T46AF MOV SP,R@ JIGET RESULTANY SP

CMP H2n43eT46A42,5P JSP = HTA46A4(2043)27

BEQ Y

HLT JERROR INCORREET RESULTANT SP

CsCet

MzMey

JTEST YHAT TWE STACK POINTER CONTAINS THE PROPER VALUE AFTER TWE MARK
JINSTRUCTION FOR ALL VALUES OF N (2-77)

SCOPE A

MOV #SYKPTR, SP JINITIALIZE THE STACK POINTER
MOV #T47A,R5 JLOAD RS

MARK 44 JMARK N=44

R T I Y YT T Y Y Y R Y Y Y Yy Y Y Ty Yy Yy Yy Y Yy Ry Y Ty Yy Yy Yy Y Y Y YTy Y
JFUNCTION RESULTS N=44

JTEMP « PCe(28N) TEMP= #T47A+(2844) .
14+ * R5 PC 5 T47A .
ISP+ TEMP SP » #T47A+(2e44) *
IRS  « (TEMP) RS & (#T47A+(2444)) .
ISP~ TEMPe2 A SP B KT47A*(2444)42 »
IR T XY XY T E Y Y Y R Y R Y Y Y E Y Y F Y Y Y Y Y Y Y R Y X Y Y Y Y Y Y Y Y T2 XY}
T4TAL MOV SP,RO JIGET RESULTANT SP

CMP H2844¢T47402,SP ISP = H#TA7A+(2044)427

BEQ 4

HLY JERROR INCORRECT RESULYANT SP

CsCef

MEMs 4

JITEST THAT TWE STACK POXNTER CONTAINS THE PROPER VALUE AFTER TWE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

SCOPE

MOV #STKPTR, SP SINITIALIZE THE STACK POINTER
MOV #T50A,R5 ILOAD RS

MARK 45 JMARK Nz45

(RN P RO R RN R s R s R RN E R R R RN R N RN R BN RN BN R R RN R AR RN NI N EDUNE NG RORDENY

JFUNCTION RESULTS N=45 )



MAINDEC»11-DCKBD~B 11/45,11/40 MARK TEST
DCkBDB

202626 010640
722630 0922706 0@2742
002634 001401
202636 0nRnRAR

poEe51

neng46
Ap2640 910701
Ap2642 032776 ApAS5AQ
292646 012705 0@2654
092652 006446
np2654 010609
PR2656 @22706 B@2772
222662 0aP1401
Ap2664 ¢0pERR

2PmR52

nBe0B47
2p2666 min701
ag2678 912786 0@p0520
Bp2674 12785 Q92782
0p2780 006447
292782 710680

MACY11,620 21=NOV=72 17342 PAGE 3-17
JTEMP « PCe(2#N) TEMPE #T50A+(2#45) .
}PC  « R5 PC = T5pA a
ISP« TEMP SP =z #150A+(2445) *
IRS e« (TEMP) RS = (#750A+(2845)) »
ISP« TEMP+2 , SP = #T50A*(2w#45)+2 .
‘Q'Qi..'..'l!.l..ll'!ll’l.'.i.lb..i#DCD#!Q!QGQO!QQ‘.ll.'&.'.illb‘.’.'bnl'

T52A1 MOV SP,R? JGET RESULYANT SP
CMP #2245+T50A¢2,SP ISP = #T50A«(2#45)27
BEQ ' *4
HLT JERROR INCORRECT RESULTANT SP
CsCe
MaM+y

JTEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTJON FOR ALL VALUES OF N (2-77)

8COPE

MOV ESTKPTR,SP JINITIALIZE THE STACK POINTER
MOV #1544,R5 J1LOAD R5

MARK 46 IMARK N=z46

IR 22222 2T Y R XY FY R A X YR X YR X XY X 2 X F Y X Y N R Y S R R R R R X X X X XXX 2 X R ZXZXXXZX]

JFUNCYION RESULTS N=46 .
JTEMP e PCe(28N) TEMP3 #T5LA%(2446) .
IPC  « RS PC 2 TS1A »
ISP« TEMP SP 3 #T51A+(2s46) .
IRE e (TEMP) RE & (#751A3(2e46)) .
)Se ¢ TENPe2 sp 3 #T54{A+(2846)42 »
’0!.000!00....OGQQQQOOQ.OQOOQQQOIOGC.lilhiluiﬁlolilQOthﬁiIO.'Qliiﬁitlll'

TS5¢Al MOV SP,R® JGET RESULTANT SP
CmpP #2446+T51A%2,SP ISP = #T51A+(2444)+2?
BEQ 4
HLY JERROR INCORRECT RESULTANT SP
CaCe1q
MaMey

JTEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

SCOPE

MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MOV #T7524,R5 JLOAD RS

MARK 47 JMARK N=47

Y Y Yy T Y Yy Yy Y Ty Ty T Py YT TTY I IITeY
IFUNCTION RESULTS Na47?

JTEMP = PCe(28N) TEMPs #T52A+(2447) .
JPC « R5 PC s 7524 .
1SpP « TEMP SP 8 #T52A+(2447) [y
1R5% e (TEMP) RS s (#752A¢(2847)) L
jSe e TEMP+2 sp & #T52A+(2447)e2 L

]C.!Q!’Q...QO....lb!..l'.l..b....&'l'.”ﬁ'..’...ll.l’l'...d..l'bl’l"'.’b

T52a1 MOV SP.RO JIGET RESULTANT SP



-

MAINDEC=449DCKBDAB 11/45,11/48 MARK TEST

DCKBDB

rpg2704
292710
2p2712

7p2714
Pa2716
e@ar22
#g2726

Pga730
#p2732
292736
Bp2740

f2g2742
Pg2744
0927580
202754

802786
Pp2760
fpared
222766

22776
01401
ndpoRo

000053
a0p0580

#1771
p12726
#127025
06450

0i0600
p22706
901401
f0n@20

nAPBPR54
200051

L0721
pL27a6
#127@5
086451

plaene
222726
001401
a0apee

208055
gfags2

2p3022

298500
202730

Ap3052

2p0500
292756

803102

-

MACY117620 21=NOV=72 17142 PAGE 3-18

CMP #2847+T52A42,SP JSP = #T52A+(2847)¢27

BE@ ' *4

HLY JERROR INCORRECY RESULTANT SP
CzCe1

MaMey

JITEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

SCoPE

MOV #SYKPTR, SP JINITIALIZE THE STACK POINTER
MOV #T53A,R5 SLOAD RS

MARK 5@ JMARK N=5¢

IRX XX X242 X XY R R FY SRR R RS2 X R R A R RS R R R XXX RS R R YRS XYY X2 Y )

JFUNCTION RESULTS N=50

JTEMP « PCa(24N) TEMPs #T53A+(2#50) L
}PC + R5 PC s T53A "
ISe « TEMP SP s #753A+(2#50) .
IRS » (TEMP) RS 8 (#T753Ae(2058)) L
ISP &« TEMPe2 ' SP 3 #T53A+(2450@)+2 ]
'.I.'Q.G.l....!.!......'.."Dl".'l'.l‘!.‘.'l..Ql!"l...‘.I.D'..QI‘IOO...
T53A1 MoV SP,RP JGET RESULTANT SP

CMP #2250+ T53A#2,SP ISP & #T53A+(2050)427

BEQ 4

HLY JERROR INCORRECT RESULTANY SP

CsCey

LELEEE

)TEST THAY THE STACK PQINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (@-77)

SCOPE .

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER
MOV #T54A,R5 JLOAD R5

MARK 51 JMARK N=51

’.I......'.l..b.i.b'O..'.Q'..O..i.'.'..!....b...l..!.ﬁ...Ql.C'Q.O.Q.Cl..b

JFUNCTION RESULTS N=51

JTEMP & PCe(2#N) TEMPs #754A+(2451) L
)PC « RS PC s T54A .
ISe « TEMP SP s #T54A+(2481) L]
IRS « (TEMP) R5 B (#784A¢(2e51)) ’
1Sp ® TEMP+2 SP 5 #T34A%(2451)e2 L]
]...Q....G..l.Q.!'i.'.".....Q.Q.I...Q.IOlI.....Q.‘Q...l....0............
T54A1 MOV SP,RO IGET RESULTANT SP

cme #2u091¢T54A42,5P JSP B KT54A4(2051)427

BEO XY

HLT JERROR INCORRECY RESULTANT SP

CsCey

Ma3Mey

JTEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THWE MARK
JINSTRUCTION FOR ALL VALUES OF N (2-77)



MAINDEC-14=DCKBD=B 11/45,11/48 MARK TEST MACY{17628 24=NDV=72 17142 PAGE 3-19
DCKBNB

@027790 oia70d ScoPE

092772 0412706 3p0509 MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
292776 0127085 7930044 MoV #755A,R5 $1LOAD RS

2g3g02 006452 MARK 52 $MARK Nz52

IRXZ2Z XA YRR XY RS AR S Y 22222 Y YRR R F Y AR A X R RS E Y YRR X R Y X X X

JFUNCTION RESULTS Ns=52 L]
$TEMP & PCe(2aN) TEMPz #T55A+(2852) .
jPC « RS PC 3 T55A -
)Sp e TEMP SP 8 #T55A+(2052) *
JIRS &« (YEMP) RS -3 (#755A4(2452)) »
jSp « TEMP#2 SP 3 #T55A+(2052)e2 L]
]6."000'.0!..!6.!0..'!lb.CQOQ.I.GQCOQQ&GQ.QGGOQ.GQQG..'C.Q...Q.l.!di'.l.
203284 010600 TS55A4 MOV SP,R® $GET RESULTANT SP
7p3gp6 022706 Bp3132 CMP #2a52+4T554+2,SP JSP 3 #T55A44(2852)+2?
233012 001401 BEQ Y
293014 002070 HLY JERROR INCORRECT RESULTANT SP
poaAB56 CaCeyq
707053 MaMey

1TEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (2-77)

733016 014703 SCaPE

293020 012726 0GpR5080 MoV #STKPTR,SP pINITIALIZE THE STACK POINTER
203024 0a12705 0@3032 MOV #T56A,R5 $1LOAD RS

293030 706453 MARK 53 . JMARK N=53

’..ii..l."'l...ll..i'."..IG'QQ.!OQO.‘}..'l.'.l..‘l!lQlli‘.'.llﬁ"ll'&’b

JIFUNCTION RESULTS Na53 .
JTEMP & PCe(2%N) TEMPz #756A+(2#53) d
IPE « R5 PC ® T564A [
ISP« TEMP SP = #T56A+(2s53) .
IRS  « (TEMP) RS s (#756A+(2853)) .
ISP » TEMP+2 SP ® #T56A+(2#53)42 .
J BB R RN EBRRRRNPRERB RN B RNBRBBRDORNPBBRORD AR B R BB R R RSN BB RN EDAE R RBBEOREBROOY
203932 @1n600 T56A1 MOV SP,R® JGET RESULTANT SP
293034 022776 093162 CMP #2a53¢T56A%2,SP jSP = HT56A+(2#53)¢27
203049 nR1401 BE® 4 .
293042 pde000 HLY JERROR [NCORRECT RESULTANT SP
g2a057 CsCe1
200034 MaM+yq

JTEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
1 INSTRUCTION FOR ALL VALUES OF N (2-77)

"p3044 ain7nl ScoPE

203046 012706 A@B52D MOV #STKPTR,SP JINITIALIZE THE STACK POINTER

293952 wml27a5 0Gp3dép MoV #757A,R5 JLOAD RS

7p3p56 006454 MARK 54 JMARK N=z=54
(R R R RN R N RN R R RSN R R R BN BN R NI I R R BB RO RSB R BB R NG SRR RN N DR BSEBRDRI BTN
JFUNCT]ON RESULTS N=54 .
JTEMP « PC#(2#N) YEMPs #T57A+(2854) “

- Q\
- ™



MAINDECe11=DCKBD~B 11/45,11/48 MARK TEST

DCkBNB

Ap30860
Ap3v62
203066
223070

703a72
223074
03341290
703104

293106
303140
223114
203116

203120
Ap3122
7293126
293132

203134
Ap3136

710600
n22706
nRL47)
700070

nAGB6R
200055

2108701
712726
212775
06455

aln600
922706
p01401
poapae

200061
A0AR56

010723
212706
a127@5
286456

810600
922706

#p3212

2p8500
AP3106

793242

#0500
293134

2p3272

-~

3

MACY11,6208 21~NOV=72 1742 PAGE 3.20

1PC e R5 PC s T57A .
1Sp o TEMP Sp = #T5TA+(2454) L]
IRS * (TEMP) RS 8 (#T57A+(2854)) .
I1Sp ® TEMPe2 Sp = #T57A+(2e54)e2 J
R X A X R Y A R R R R R Y Y R Y Y Y R Y Y N Y Yy Y YR R R R YRS XX AT EY YT Y
T57A¢ MOV SP,R@ . JGET RESULTANT SP

CMP #2a54¢T57A42,SP jSP = HT57A+(2454)4¢27

BEQ o t4

HLY JERROR INCORRECT RESULTANT SP

CsCet

MzMe+q

ITEST THAT THE..STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (2-77)

SCOPE

MOV #STKPYR,SP FINITIALIZE YHE STACK POINTER
MOV #T60A,R5 JLOAD RS

MARK 55 JMARK N=55

R Y T Y Y Y Y Y X Y Y Y X Y Y R R X Y A L R L LI R

JFUNCTION RESULTS N=55 .
JTEMP & PCa(2#N) TEMPa #T60A+(2855) .
1PC « RS PC s T60A .
ISP = TEMP SP s #T60A*(2455) .
}RS « (TEMP) R5 s (#T60A¢(2455)) .
ISP« TEMP#2 . SP = AT6QA+(2855)+2 »
K2 X2 XX X T X Y Y Y XY Y R X R R Y Y Y Y Y Y Y Y X X X Y Y Y Y X R X R X X X XX XYY IYYYIIIIYSYr
T6BA MOV SP,RO JGET RESULTANT SP

CMP #2855+T60A%2,SP ISP & #T60A+(2a55)427

BEQ L4

HLY JERROR INCORRECT RESULTANT SP

CaCey

MasMey

JTEST THAY TWE SYACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

SCOPE

MOV #SYKPTR,SP JINITIALIZE THE STACK PQINTER
MOV #T64A RS JLOAD RS

MARK 56 JMARK N=56

'...0..'...0.0.IQ".O...QIQ.Q...GQGQ..'QQQQQQOOQQGGQGOG..0!....{&.‘.0.0.0

IFUNCTION RESULTS Nu56

JITEMP « PCa(2&N) TEMPs #T61A¢(2#56) »
JPC + RS PC = Té4A .
ISP« TEMP SP 3 #T6LA*(2e56) .
}RS « (TEMP) RS 3 (#T61A¢(2056)) .
jSe e TEMP42 ] sp 3 ¥T64A*(2056) 2 L
’00'QQO..Q.Q.QQQ..OQ..GCQQ0.0000QQOQQOGOOOQQOQQQQOlQlQQQOOCQCQCQOQQQGQ.'.

T64Al MOV SP,R® JGET RESULTANT SPp
CMP #20564T61A¢2,SP JSP = ¥T61A4(2456)¢27



MAINDEC=11»pCcKgD=B 11/45,11/4@ MARK TEST
DCKBOB

233142
23144

201401
nRegao

noeg62
n0n0s7

283146
203150
793154
703160

faim721
73127726
712775
206487

2p0508
Ag3162

nip620
222726
n01401
ePo0a0

203162
203164
fg3170
293172

233322

P82063
nooose

293174
203176
a@3202
f03206

#10721
012726
212795
#06460

P850
Pp3210

210600
p22706
poL40l
ndpoan

2pl210
#3212
2p3216
fe3220

293352

P00064
200061

7293222 Min791

MACY11,628 21=NOYy=72 17342 PAGE 3=21

BEQ Y

HLY JERROR INCORREET RESULTANT SP
CaC+1

MsMe+y

ITEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (2-77)

SCOPE

MOV #STKPTR, SP PINITIALIZE THE STACK POINTER
MOV #T624,R5 JLOAD RS

MARK 57 IMARK Nz57

].l..l...‘l.l..Q..b...ﬁ.l...O.i...&.'..l."#Q.l.&.'Q'GQQQ.QOQ.'Q....O...C

JFUNCTION RESULTS N=57 .
JTEMP & PC#(2aN) TEMP3 #T62A%(2457) "
IPC « RS PC 3 T42A »
}Se o TEMP spP 3 #T62A+(2457) *
JRS « (TEMP) R5 s (#T62A+(2a57)) .
}sSp n TEMP&2 SP 2 #T62A+(2457)42 .
IEZZ2 222222 XY R Y R AZ AR XY Z R Y X2 X2 22 2 RS R 2R R 2 R L R R X X YR Y Y XYY T X X

T62A1 MOV SP,R? JGET RESULTANT SP
CMP #28574T62A42,SP 18P = #T62A+(2057)+27
BE®Q o4
HLY JERROR INCORREET RESULTANT SP
CaCey
MaMeq

JTEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

SCOPE .

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER
MOV #Y63A,R5 JLOAD R5

MARK 60 JMARK N=60

l.Q.O...O.‘QDQ0.0.‘....'G.l......l.l'..li..Qll'll.'O‘QQQ".Q..O'QG..O0.0Q

JFUNCTION RESULTS N=60

JTEMP & PC#(2%N) TEMPs #T63A+(2%60) L]
JPC * RS PC 8 T63A .
)ISp e« TEMP SpP 3 HT63A+(2460) L4
IRS o (TEMP) RS B (H#T63A4(2#60)) *
ISP e TEMPe2 Sp 3 #T63A+(2060)42 'y

’.I..il.......b.'OQQGQQ.OQOQI..‘..IO'Q‘DOQ"0....."'..QQQC'.QQQQ'....I..

T63A1 MOV SP.RE JIGET RESULYANT SP
(o] #2a60+T63A2,SP JSP = #T63A¢(2060)%2?
BEQ .4
HLY JERROR INCORRECT RESULTANT SP
CaC+y
MzMey

JTEST THAT TWE STACK POINTER CONTAINS THE PROPER VALUE AFTER THWE MARK
JINSTRUCTION FOR ALL VALUES OF N (B8-77)
SCOPE

&



MAINDEC=11epcKBp=B 11/45,11/48 MARK TEST
DCKBNB

np3224
783230
703234

a127e6
712705
706461

290500
233236

2@3236
203240
203244
3246

210600
22706
001401
noaee0

Ap3402

7020865
000062

203250
203252
#R3256
293262

nie701
ni2706
#12705
aR6462

20995290
7@3264

ngl264
293266
203272
293274

ALm620
#22706
noL403
LLET LT

203432

po0066
200063

293276
ea3300
23304
223310

pLB701
n127086
232795
206463

2p0500
2093312

-~
MACY11,628 21«NOVe72 17142 PAGE 3=-22
MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MOV #T64A,R5 jLOAD RS
MARK 61 JMARK N=63%

].’.l'l..l'&"i'll"!.'“..i.’ﬂi.i’.l"'ﬁQQ..#“!I!G.&’.Q"&!Qi'...li.b.."

JFUNCTION RESULTS N=64 .
JTEMP &« PCa(2&N) TEMPs #T64A+(2461) L
IPC * RS PC z TA4A ]
ISP ¢ TEMP SpP 3 #T64A+(2461) .
IRS « (TEMP) RS 8 (#T64A+(2861)) "
jSp €« TYEMP#2 ) SP s HT6AA+(2061)42 L4
KX X222 Y X Y R R F Y ¥ Y I X R R X R Y X X E Y X R Ry Y Y R Y R XX XY Y R R X X N X N R XXX ZZXXZXXXXX]

T64A1 MOV SP,R® $GET RESULTANT SP
CMP #2064 4T64A%2,5P JSP 8 #T64Ae(2861) %27
BEQ Y
HLY JERROR [NCORRECT RESULTANT SP
CIC¢1
MaM+q

JITEST THAY THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
VINSTRUCTION FOR ALL VALUES OF N (8-77)

SCOPE

MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MOV #T65A,R5 JLOAD R5

MARK 62 JMARK Nz62

'..00..!60.0QOQ'Q.QQ..‘...Ol...’.."’.“l’l..il.!..IQ...Q..OQ'Q.l.ﬂ.l.l..‘

IFUNCTION RESULTS Nu62

ITEMP « PC#(28N) TEMPE #T65A+(2#62) .
IPC * RS PC 3 T65A .
1Sp « TEMP SP 8 #765A%(2#62) .
IRS e (TEMP) RS 8 (#765A4(2462)) )
ISP« TEMP42 ' SP = #T65A¢(2462)42 .
IEZ X222 XY Y Y Ry Y Y R R Y X Y R R Y X N Y R X R Y R X XYY XYY T Y]

T65A1 MOV SP,RO JGET RESULYANT SP
CMP #200624T6BA42,SP 1SP ® HTASA+(2862)%27
BEQ Y
WLY JERROR INCORRECY RESULTANT SP
CaCey
MaMe

JTEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

SCOPE

MOV HSTKPTR,SP JINITIALIZE THE STACK POINTER
MOV #T66A,R5 JLOAD RS

MARK 63 JMARK N=63

I L T T o m
IFUNCTION RESULTS N=63 .
JTEMP « PCe#(2aN) .
JPC e RS »

TEMPs #T66A«(2463)
PC 8 T66A



MAINDEC-112DCKRD-B 11/4%,41/40 MARK TYEST
DCKBNB

293312 nle6ne
223314 022726 Bp3I462
203320 001401
793322 ndopao0

20a067

200064
203324 010701
#@3326 012786 290500
2p3332 012705 A@3340
Q3336 006464
703348 opl0600
23342 0222706 293512
793346 nR140}
23350 on00QN0

n00070

700065
793352 010701
203354 012706 7pR508
Po3360 @12775 0P3366
203364 aPDK465
293366 0174630
3370 2227976 ©p3542
Pg3374 001401

®

MACY11,620 21wNOV=72 17142 PAGE 3-23
}SP * TEMP Sp 3 HT66A+(2#63) .
IR5 * (TEMP) R5 8 (#T66A+(2863)) .
}SP e TEMP+2 SP 3 HT66A+(2863)+2 -

E Iy Y Ry Y R Y R R L L I T ITTrTrry

T66AS MOV SP,Rp JGET RESULTANT SpP
CMP #2063+ T66A42,5P JSP = #T66A+(2863)¢2?
BEQ v4 ;
HLY JERROR INCORRECT RESULTANT SP
CsC+y
MsM#+y

ITESY THAY THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK

JINSTRUCTION FOR ALL VALUES OF N (8-77)
SCOPE
MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MOV #T674,R5 JLOAD RS
MARK 64 JMARK N=64

IRX X2 A 24 X A2 2 X X R R R E A X R R 2 R X R R Y R A Y Y R Y X R Y E S S XY Y R Y XY )

JFUNCTION RESULTS N=64 .
JTEMP &« PCe(28N) TEMPs #T67A%(2064) .
JPC * RS PC 3 T67A .
ISP « TEMP sp 8 #¥T67A%(2064) .
IRS « (TEMP) RS 8 (#T67A+(2664)) »
ISP« TEMPa2 SP 3 #T67A%(2864)e2 b

IR XA X XXX A2 R X R 2 S T S R R R R R R R R Ry R Y R R Y R Y Y Y Y Y X Y R Y22 )

T6TAL MOV SP,RO JGET RESULTANT Sp
cMP H2064+TOTA#2,SP JSP = HTA7A+(2464)27
BEQ Y]
HLY JERROR INCORRECT RESULTANT SP
CaCet
MaM+q

JITEST THAT THE STACK POINTYER CONTAINS THE PROPER VALUE AFTER THE MARK
J INSTRUCTION FOR ALL VALUES OF N (2-77)

SCOPF

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER
MOV #T?24A,R5 JLOAD RS

MARK 65 JMARK Nz65

’.O..'.l....'.lll'b.6I..O..O'Q.C.l.ﬁ".lﬂﬂlihilbil.056."§'0‘§ilhﬁﬁﬂli.ib

JFUNCY!ON RESULTS N=é65

JTEMP &« PCe(2aN) - TEMP® #T78A+(2665) [
1PC * RS PC s T70A »
}Sp e« TEMP SP s #T70A+(2#65) ]
IRS « (TEMP) R5 8 (#T70A%(2465)) ]
)Se * TEMP+2 SP B #T70A+(2065)4+2 *
l..QQQQOUQCIlliQQI.ﬁ.Q."0"'0‘..0!9!"’&#’50"“ili‘i“’l“"d!'!llbll.ﬂ.#'.

T70A} MOV SP,Rp JGET RESULTANT SP
cCMP H2865+¢T70A¢2,SP JSP = #T70A+(2065)+2?
BEQ Y
o
\ /



®)
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MAINDEC=11+DCKBD-B 11/45,11/48 MARK TESY

DCKBNB

2pl376

203400
203402
023406
203412

703414
203416
703422
73424

723426
203430
723434
703440

203442
703444
223450
703452

203454
293456

a0oena

2008371
P0AR66

210791
nL2726
7427025
NDs466

nin62w
222726
201401
noepoad

agee72
2087

719724
mi2706
712785
AR6467

nla60d
722706
no1402]
plaeee

2209873
gopR78@

pie721
712776

apas5eg
A@3414

793572

790500
Pe3442

293622

ppes5ep

MACY11,628 21«NOVe72 17342 PAGE 3-24

HLY JERROR INCORRECT RESULTANT SP

C=Cet

MzM+1q
JTEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (@-77)

SCOPE

MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MoV #T73A.R5 1LOAD RS

MARK 66 IMARK Nz66

RS RN R BN RO R R RN R R R DR BN RN R R B DN DR RGN RN R NGB BN E R RGN BB RN RN BRRDENDNRE Y

JFUNCTION RESULTS N=66 .
JTEMP & PC#(2aN) TEMPz #T71A+(2866) L
1PC « RS PG s T74A L]
)SP » TEMP Sp z #T74A%(2066) »
IRS e (TEMP) RS 8 (#T71A+(2466)) .
1Sp e TEMP+2 SP 3 KT7LA+(2466)42 L
IEX 2 X X R R Y R X R R X R X2 R XX X Z X YRR X XX YR YRR N X I R R E T YR s I
T74A MoV SP,R® 1GET RESULTANT SP

CMP #2466+T71A82,SP JSP = #T71A+(2864) 27

BE® 4

HLY JERROR INCORREET RESULTANT SP

CsCe

MsM+y

JTEST THAT THE STAGK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (B8-77)

SCOPE

MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MOV #T72A,R5 JLOAD RS

MARK 67 JMARK N=67

l.QQQQQ‘.l.l'l.l'.b......l..ﬁl..'.Ol"'ﬁ.l.Qil...i'.l’.“.!l"l...b...".

IFUNCTION RESULTS N=67 .
JTEMP « PC(28N) TEMP3s #772A+(2867) )
IPC « RS PC 8 T72A )
ISP« TEMP SP 3 #T72A+(2#67) )
IRS e (TEMP) RS & (#772As(2867)) .
ISP« TEMPs2 _ SP 3 BT72A+(2#67)42 .
|l.CQQOQOIQGQOQOI‘QIQ.QCQQQQ!QQCG.Q..QQD..Q.0006.!0'!.0!00"!QGQ!IG!OQ&OQ
T72A1 MOV SP,RO JGET RESULTANT Sp

CMP B2007+T72A42,SP ISP = #T72A4(2867)%27

BEQ 4 )

HLY JERROR INCORREEY RESULTANT SP

CzCey

MaM+y

JTEST THAT THE STACK POINYER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

score

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER



MAINDEC=11-DCKBD~B 31/45,11/40 MARK TEST
DckBoB

203462 712705 02p3478
?33466 0D6470
223470 ni067D
203472 022706 23652
733476 0014071
793500 pONO0O0

neap74

penp7l
723582 oala70l
Ap3504 212706 @p0500
2035190 012705 0p3516
223514 006473
703516 Mi0600
0p3528 022746 0293702
793524 001401
793526 000070

20080275

2000872
293538 o0in743
P23532 012706 @go509
293536 @12705 Q@3544
203542 n0s472

MACy11,628 21aNOV=72 17§42 PAGE 3-25
MaV #T73A,R5 JLOAD RS
MARK 70 JMARK N=72

’...I..Ql'..."'i’...'i"!...l&ili.ll..ﬂllli'l#.#“'l#ﬁl#'.ll’.illl'..""

JFUNCTION RESULTS N=78 .
JTEMP & PCe(20N) TEMPz #T73A+(2270) »
j1PC « RS PC z T73A #
1Sp * TEMP SP T ¥T73A+(2070) .
IRS « (YEMP) RS s (#T73A«(2#70)) )
)}Sp e TEMPs2 SP 3 #T73A¢(2870) 42 #
’..QQOGCQ.'OGQOQOCQCQQQ'.Q.'GQQ"Q!Q'.'Q'I..'l'lliﬁi!'!'..'ﬁ.’l!l'll"'!l

T73A8 MOV SP,Ro JGET RESULYANT Sp
CMP #22T70+T73A82,SP JSP 2 #T73A4(2870)427
BEQ Y
HLY JERROR INCORRECT RESULTANT SP
CaCey
MzM#+y

JTEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER TNE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

scope

MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MOV #T744,R5 JILOAD R5

MARK 71 IMARK N=71

"l'.'...‘.l.i'....ﬁ’..'....QQCIQ.QG..'..IGQO'IQOGlQ...Q.Q.'.!Q.GO..l.‘.b

JFUNCYION RESULTS Ns?7¢

JTEMP » PCe(2aN) TEMP= #774A+(2871) )
IPC ~ R5 PC s T74A .
jSp « TEMP SpP 2 KT74A+(2a74) *
IR5 e (TEMP) R5 z (KY74A+(2071)) *
)Sp « TEMP+2 Sp B ETT4A%(2471)42 )
'...l...l....QQGI.b.l..‘l.l.ii...l.ﬁ“'ﬁi“"'DQ&.I"QQ'.'.""Q'l'...“l...

T74A1 MOV SP,R® JIGET RESULYANT SP
CMP #2717 T74A2,SP SP = #T74A+(2871)%27
BE® Y
HLY JERROR INCORRECT RESULTANT SP
C3Ce+1
MaM+y

JITEST THAY TWE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

SCOPE

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER

MOV #T754,R5 1LOAD RS

MARK 72 JMARK N=72
)IQQQQDQGCQQOQQCOQQQOD!.Iii'..l'.llil.lIl!.l..lﬂl‘ﬂ!k.QQQi.QQ.DIQD!!I'QDQ
JFUNCTION RESULTS N=72 .
JTEMP « PCu(28N) TEMPa #T75A+(2#72) .
IPC  » RS PC = Y754 .
ISP« TEMP SP 3 #T75A+(2a72) .

e

D



i

MAINDEC#11~DCKBD~B 11/45,11/40 MARK TEST

DCckBDB

293544
023546
n@3s52
203554

Np3556
2g3569
Pp3564
223579

293572
203574
2036080
293602

Pa3694
083626
23612
283616

23620
Pp3622
793626
203638

ni0600
222726
pe1471
LT L1

200076
208073

pim701
n127m6
n127085
706473

p18600
722786
001401
poneoe

poe077
P0aR74

ain701
p12706
#2785
nBe474

210600
7227086
AP1401
poog0e

293732

#p0500
np3572

203762

2908508
293620

294012

MACY11,628 21=NOVw?2 17142 PAGE 3-26

}IRS « (TEMP) RS 3 (#775A+(272)) L
ISP« TEMP+2 SP 3 #T75A+(2#72)42 .
I I I I T T T
T75A¢ MOV SP,RQ JGET RESULYANT Sp

CMP #20724T75442,SP JSP = #T75A+(2072)e2?

BEQ b4

HLY IERROR INCORRECT RESULTANT SP

CsCet

MEMey

JTEST THAT TWE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (08-77)

SCOPE

MOV #STKPTR,SP $INITIALIZE YTHE STACK POINTER
MOV #T76A,R5 1LOAD R5

MARK 73 IMARK N=73

..l.’l..l0.."".'6.'Ql..’..'...'..i"'l&..."‘Q.U*D'ﬁ”.'iOCQOQQiQGGQGO;

JFUNCTION RESULTS N=73

JTEMP & PCa(2#N) TEMP2 #T76A+(2473) .
JPC  « RS PC 3 T76A .
ISP« TEMP SP = #T76A*(2#73) .
1RS « (TEMP) R5 s (#T76A¢(2#73)) »
ISP @ TEMP42 SP  x HTT76A+(2873)42 .
).90'0.‘.'0.000‘.0..0'&‘60..’0'.000}&!!&.0000600&!00&0"l.lhll'ﬂ'ii.’&.'.
T76AL MOV SP,R® JGET RESULTANT SP

CMP W2e73+T76A¢2,SP JSP & HT76A+(2873)%27

BEQ 4

HLY JERROR INCORREET RESULTANT SP

C=Ce1

MzM+t

JTEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

ScoPr

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER

MOV KT77A,R5 JILOAD RS

MARK 74 JMARK N=74
l.0000000..0.000005.'0.'0.'0&0'.0'0!00.inCl&&&l.l.QQ'Ql‘&!'ﬁ'.&l’iOl.Q.h
JFUNCTION RESULTS N=74 »
JTEMP ¢ PCe(2#N) TEMPs #T77A+(2#74) .
IPE e« R5 PC s T77A »
jse v TEMP SP 8 #T77A%(2#74) N
IRS e (TEMP) RS s (#TY77A0(2074)) ]
ISP« TEMPe2 ) SP s #T77A%(2474)s2 »
].00'00'!.0.060'.00.QQQOQQ.QQQQO.QOQ'.Oll'Q.OQO&QQQQ%GQ0.0Dﬁ0’.&!'.0&9&00
T77AL MOV SP,R® JGET RESULYANT SP

cMP H2aTA4+T77A42,5P ISP = #T77Ae(2074)927

BEQ XY}

HLY : JERROR INCORRECY RESULTANT SP



MAINDECw11«DCKRD-B 11/45,11/48 MARK TEST

DCKBOB

293632
283634
293640
723644

703646
293650
293654
7203656

723660
1g3662
PBY666
823672

ap3674
#93676
293702
203704

293706
203710
703744

paaLeR
p000875

gia701
212786 @pN500
212725 @@3646
nB6475

plo6@0
22706 0p4042
721421
70308079

na1Al
#0876

aimr01
aL2706 0po500
712725 093674
nR6476

plo600
pR2706 MpAaR72
801401
ndgooR

pop102
000077

212721
12706 00500
712785 093722

MACY11,620 21=NDVe72 17342 PAGE 3-27

CzsC+y

MEM+1
JTEST THAY THWE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (2-77)

SCOPE

MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MoV #T100A,R8 JLOAD RS

MARK 75 JMARK N=75

XYY Y I T Ty Y Y Y L Y Y Yy Y Y Y Py T I I T Y y E Y S e T Y Y Y T Y T X Y}

JFUNCYION RESULTS Ne75 »
JTEMP « PCé#(2aN) TEMPs #T7100A+«(2475) d
IPC » R5 PC 3 Ti20A .
ISP« TEMP SP 3 #T10DA+(2675) .
1RS ¢ (TEMP) R5 3 (#7100A¢(2a75)) *
ISP« TEMPs2 , SP 3 #7100A+(2#75)e2 g
0000 RRRRNBPRBRRRRROR NI B RRRRRB RV RRCERB R BB ERRERBBERBIRBRE PR RBERBRGRRRENY
Ti8BA: MOV SP,R@ JGET RESULTANT SP

CMP #2a75+T100A+2,SP JSP = ET100A+(267%5)+2?

BEQ R

HLY JERROR INCORRECT RESULTANT SP

CuC+t

MM+

ITEST THAT THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCYION FOR ALL VALUES OF N (8-77)

SCOPE

MOV #STYKPTR,SP JINITIALIZE THE STACK ROINTER
MOV #T101A,RS JLOAD RS

MARK 76 §MARK N=76

’..0....0.....0..".{..'..OQ.Q..I.'{O.'QQQQl..l.....l.l.D..‘.Q{"Q..”Q.Q

JFUNCTION RESULTS N=76 .
JTEMP « PCa(2aN) TEMPs #T101A#(2876) "
IPC « RS PC s Tig1A L
)Sp n TEMP SP 3 #T101A¢(2a76) »
IRS e (YEMP) R5 z (FYL0LAS(2476)) o
}Sp « TEMP+2 SP 2 #T101A#(2876)e2 .
'QQ.Q..!G.....0.....1."QIl0...6.'.!."!0"."..'0...QQI!..5&....'..9&.{.
TiA1As MOV SP,RO JGET RESULTANT SP

cMP #2876+T101A2,8P JSP = #YLP1A+(2876)+27

BEQ 4 .

HLY JERROR INCORREET RESULTANT SP

CsCey

MaM+t

JTESY THAY THE STACK POINTER CONTAINS THE PROPER VALUE AFTER THE MARK
JINSTRUCTION FOR ALL VALUES OF N (8-77)

SCoPE
MOV #STKPTR,SP JINITIALIZE THE STACK POINTER
MoV #T102A,R5 JLOAD RS

~



-

MAINDEC=11=DCKRD-B 11/45,11/48 MARK TEST
DCkBOB

7223720 4086477
793722 010600
203724 022706 04122
703730 ou¥i1421
293732 000020

non1a3

700100

A000a9
203734 oi0701
203736 0912706 Apas5eg
203742 712775 03p3759
703746 NP64P0
203752 @0dp240
2037%2 210500
203734 423705 0@3750@
093762 1401
203762 0B0RAR

00104

poggal
203764 10701
293766 012706 02@aB5090
Pa3772 012705 0p400Q
293776 006401

A

MACY11,62@ 21=NOV=72 17142 PAGE 3-28

MARK 77 {MARK N=z77
]QQOQQOI!Ql."l'!.'.'.'00QQQQQ!!“llﬁd’lﬁi..l..l’i'i!‘alOG&GIIQ.'Q..!G!'IO
JFUNCTION RESULTS N=77
JITEMP € PCx(2#N) TEMP= #T102A+(2477) .
1PC + RS PC s T102A .
ISP« TEMP SP 3 #7102A+(2e77) @
IRS  « (TEMP) RS 3 (#T402A+(2#77)) »
ISP ¢ TEMP42 SP = HTLP2A4(2477)+2 .
]Ql..'.i&..#diiloibﬁiﬁi.iﬁiﬁ.l.!i.il..i#.'!0!!..’#.0'0.50&!!GDOIOOQG'Q‘ii

Tid2A1 MOV SP,RO JIGET RESULTANT SP
CMP #2877+7102A+2,9P ISP = #T102A¢(2477)+217
BEQ |‘4
HLY JERROR INCORRECT RESULTANT SP
CsCey
MzMey

ME@

JTEST THAY RS 1S PROPERLY LOADED BY THE MARK INSTRUCTION FER ALL VALUES
JOF N (B=77)

SCOPE

MOV #STKPTR, SP JINITIALIZE THME STACK POINTER
MOV #T4LA3A,RS5 ILOAD RS

MARK ] IMARK N=zg

]'Q‘..QCG.G’..Oll.‘...Q.'O.lb...l.l.l.....OIQQ.O.G..I'.QQ‘QQG...CQO.'...O.

JFUNCTION RESULTS Ns=@

JTEMP « PCe(2#0) TEMP = #T1083A«(2s0) »
JPC & R5 PC 3 #¥TL03A .
ISP n TEMP SP 3 ¥T103Ax(200) .
)RS « (TEMP) RS 3 (#TL03A%(200) L]
)}SP * TEMP42 ] SP s #T4103A%(260)+2 ) ]
[P RN RN st RN R RN R AR RN RN RN RSN N O R R RN R BN R RGN A RN RN RO NRRNNRIRNNORN
T183A3 NQP

MOV R5,R® JIGET CONTENTS OF RS

CMP e#2a0eT103A,R5 JRS = (#T103A«(240))?

BEQ 4

HLY $1RS IMPROPERLY LOADED

CsC+t

M3Maey

JTEST THAT RS §S PROPERLY LOADED BY THE MARK INSTRUCTION FCR ALL VALUES
JOF N (B=77)

SCOPE

MOV #STKPTR, SP JINITIALIZE THE STACK POINTER
MOV #TLR4A,RS JLOAD RS

MARK 1 IMARK Nz

T T T s
JFUNCYION RESULTS N=y .
JTEMP & PCa(241) L
jPC » R5 .

TEMP & #T404Aw(201)
PC 3 HTL04A



MAINDEC-11-~DCKBD=B 11/45,11/48 MARK TEST
DCKBNB

204008 000240
2p4802 0919500
?p4gr4 023795 0p4002
704010 001401
204012 000R20

nPn1e5

nongaz2
794014 2in771
204016 012706 02p@S500
294022 0312795 03pP4030
Ap4g26 PRs4n2
204030 nPn240
204932 7105008
2p4p34 @23725 0p4034
04040 001401
?p4p42 000070

2008106

P20003
24044 010771
Pg4g46 12706 0p250P
2g4p%2 012705 0g4068
2p40%6 006403
Pp4pse 000240

MACY11,628 21-NOVe?2 17342 PAGE 3-29
ISP e TEMP SP s BAT104A«(2#1) 3
IR5 e (TEMP) RS = (HTL04A%(2#1) &
}Sp e TEMP+2 SP z #¥T104A+(2a1)+2 "
R I I Ty Yy Yy Yy Y Yy e Ty Ty YTy S YT T LY S
T104A3 NOP

Mov RS ,RQ JGEY CONTENTS OF RS

CMP @#241¢T174A,R5 jJR5 = (#T124A+(241))7

BEQ +4

HLY $RS IMPROPERLY LOADED

C=zCey

MaMey

JTEST THAT RS IS PROPERLY LOADED BY THE MARK INSTRUCTION FCR ALL VALUES
JOF N (B=77)

SCOPE

MoV #STKPTR,SP SINITIALIZE THWE STACK POINYTER
MoV #T405A,R5 JLOAD RS

MARK 2 IMARK N=2

‘.OQUGQCQI'COCQ.QOiIQ.Q.'IIQ'O'I..!&'.'lll‘&Qll.'i'.#'l.“l..‘li'lli.’."b

JFUNCTION RESULTS N=2 »
JTEMP » PCa(282) TEMP = #T105A+(242) »
1PC « R5 PC s #TL05A N
ISp o TEMP sP 3 #T105A+(242) *
1R5 « (TEMP) RS s (#T405A#+(2s2) L]
}sp &« TEMPe2 sp 3 ¥T1P5A#(2#2)e2 .
].l’Ql..lli..lQl....’...!...Q.i..i'l."i.Ql.lll..l‘iﬁlQQ‘QG!.!!.'Q...Q'O'
T185A; NOP

MQV RS,RA JGET CONTENTS OF RS

CMP QX282+ T1025A,RS JR5 3 (#T105A#(242))7

BEQ 4

HLY JIR5 IMPROPERLY LNADED

CaCet

MzMet
)JTEST THAT R5 1S PROPERLY LOADED BY TWE MARK INSTRUCTION FEGR ALL VALUES
JOF N (B-77)

SCOPE

MOV #STKPTR,SP JINITIALIZE THE STACK POINTER

MoV #T406A,R5 JLOAD R5

MARK 3 JMARK N=3

]".......i...l.QQ..l.ﬂ..i'l‘.ll.!.dll‘&lQl.’.i.}#l...#ﬁ‘QUQ..G'O'GIGI‘C‘

JFUNCTION RESULTS N23 .
JTEMP e PCe(243) TEMP = #T186A%(243) [
1PC + RS PC s #T106A .
jSp e TEMP sp 2 #T106Ae(2e3) .
IRS « (YEMP) R5 8 (H#T{06A+(243) ™
}1SP e TEMP@2 SP 3 #T106A(243)s+2 .
’....I.Q.'..'......Q.'*....Q.'.i..."."i.“'l..'#ﬁ"‘ﬂ'll'l...'.’..ﬁ&l'ﬂl

Ti@6As NOP

-



MAINDEC»11wDCKBDwB 11/45,41/40 MARK TEST

DCKBDB

fgdp62
Bg4064
Pa4p70
adp4072

204074
04076
fpdine
L LRY-1.

4110
@pd112
Agd114
704120
2p4y22

04124
204126
24132
204136

004140
204142
Ppdges
004150
Po4152

nie509
0237025
201401
neap28

p00127
200074

2104731
812726
832725
006404

p0e240
f40500
23725
201401
(X111

00110
280035

Aia7ay
842706
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